%J-"z %Ilj Shovel drill

BRI HERL S

Characteristics and advantages of shovel drilling

" ﬁ‘fﬁ Introduction

- PR DITE S SR SR LA, TEEiRehR, AERERENIRIRS.

- FEEERTIAAIT) A AR EE AR, TSR ZEMEEEEOR LR A EIEE, BNRBERAE, DHRATMNTT. mEYE
SIARRMA, ESPCRRRMNTIMmAE; DR RA#OSHFRSENIIERS SIS, ADORIHEREE, NasaE0a0. 7
FRANSGIRT, EENERNSRE.

- PEhEER, BIFEE, e, EEILESHEREEMItEER2MEMU L, FalkEEMTiRE3E. UNTEEAET
+0.057-0. 055, NI THEEalA25(E=2.

: Shovel drill is a kind of machine clip drill with replaceable blade, which can be flexibly changed according to diameter, processing depth and material.

- Shovel drill can be used in traditional machine tools and CNC machine tools, on-line replacement drill tip, convenient and efficient greatly improved.

+ Shovel drill is composed of knife bar and blade fixed with screws. The high-precision interface between the knife bar and blade can ensure the clamping accuracy of the
blade, and the blade is easy to replace. The knife bar is made of high-quality steel with good toughness and high wear resistance, and is processed by vacuum heat
treatment and tempering. The blade is made of imported high-end powder high speed steel and hard alloy. The cutting edge 1s designed with chip breaking groove, and the
tip has self-centering edge. The tool rod adopts internal cooling design, which can be connected to the internal cooling system of the machine tool.

+ Shovel drilling efficiency is high, the operation is simple, cost-effective, its comprehensive drilling efficiency is more than 275 times of ordinary twist drill, life
than ordinary twist drill 375 times. The tolerance of hole machining accuracy is in the range of +0.057-0.05. Machining depth up to 25 times diameter.

. ﬁtﬁ Advantages

- BREEN DR EO, BITEAUR ETESERT]E, TEI7ERE.

s IR EHARIMENRE, PIEENEN. SUNESTERMIFERAMEEILINT.

- JIAFRANSENELT, EEFLSARIEHNRER RS tIE AR LR RIS,

- PERRTLIET A, SeLGEEM @9 5™ @ 114mmpa s LK, DAHREANERNEWRIIERMARY, BAME, SEMREERS
12,

+ Simple and convenient blade interface, blade can be replaced online on the machine tool, saving grinding time.

- The blades are coated with different properties, which can cover drilling of various metal and non-metal materials such as stainless steel and structural steel.

- The knife rod adopts internal cooling design, which can discharge chips in time and cool well when drilling deep holes.

+ Shovel drill only 16 knife rod, can meet the drilling needs from ¢ 9.5mm ~ ¢ 114mm, knife rod handle type has two series of fixed straight handle and taper handle,
strong versatility, and convenient connection with a variety of machine tools.

EPEERDIRIE  Spade dril selection

FHERIAMTIFER, DHPORARSHR
it, —MDAAE SRS TR, BT
HRERA. JABHROMRSRNIHEOERS
EMARIBREEHNT DRERSEIZ2EE,

The shovel drill is composed of a cutter bar and a blade. The
center of the cutter bar is designed with internal cooling. A
cutter bar specification can be adapted to multiple
specifications of the blade, reducing the cost of the cutter
bar. Blade imported powder HSS and imported hard alloy two
series please choose the right type according to your
processing conditions.

EHAIER, BRI R S RINR T CNCEIAIER, ch{EEREEH| BRI RS E
For traditional machine tools, pleasechoose ﬂ)‘gj%?lj 4 %Eiﬁﬁuﬁjiﬁiﬁ}%ﬁﬁﬁéﬁ%ﬁun

powder high speed.steelseries. CNC machine tools, medium and low speed drilling please

choose powder high speedSteel series, please choose
carbide series when high-speed drilling.

Shovel drill




@

%-:Z %Ilj Shovel drill

7% Z AL

Instllation diagram

JIRBIEE  installation procedure

BHZEE®

FEABENm)

A,

Range of Diameter @  Tightening Torque (Nm)

@ 9.5-12.5 0.5 i
13.0-17.5 1.0 T8
18.0-24.5 1.8 T9

@ 25.0-35.5 3.5 T15
.- 36.0-65.0 5.0 T20
\D/ ! @ 66.0-114.0 70 T25

OREFEESEEDRTAE.
QFTFBATIHZRENERTIA .
CRZEEREIHEN R . BEANBFPHEFRBIERFNE, JENEENEFRTR.

(DFirst, clean the insert and mounting groove with compressed air.
@Load the insert into the mounting groove in the holder and slightly push theinsert.

@Fix the insert with the fastening bolt.it is recommended that users use a torquewrench as far as possible and the tightening torques are shown in the figure.

HEHRIFRECREE  Schematic diagram of oil ring assembly

BEENAF Drive rod

ETEIEE Fixed nut

HEHER 011 ring

$4[E Bead flange

#4iEISealed ring

B EGasket

S#ECooling nozzle

. SEIEA Cooling pipe

- -

48 | Shoveldrill

0@ o0

%j %llj Shovel drill

N Ira

Blade introduction

Chip breaker

- AFUEIE. BFHE
- Broken chips, easy to remove chips

EIEIRETL

Fix screw holes

- EROFHAER. BREHIEERIRER
- Safe and reliable clamping, Ensurethe stability during drilling

L.

Core drilling

+ ST S — Atk AR LU R 20% K Shrel PE 1
- RIFHBEDL

- Thinner core drilling, which reduce 20%
axialresistance compared with nomal drilling
products.

- Better self -centering

XREUETEE

XR chisel edge regninding

- RENOEE

- IESRIRE

« lmprove the strength of cutting edges
- Ncrease the stability

SEE

Chip dividing groove

- AVIERE

- BTHE

- RN IAE

- Educe cutting width

- Better chip removal

* Reduce drilling torque

Beveling

- IEIT IR

- WA RER
CEETREAER

- Increase the strength of insert
- Reduce the wear & tear of

outer diameter

- Improve the smoothness on

the surface of workpiece

EfE

Location graove

- RERBOTE
+ Ensure the accuracy of the
radial direction

ATEDE
TWO back flank surface

C S TS

- RIFBED

+ FHEShEIRE

- Reduce the friction with the
workpiece

* Better self-centering

- Reduce the axial resistance

w5 | shoveldril  @EEP



D

%ﬂz %Ilj Shovel drill

Ca vl

Spade drill insert

BISHEBMN  Model coding rule

SZ2—-M0250-15XH

a | ‘
l | 1|
K% BRI oy e smm REE MR @ BR
Bgtpe  Smaltpe _ XM 275 e hcuica eng = Inoest Material Geometry  Coating
Connector Metric Imperia Imperial diameter
S5k -7 ¥ 9.50~11.49 0.374" ~0.452" M- MD250-25mm | 10-$Ak S ‘x—ﬁ;ﬁgag; H-C500
z 11.50~12.97 | 0.453" ~0.511" I-za4]  10984-0.984" 15-SiidkEiRi V-IUmMAshL.  A-C300
0 12.98~17.85 | 0.511" ~0.703" 25T A R R
1 17.86~24.60 | 0.703" ~0.969" S0-EEEE
v, 24.61~35.5 | 0.969" ~1.398"
3 35.51~47.99 | 1.398" ~1.889"
4 48.00~65.00 | 1.89" ~2.559"
5 63.50~76.99 2.5" ~3.031"
6 77.00~89.09 | 3.031" ~3.507"
7 89.10~101. 60 3.508" ~4"
8 101.61~114.30 4" ~4.5"
45 | Shovel drill

%j %ll-'l_ Shovel drill

RIS

Spade drill insert

BISHEMRN  Model coding rule

SL%E@ | 032—-187N

v v Y Y y i
KHE phE EE o o NEE mEpR DWMER KE(LL) RELE
B 0| &R | ZEL Melicalad ) poice e | Theherde | Lengn () | S,
S-4rek L-J04F | H-4pE Y0 9.50~1.49  0.374" ~0.452" M- L-MEst  016-@16mm | SEERIK: R
S-EiE 70 11.50~12.97  0.453" ~0.511"  I-&fl @ M-EEHR | 020-020m  L1IFRT ik

00 12.98~15.49  0.511" ~0.61" 025-@25mm frig

05 15.50~17.85 = 0.61" ~0.703" 032-@32mm T-RIRE

10 17.86~21.99  0.703" ~0.866" 040- @ 40mm EB4E

15 22.00~24.60 0.866" ~0.969" 075-3/4" ghE

20 24.61~29.99 | 0.969" ~1.181" 063-5/8"

25 30.00~35.50 1.181" ~1.398" 125-1-1/4"

30 35.51~41.99 | 1.398" ~1.653" 150-1-1/2"

35 42.00~47.99  1.654" ~1.889" MT2-#2

40 48.00~55.99 | 1.89" ~2.204" MT3-#3

45 56.00~63.49 = 2.205" ~2.5" MT4-# 4

50 63.50~76.99 | 2.5" ~3.031" MT5-#5

60 77.00~89.09 | 3.031" ~3.507"

70 89.10~101.60  3.508" ~4"

80 101.61~114.30 4" ~4.5"

v | shovelaril  @ED



42

%ﬂz %Ilj Shovel drill

I ENES

HSS-PM insert series

HPM10 - ¥35RE RN, &R TIEEEHB275L FAIMAL -

Powder high speed steel, apply to process carbon steel with hardness is till Hb275;

SHIIKEERN, EHTEEHB3S0L RN, TN, Sk

HSS
PM ] HPC| HPM15 -

Powder cobalt high speed steel apply to process carbon steel, stainless steel, cast iron and other materials which hardness is ill Hb350;

HPM25 - SE¥IHRSEN, SR THEEHBI00LI T M. M. 5k,
Powder cobalt-rich high speed steel, apply to process alloy steel stainless steel, cast iron and other materials which hardness is i1l Hb400.
132.00°
|
O+ 0
gn  EE B2 Diameter BT AR Optional blade material
Connector  (Skness, | Freationl Equivalent inch HPM10 HPM15 \ HPM25
9.50 0.374 SZY-MD095-25XH
9.53 3/8" 0.375 SZY-10375-25XH
9.80 0.386 SZY-M0098-25XH
10.00 0.394 SZY-MD100-25XH
2.38 10.20 0.402 SZY-MD102-25XH
3/32" 10.50 0.413 SZY-M0105-25XH
10.72 27/64" 0.422 SZY-10421-25XH
10.80 0.425 SZY-MD108-25XH
11.00 0.433 SZY-M0110-25XH
11.11 7/16" 0.437 SZY-10437-25XH
11.50 0.453 SZZ-MD115-25XH
11.51 29/64" 0.453 $Z7-10453-25XH
y 2.38 12.00 0.472 SZZ-M0120-25XH
3/32" 12.30 31/64" 0.484 SZ7-10484-25XH
12.50 0. 492 SZ7-MD125-25XH
12.70 1/2" 0.500 SZZ-10500-25XH
13.00 0.512 SZ0-M0130-10XH SZ0-M0130-15XH SZ0-M0130-25XH
13.50 0.531 SZ0-MD135-10XH SZ0-M0135-15XH SZ0-MD135-25XH
§ 3.18 14.00 0.551 SZ0-MD140-10XH SZ0-M0140-15XH $Z0-M0140-25XH
1/8" 14.29 9/16" 0.563 SZ0-I0562-10XH SZ0-10562-15XH SZ0-10562-25XH
14.50 0.571 SZ0-M0145-10XH SZ0-M0145-15XH 570-M0145-25XH
15.00 0.591 SZ0-MD150-10XH SZ0-M0150-15XH SZ0-M0150-25XH
15.50 0.610 SZ0-MO155-10XH SZ0-M0155-15XH SZ0-M0155-25XH
15.88 5/8" 0.625 SZ0-I10625-10XH SZ0-10625-15XH 570-10625-25XH
478 16.00 0.630 SZ0-MD160-10XH SZ0-M0160-15XH SZ0-M0160-25XH
0 178" 16.50 0.650 SZ0-M0165-10XH SZ0-M0165-15XH SZ0-MD165-25XH
17.00 0.669 SZ0-M0170-10XH SZ0-M0170-15XH 5Z0-M0170-25XH
17.46 11/16" 0.687 SZ0-I0687-10XH SZ0-10687-15XH SZ0-I0687-25XH
17.50 0.689 SZ0-M0175-10XH SZ0-MO175-15XH SZ0-MD175-25XH
£ | Shovel drill

%j %I]_'I_ Shovel drill

HEWIBREERY / FLAS T FF

Taper shank spiral groove / straight groove Arbor

D1

L2

L1

RS %0 B G e
D1 Lol L2 It L MT G2
Code No Connector 2 RCA
SLHYQ-MMMT2-32N 32 52 88 160
SLSYO-MMMT2-32N 9.50~11.49 32 52 88 160
Y0 MT2 | 1/16"  SH-1905R M2x4 T7X35
SLHYO-MMMT2-60N 0.374"~0.452" 60 80 117 189
SLHYO-MMMT2-111N 111 131 167 240
SLHZO-MMMT2-32N 32 52 88 160
SLSZO-MMMT2-32N 11.50~12.97 32 52 88 160
0 MT2 | 1/16"  SH-1905R M2X4.8 T7X35
SLHZO-MMMT2-60N 0.453"~0.511" 60 80 117 189
SLHZO-MMMT2-111N 111 131 167 240
SLHOO-MMMT2-35N 35 56 92 164
SLSO0-MMMT2-35N 35 56 92 164
12.98~15.49
SLHOO-MMMT2-64N 64 84 121 193 MT2 | 1/16"  SH-1905R = M2.5X5.8 T8X40
0.511"~0.61"
SLHOO-MMMT2-114N 114 135 172 244
SLHOO-MMMT2-178N 178 199 235 307
SLHOS-MMMT2-35N 35 56 92 164
SLS05-MMMT2-35N 35 56 92 164
15.50~17.85
SLHOS-MMMT2-64N 05 64 84 121 193 MT2 | 1/16"  SH-1905R M2.5X7 T8X40
0.61"~0.703"
SLHOS-MMMT2-114N 114 135 172 244
SLHO5-MMMT2-178N 178 199 235 307
i SLH-9RAEHE SLS-E1E
s shovel drill @CED



44

, I'Efdzillj Shovel drill

WA )

HSS-PM insert series

HPM10 - ¥3RERiN, &R TIEEEHB275L FAIMeL -

HSS
PM ] HPC| HPM15 -

Powder high speed steel, apply to process carbon steel with hardness is till Hb275;

SHIIREERN, EHTEEHB3S0L FHR. TN, Sk

Powder cobalt high speed steel apply to process carbon steel, stainless steel, cast iron and other materials which hardness is ill Hb350;

ilj %l]-'l_ Shovel drill

HEWIBREERY / FLAG JJFF

Taper shank spiral groove / straight groove Arbor

D1

MT

L2

L1

HPM25 - SehfizRSRE, SR THEEHBI00LA FAIEN. 8680, H5Ek.
Powder cobalt-rich high speed steel, apply to process alloy steel stainless steel, cast iron and other materials which hardness is i1l Hb400.
132.00°
|
Q0
gn @ EE B2 Dameter T8 7) A a
Connector ( ) mm Freationl Equivalent inch HPM10 HPM15 HPM25

18.00 0.709 SZ1-M0180-10XH SZ1-M0180-15XH $Z1-MD180-25XH

18.50 0.728 $71-M0185-10XH SZ1-M0185-15XH 571-M0185-25XH

19.00 0.748 SZ1-M0190-10XH SZ1-M0190-15XH §Z1-M0190-25XH

19.05 3/4" 0.750 SZ1-10750-10XH SZ1-10750-15XH $Z1-10750-25XH

3.97 19.50 0.768 SZ1-M0195-10XH 571-M0195-15XH SZ1-M0195-25XH

5/32" 20.00 0.787 SZ1-M0200-10XH SZ1-M0200-15XH $Z1-MD200-25XH

20.50 0.807 SZ1-M0205-10XH SZ1-M0205-15XH §Z1-M0205-25XH

20.64 13/16" 0.813 SZ1-10812-10XH 571-10812-15XH $71-10812-25XH

21.00 0.827 SZ1-MD210-10XH SZ1-M0210-15XH SZ1-MD210-25XH

21.50 0.846 §Z1-M0215-10XH §Z1-M0215-15XH §Z1-M0215-25XH

22.00 0. 866 571-M0220-10XH SZ1-M0220-15XH 5Z1-M0220-25XH

22.23 7/8" 0.875 SZ1-10875-10XH SZ1-10875-15XH $Z1-10875-25XH

1 > 97; 23.00 0.906 SZ1-M0230-10XH SZ1-M0230-15XH $Z1-M0230-25XH

3/32 23.81 15/16" 0.937 571-10937-10XH §Z1-10937-15XH 5Z1-10937-25XH

24.00 0.945 SZ1-M0240-10XH SZ1-M0240-15XH SZ1-MD240-25XH

25.00 0.984 SZ2-MD250-10XH SZ2-M0250-15XH $Z2-M0250-25XH

25.40 1 1.000 572-11000-10XH §Z2-11000-15XH §Z2-11000-25XH

26.00 1.024 $Z2-M0260-10XH SZ2-M0260-15XH 572-M0260-25XH

4.76 26.99 1-1/16" 1.063 $72-11062-10XH $Z2-11062-15XH $72-11062-25XH

3/16" 27.00 1.063 §72-M0270-10XH SZ2-M0270-15XH §Z2-M0270-25XH

28.00 1.102 §Z2-M0280-10XH SZ2-M0280-15XH 572-M0280-25XH

28.58 1-1/8" 1.125 $Z2-11125-10XH SZ2-11125-15XH $Z2-11125-25XH

29.00 1.142 SZ2-M0290-10XH SZ2-M0290-15XH $Z2-M0290-25XH

30.00 1.181 $Z2-M0300-10XH SZ2-M0300-15XH 572-M0300-25XH

30.16 1-3/16" 1.187 S§Z2-11187-10XH SZ2-11187-15XH §22-11187-25XH

31.00 1.220 SZ2-M0D310-10XH SZ2-M0310-15XH $Z2-M0310-25XH

31.75 1-1/4" 1.250 §Z2-11250-10XH SZ2-11250-15XH 572-11250-25XH

A6 32.00 1.260 SZ2-M0320-10XH SZ2-M0320-15XH §22-M0320-25XH

3/16" 33.00 1.299 SZ2-MD330-10XH SZ2-M0330-15XH $Z2-M0330-25XH

33.34 1-5/16" 1.313 $72-11312-10XH §Z2-11312-15XH $Z2-11312-25XH

34.00 1.339 SZ2-MD340-10XH SZ2-M0340-15XH 522-M0340-25XH

34.13 1-11/32" 1.344 572-11343-10XH SZ2-11343-15XH $72-11343-25XH

34.93 1-3/8" 1.375 SZ2-11375-10XH SZ2-11375-15XH §Z2-11375-25XH

35.00 1.378 SZ2-MD350-10XH SZ2-M0350-15XH 522-M0350-25XH

£ | Shovel drill

D1 L1 L2 I L MT G2
Code No Connector - RCA
SLH10-MMMT3-70N 70 98 143 233
SLS10-MMMT3-70N 70 98 143 233
17.86~21.99
SLH10-MMMT3-121N 10 121 149 193 283 MT3 1/8" | SH-2540R M3X7 T9X40
0.703" ~0. 866"
SLH10-MMMT3-172N 172 200 244 334
SLH10-MMMT3-273N 273 302 346 436
SLH15-MMMT3-70N 70 98 143 233
SLS15-MMMT3-70N 70 98 143 233
22.00~24.60
SLH15-MMMT3-121N 15 ogse 0060 2 149 193 283 MT3 | 1/8"  SH-2540R M3X7 T9X40
SLH15-MMMT3-172N ‘ ' 172 200 244 334
SLH15-MMMT3-273N 273 302 346 436
SLH20-MMMT4-86N 36 114 160 274
SLS20-MMMT3-86N 86 114 160 274
24.61~29.99
SLH20-MMMT4-137N 20 137 165 211 325 MT4 | 1/8" | SH-2540R M4X10 T15%45
0.969"~1.181"
SLH20-MMMT4-187N 187 216 262 375
SLH20-MMMT4-289N 289 318 364 477
SLH25-MMMT4-86N 36 114 168 281
SLS25-MMMT3-86N 86 114 168 274
SLH25-MMMT4-137N 30.00~35.50 137 165 218 332
25 MT4 | 1/4" | SH-3175R M4X10 T15X45
SLH25-MMMT4-187N 1.181"~1.398" 187 216 269 383
SLH25-MMMT4-289N 289 318 371 434
SLH25-MMMT4-400N 400 429 482 595
7E: SLH-9ZhE#E SLS-B4Y
v | shoveldril @



46

%ﬂz %Ilj Shovel drill

I ENES

HSS-PM insert series

HPM10 - ¥35RE RN, &R TIEEEHB275L FAIMAL -

HSS

Powder high speed steel, apply to process carbon steel with hardness is till Hb275;

SHIIKEERN, EHTEEHB3S0L RN, TN, Sk

Powder cobalt high speed steel apply to process carbon steel, stainless steel, cast iron and other materials which hardness is ill Hb350;

HPM25 - St#faRmi®if, SR TIEEHBI00L FHIN. AWM. Hik.
Powder cobalt-rich high speed steel, apply to process alloy steel stainless steel, cast iron and other materials which hardness is i1l Hb400.
132.00°
|
Q0
Bn @ EE E& Dameter SRR o
Connector  Ckness, |y Frcationl Equivalent inch HPM10 | HPM15 HPM25

36.00 1.417 SZ3-M0360-10XH | SZ3-M0360-15XH 5Z3-M0360-25XH
36.51 1-7/16" 1.437 SZ3-11437-10XH | SZ3-11437-15XH 573-11437-25XH
37.00 1.457 SZ3-MD370-10XH SZ3-M0370-15XH $Z3-M0370-25XH
38.00 1.496 SZ3-M0380-10XH SZ3-M0380-15XH $Z3-M0380-25XH

6.35 38.10 1-1/2" 1.500 $Z3-11500-10XH SZ3-I1500-15XH 573-11500-25XH

1/4" 39.00 1:535 SZ3-M0390-10XH SZ3-M0390-15XH $Z3-MD390-25XH
39.69 1-9/16" 1.563 S73-11562-10XH SZ3-11562-15XH §Z3-11562-25XH
40.00 1.575 573-M0400-10XH 5Z3-MD400-15XH $Z3-MD400-25XH
41.00 1.614 SZ3-MD410-10XH SZ3-M0410-15XH $Z3-MD410-25XH
41.28 1-5/8" 1.625 S73-11625-10XH §Z3-11625-15XH §Z3-11625-25XH
42.00 1.654 S73-M0420-10XH SZ3-M0420-15XH 5Z3-M0420-25XH
42.86 1-11/16" 1.687 SZ3-11687-10XH SZ3-11687-15XH 573-11687-25XH
43.00 1.693 SZ3-MD430-10XH SZ3-M0430-15XH $Z3-MD430-25XH
44,00 1.732 S73-M0440-10XH SZ3-M0440-15XH 5Z3-M0440-25XH

6.35 44.45 1-3/4" 1.750 $Z3-11750-10XH SZ3-11750-15XH $Z3-11750-25XH

1/4" 45.00 1.772 SZ3-M0450-10XH SZ3-M0450-15XH $Z3-M0450-25XH
46.00 1.811 S73-M0460-10XH SZ3-M0460-15XH 5Z3-M0460-25XH
46.04 1-13/16" 1.813 §Z3-11812-10XH SZ3-11812-15XH 573-11812-25XH
47.00 1.850 SZ3-MD470-10XH | SZ3-M0470-15XH $Z3-MD470-25XH
47.63 1-7/8" 1.875 573-11875-10XH | 5Z3-11875-15XH 5Z3-11875-25XH

£ | Shovel drill

%j %ll-'l_ Shovel drill

HEWIBREERY / FLAS T FF

Taper shank spiral groove / straight groove Arbor

D1

L2

L1

]

C%ﬁlo Co%'leuctor I = = = L MT | G2 RCA % \
SLH30-MMMT4-121N 121 152 206 319
SLS30-MMMT4-121N 121 152 206 319
SLH30-MMMT4-165N 165 197 251 364
SLH30-MMMT4-210N 35.51~41.99 210 241 295 408
SLH30-MMMT4-340N O segens3r 349 381 435 548 MT4 | 14" | SH3ITSR o T2
SLS30-MMMT4-349N 349 381 435 548
SLS30-MMMT4-550N 559 501 645 757
SLS30-MMMT4-787N 787 819 873 986
SLH35-MMMT4-121N 121 152 206 319
SLS35-MMMT4-121N 121 152 206 319
SLH35-MMMT4-165N 165 197 251 364
SLH35-MMMT4-210N 42.00~47.99 210 241 295 408
SLH35-MMMT4-340N » 1.654"~1.899" 349 381 435 548 MT4 | LA SHILR e 1205
SLS35-MMMT4-340N 349 381 435 548
SLS35-MMMT4-550N 559 501 645 757
SLS35-MMMT4-787N 787 819 873 986
7 SLH-DRAEHE SLS-B#E

w5 | shoveldril  @ED



, I'Efdzillj Shovel drill

WA )

HSS-PM insert series

HPM10 - ¥3RERiN, &R TIEEEHB275L FAIMeL -

Powder high speed steel, apply to process carbon steel with hardness is till Hb275;

HSS

SHIIREERN, EHTEEHB3S0L FHR. TN, Sk

Powder cobalt high speed steel apply to process carbon steel, stainless steel, cast iron and other materials which hardness is ill Hb350;

HPM25 - SE¥IHRSEN, SR TIEEHBI00LI T MM, M. Bk,
Powder cobalt-rich high speed steel, apply to process alloy steel stainless steel, cast iron and other materials which hardness is i1l Hb400.
132.00°
Q4.0
gn EE B2 Dameter T8 7) A a
Connector ~ CKIess, mm Frcationl Equivalent inch HPM10 HPM15 HPM25

48.00 1.890 SZ4-MD480-10XH SZ4-1M0480-15XH SZ4-MD480-25XH

49.21 1-15/16" 1.937 S74-11937-10XH SZ4-11937-15XH $24-11937-25XH

50.00 1.969 SZ4-M0500-10XH SZ4-M0500-15XH $Z4-M0500-25XH

50.80 2" 2.000 574-12000-10XH SZ4-12000-15XH 5Z4-12000-25XH

51.00 2.008 SZ4-M0510-10XH SZ4-M0510-15XH $Z4-M0510-25XH

7.94 52.00 2.047 SZ4-M0520-10XH SZ4-M0520-15XH $Z4-M0520-25XH

5/16" 52.39 2-1/16" 2.063 574-12062-10XH 5Z4-12062-15XH 5Z4-12062-25XH

53.00 2.087 SZ4-MD530-10XH SZ4-M0530-15XH $Z4-MD530-25XH

53.98 2-1/8" 2.125 S74-12125-10XH SZ4-12125-15XH $24-12125-25XH

54.00 2.126 S74-M0540-10XH SZ4-M0540-15XH 5Z4-M0540-25XH

55.00 2.165 SZ4-M0550-10XH SZ4-M0550-15XH 574-M0550-25XH

55.56 2=3/16" 2.187 $74-12187-10XH SZ4-12187-15XH $24-12187-25XH

56.00 2.205 S574-M0560-10XH SZ4-M0560-15XH 5Z4-M0560-25XH

57.00 2.244 SZ4-M0570-10XH SZ4-M0570-15XH SZ4-M0570-25XH

57.15 2-1/4" 2.250 $74-12250-10XH SZ4-12250-15XH $24-12250-25XH

58.00 2.283 SZ4-M0580-10XH SZ4-M0580-15XH SZ4-M0580-25XH

58.74 2-5/16" 2.313 SZ4-12312-10XH SZ4-12312-15XH 574-12312-25XH

59.00 2.323 SZ4-MD590-10XH SZ4-M0590-15XH SZ4-MD590-25XH

60.00 2.362 SZ4-M0600-10XH SZ4-M0600-15XH SZ4-M0B600-25XH

7.94 60.33 2-3/8" 2.375 S74-12375-10XH SZ4-12375-15XH $Z4-12375-25XH

5/16" 61.00 2.402 SZ4-M0610-10XH SZ4-M0610-15XH 574-M0610-25XH

61.91 2=7/16" 2.437 S74-12437-10XH SZ4-12437-15XH $24-12437-25XH

62.00 2.441 SZ4-MD620-10XH SZ4-M0620-15XH SZ4-MD620-25XH

63.00 2.480 SZ4-M0630-10XH SZ4-M0630-15XH 5Z4-M0630-25XH

63.50 2-1/2" 2.500 SZ4-12500-10XH SZ4-12500-15XH 5Z4-12500-25XH

64.00 2.520 SZ4-MD640-10XH SZ4-M0640-15XH SZ4-MD640-25XH

65.00 2.559 SZ4-M0650-10XH SZ4-M0650-15XH SZ4-M0650-25XH

65.09 2-9/16" 2.563 SZ4-12562-10XH SZ4-12562-15XH 5Z4-12562-25XH

@ w# | shoveldril

ilj %l]-'l_ Shovel drill

HEWIBREERY / FLAS JJFF

Taper shank spiral groove / straight groove Arbor

D1

L2

L1

]

C%ﬁlo Co%'leuctor I kL = = L MT | G2 RCA % \
SLH40-MMMTS-130N 130 165 219 364
SLS40-MMMTS-130N 130 165 219 364
SLH40-MMMTS-232N 232 267 321 465
SLHA0-MMMT5-350N 48.00~55.99 350 385 439 583
SLHA0-MMMTS-422N 0 1.89"~2.204" 422 457 511 656 e | B | S o 1o
SLSA0-MMMTS-422N 422 457 511 656
SLS40-MMMT5-625N 625 660 714 859
SLS40-MMMTS-879N 879 914 %68 | 1113
SLH45-MMMT5-130N 130 165 219 364
SLS45-MMMTS-130N 130 165 219 364
SLH45-MMMT5-232N 232 267 3 465
SLH45-MMMT5-350N 56.00~65.19 350 385 439 583
SLH45-MMMTS-422N ® 2.205"~2.563" 422 457 511 656 | | e o 1o
SLS45-MMMTS-422N 422 457 511 656
SLS45-MMMT5-625N 625 660 714 859
SLS45-MMMTS-879N 879 914 %8 | 1113
7 SLH-RIEHE SLS-BE#E

v | shovelaril @D



@D

, I'Efdzillj Shovel drill

WA )

HSS-PM insert series

HPM10 - ¥3RERiN, &R TIEEEHB275L FAIMeL -

Powder high speed steel, apply to process carbon steel with hardness is till Hb275;

SHIIREERN, EHTEEHB3S0L FHR. TN, Sk

Powder cobalt high speed steel apply to process carbon steel, stainless steel, cast iron and other materials which hardness is ill Hb350;

HSS

HPM25 - SE¥IHRSEN, SR TIEEHBI00LI T MM, M. Bk,
Powder cobalt-rich high speed steel, apply to process alloy steel stainless steel, cast iron and other materials which hardness is i1l Hb400.
144.00°
|
O+ 0
gn | EE CEg— | AT AHE optona -
Connector (,,;ﬂg;,gg,?) mm Freationl Equivalent inch HPM10 HPM15 HPM25

63.50 =12 2.500 §75-12500-10XH SZ5-12500-15XH
64.00 2.520 SZ5-M0640-10XH SZ5-M0640-15XH
65.00 2.558 SZ5-M0650-10XH SZ5-M0650-15XH
65.09 2-9/16" 2.563 575-12562-10XH SZ5-12562-15XH
66.00 2.598 SZ5-M0660-10XH SZ5-M0660-15XH
66. 68 2-5/8" 2.625 SZ5-12625-10XH SZ5-12625-15XH
68. 00 2.677 575-M0680-10XH SZ5-M0680-15XH

11.11 70.00 2.756 $Z5-M0700-10XH SZ5-M0700-15XH

7/16" 71.44 2-13/16" 2.813 S75-12812-10XH SZ5-12812-15XH
72.00 2.835 SZ5-M0720-10XH SZ5-M0720-15XH
73.03 2-7/8" 2.875 §Z5-12875-10XH SZ5-12875-15XH
74.00 2.913 SZ5-MD740-10XH SZ5-M0740-15XH
74.61 2-15/16" 2.937 SZ5-12937-10XH SZ5-12937-15XH
76.00 2.992 $Z5-M0760-10XH SZ5-M0760-15XH
76.20 3F 3.000 SZ5-13000-10XH SZ5-13000-15XH
76.99 3-1/32" 3.031 $75-13031-10XH $Z5-13031-15XH
77.00 3.031 SZ6-M0770-10XH SZ6-M0770-15XH
77.79 3-1/16" 3.063 SZ6-13062-10XH SZ6-13062-15XH
78.00 3.071 SZ6-M0780-10XH SZ6-M0780-15XH
79.38 3-1/8" 3.125 SZ6-13125-10XH 576-13125-15XH
80.00 3.150 SZ6-M0800-10XH SZ6-M0800-15XH
80.96 3-3/16" 3.187 SZ6-13187-10XH SZ6-13187-15XH
82.00 3.228 SZ6-M0820-10XH 576-M0820-15XH

11.11 82.55 3-1/4" 3.250 SZ6-13250-10XH SZ6-13250-15XH

7/16" 84.00 3.307 SZ6-M0840-10XH SZ6-M0840-15XH
84.14 3-5/16" 3.313 SZ6-13312-10XH 576-13312-15XH
85.73 3-3/8" 3.375 SZ6-13375-10XH SZ6-13375-15XH
86.00 3.386 SZ6-M0860-10XH SZ6-M0860-15XH
87.31 3-7/16" 3.437 576-13437-10XH SZ6-13437-15XH
88.00 3.465 SZ6-M0880-10XH SZ6-M0880-15XH
88.90 3-1/2" 3.500 SZ6-13500-10XH SZ6-13500-15XH
89.00 3.504 5Z6-M0890-10XH SZ6-M0890-15XH

£ | Shovel drill

ilj %l]-'l_ Shovel drill

HEWIBREERY / FLAG JJFF

Taper shank spiral groove / straight groove Arbor

D1

L2

L1

J]
C%e%l\lo Co%'leuctor I kL = = L it G2 RCA % \Q
SLH50-MMMT5-172N 172 216 287 430
SLS50-MMMT5-172N 172 216 287 430
SLH50-MMMT5-273N 273 318 389 532
SLS50-MMMT5-368N 63.50~76.99 368 413 484 627
50 MT5 1/2"  SH-5715R M6X19 T25X100
SLH50-MMMT5-464N 2.5"~3.031" 464 508 579 722
SLS50-MMMT5-464N 464 508 579 722
SLS50-MMMT5-660N 660 705 776 919
SLS50-MMMT5-889N 889 933 1005 | 1148
SLH55-MMMT5-172N 172 216 287 430
SLS55-MMMT5-172N 172 216 287 430
SLHS5-MMMT5-273N 273 318 389 532
77.00~89.09
SLH55-MMMT5-464N 55 . . 464 508 579 722 MT5 1/2*  SH-5715R M6X19 T25X100
SLS55-MMMT5-464N & e 464 508 579 722
SLS55-MMMT5-660N 660 705 776 919
SLS55-MMMT5-889N 889 933 1005 | 1148
FE: SLH-BpERE  SLS-EfE

v | shoveldril @D



%F%Ilj Shovel drill

B )

HSS-PM insert series

HPM10 - ¥3RERiN, &R TIEEEHB275L FAIMeL -

HSS
B[

Powder high speed steel, apply to process carbon steel with hardness is till Hb275;

HPM15 - SHEIRSEN, SATEEHB50LI TN, ER. %Hi%;

Powder cobalt high speed steel apply to process carbon steel, stainless steel, cast iron and other materials which hardness is ill Hb350;

HPM25 - SE¥AREERN, (SF THERZHBA00LI TR, W, Bk,

Powder cobalt-rich high speed steel, apply to process alloy steel stainless steel, cast iron and other materials which hardness is i1l Hb400.

144.00°

gn | EE Hf& Diameter : :
Connector ~ CKIess, mm Frcationl Equivalent inch HPM10 HPM15 HPM25
89. 96 3-17/32" 3.542 SZ7-13531-10XH SZ7-13531-15XH
90.00 3.543 SZ7-M0900-10XH SZ7-M0900-15XH
90.49 3-9/16" 3.563 SZ7-13562-10XH SZ7-13562-15XH
92.00 3.622 SZ7-M0920-10XH SZ7-M0920-15XH
92.08 3-5/8" 3.625 SZ7-13625-10XH SZ7-13625-15XH
93.66 3-11/16" 3.687 SZ7-13687-10XH SZ7-13687-15XH
94.00 3.701 SZ7-M0940-10XH SZ7-M0940-15XH
= 1:.': 95.25 3-3/4" 3.750 SZ7-13750-10XH SZ7-13750-15XH
7716 96.00 3.780 SZ7-M0960-10XH SZ7-M0960-15XH
96.84 3-13/16" 3.813 SZ7-13812-10XH SZ7-13812-15XH
98.00 3.858 SZ7-M0980-10XH SZ7-M0980-15XH
98.43 3-7/8" 3.875 SZ7-13875-10XH SZ7-13875-15XH
100.00 3.937 SZ7-M1000-10XH SZ7-M1000-15XH
100.01 3-15/16" 3.937 SZ7-13937-10XH SZ7-13937-15XH
101.60 4" 4.000 SZ7-14000-10XH SZ7-14000-15XH
102.00 4.016 SZ8-M1020-10XH SZ8-M1020-15XH
104.00 4.094 S78-M1040-10XH SZ8-M1040-15XH
104.78 4-1/8" 4.125 578-I4125-10XH SZ8-14125-15XH
106.00 4.173 SZ8-M1060-10XH $Z8-M1060-15XH
11.11 107.95 4-1/4" 4.250 §Z8-14250-10XH SZ8-14250-15XH
Ti16” 108.00 4.252 S78-M1080-10XH SZ8-M1080-15XH
110.00 4.331 SZ8-M1100-10XH SZ8-M1100-15XH
112.00 4.409 SZ8-M1120-10XH SZ8-M1120-15XH
114.00 4.488 SZ8-M1140-10XH SZ8-M1140-15XH
114.30 4-1/2" 4.500 S78-I4500-10XH SZ8-14500-15XH

@ w# | shoveldril

%F%ﬁ Shovel drill

HEWIBREERY / FLAG JJFF

Taper shank spiral groove / straight groove Arbor

D1

L2

L1

]
2= | B b 11 | 2 | L3 | L | MT . @ e
SLH70-MMMT5-172N 172 225 297 440
SLS70-MMMT5-172N 172 225 297 440
SLH70-MMMT5-273N 273 327 399 541
89.10~101.60
SLH70-MMMT5-556N o 556 610 681 824 MTS SH-5715R M6X19 T25X100
SLS70-MMMT5-556N 350874 556 610 681 824
SLS70-MMMT5-685N 685 740 811 954
SLS70-MMMT5-939N 939 994 1065 1208
SLH8O-MMMT5-172N 172 225 297 440
SLS80-MMMT5-172N 172 225 297 440
SLH8O0-MMMT5-273N 273 327 399 541
101.61~114.30
SLHBO0-MMMT5-556N 80 A¥ ol B 556 610 681 824 MT5 SH-5715R M6X19 T25X100
SLS80-MMMT5-556N 556 610 681 824
SLS80-MMMT5-685N 685 740 811 954
SLS80-MMMT5-939N 939 994 1065 1208
7E: SLH-4RAEHE SLS-EfE

v | shoveldril @B



» §7 54 » §7 840
Shovel drill Shovel drill
W »
v (=]
B A v W ) 0] 51 R e A 7 RS D FF
HSS-PM insert series Side fixed handle spiral groove / straight groove cutter bar
L
9 —_ % Lz
HPM10 - 3R =RM, &R TEEHB27S LI TR - o
HSS Powder high speed steel, apply to process carbon steel with hardness is till Hb275;
pi | | HPC| HPMI5 - SEffaRER, SR THEEHBS0LI TR, 5. #ik, o 1
Powder cobalt high speed steel apply to process carbon steel, stainless steel, cast iron and other materials which hardness is ill Hb350; . — = 1V _(i’_* S i o
HPM25 - SHFRERN, B TIEEHBIOLI FHIHN. BN, Hik. 9 [—
Powder cobalt-rich high speed steel, apply to process alloy steel stainless steel, cast iron and other materials which hardness is i1l Hb400.
1 L1
" ) La
132.00
L
L L
‘ o ! [}
oy [ (= i
| i L1 | = L1
r—h E L C 3 - L
BE &0
" D1 L1 L2 L3 L D2 L4 G1 G2
Frcationl Equivalent inch HPM25 Code No Connector
9.50 0.374 SZY-MO095-25XH
9.53 3/8" 0.375 SZY-10375-25%H SLSY0-MLO16-19N 19 48 50 96 16 48 1/16"
9. 80 0.386 SZY-M0098-25XH SLSY0-MLO20-32N 32 61 64 111 20 50 | 1/8"
10.00 0.394 SZY-M0O100-25XH
2.38 | T SLHY0-MLO20-60N 9.50~11.49 60 a0 92 140 20 50 1/8"
Y 10.20 0.402 SZY-M0102-25XH Yo /8" o 7535
3/32" 10.50 0.413 SZY-MD105-25XH SLHY0-MLO20-111N 0.374"~0.452" | 111 141 143 191 20 50 1/8"
10.72 27/64" 0.422 SZY-10421-25XH =
10.80 0425 $7Y-MO108-25KH SLSY0-MLO20-222N 222 252 254 302 20 50 1/8
11.00 0.433 SZY-M0O110-25XH SLSY0-MLO20-290N 290 320 322 370 20 50 1/8"
11.11 7/16" 0.437 SZY-10437-25%H
11.50 0453 SZZ-MOLL5-25KH SLSZ0-MLO16-19N 19 48 50 96 16 48 1/16"
M3l 29/64" 0.453 SZZ-10453-25KH SLSZ0-MLO20-32N 2 61 64 111 20 50 | 1/8"
2.38 12.00 0.472 SZZ-M0120-25XH SLHZ0-MLO20-60N 11.50~12.97 60 90 92 140 20 50 1/8"
z 20 1/8" M2X4.8 T7X35
3/32" 12.30 31/64" 0.484 $77-10484-25XH SLHZ0-MLO20-111N 0.453"~0.511" 111 141 143 191 20 50 1/8"
12.50 0.492 577-M0125-25XH SLSZ0-MLO20-222N 222 252 254 302 20 50 1/8"
SLSZ0-MLO20-290N 290 320 322 370 20 50 1/8"
12.70 1/2" 0.500 $ZZ-10500-25XH
13.00 0.512 SZ0-M0130-10XH $Z0-M0130-15XH $Z0-M0130-25XH SLS00-ML020-22N 22 48 50 98
- - 35 64 66 114
13.50 0.531 $Z0-M0135-10XH SZ0-M0135-15XH $Z0-M0135-25%H BES00-MLI- 33
SLHO0-MLO20-64N 64 92 95 142
3.18 14.00 0.551 SZ0-M0140-10XH SZ0-M0140-15XH $Z0-M0140-25XH SLHOO-MLO20-114N 12.98~15.49 114 143 146 193
0 . 0o y k 20 50 1/8" 1/8" | M2.5X5.8 T8X40
1/8 14.29 9/16" 0.563 5Z0-10562-10XH SZ0-10562-15%H $70-10562-25XH SLHOO-MLO20-178N 0.511"~0.61 178 | 206 209 256
14.50 0.571 SZ0D-M0145-10XH SZ0-MD145-15XH $Z0-M0145-25XH i s s e - Ha
. : SLS00-MLO20-295N 295 324 327 374
15.00 0.591 SZ0-MO150-10XH SZ0-MO150-15XH $Z0-M0150-25XH SLS00-MLO20-387N 387 416 419 466
15.50 0.610 SZ0-M0155-10XH SZ0-M0155-15XH $Z0-M0155-25%H SLS05-ML020-22N
= 22 48 50 98
15.88 5/8" 0.625 5Z0-10625-10XH 570-10625-15XH 570-10625-25XH SLS05-MLO20-35N - & 48 iid
16.00 0.630 SZ0D-MO160-10XH SZ0-M0160-15XH $Z0-M0160-25XH SEHg-HEZe ol 64 92 95 142
3.18 SLHO5-ML0O20-114N 15.50~17.85 114 143 146 193
0 16.50 0.650 SZ0-M0165-10XH SZ0-MD165-15XH $Z0-M0O165-25XH 05 20 50 1/8" 1/8" M2.5X7 T8X40
1/8" SLHO5-MLO20-178N 0.61~0.703 178 206 209 256
17.00 0.669 SZ0-M0170-10XH SZ0-MD170-15XH SZ0-M0O170-25XH SLS05-MLO20-240N 240 268 271 318
" 295 324 327 374
17.46 11/16 0.687 SZD-10687-10XH SZ0-10687-15XH $Z0-10687-25XH SLS05-MLO20-295N
387 416 419 466
17.50 0.689 SZ0D-M0175-10XH SZ0-M0175-15XH $Z0-M0175-25XH SLS05-MLO20-387N
s SLH-9ZAEHE  SLS-[E4E
@ w# | shoveldril v | shoveldril @D




56

%FZ %Ilj Shovel drill

B )Y

HSS-PM insert series

HPM10 - ¥35RE RN, &R TIEEEHB275L FAIMAL -

HSS
PM ] HPC| HPM15 -

Powder high speed steel, apply to process carbon steel with hardness is till Hb275;

SHIIKEERN, EHTEEHB3S0L RN, TN, Sk

Powder cobalt high speed steel apply to process carbon steel, stainless steel, cast iron and other materials which hardness is ill Hb350;

%FZ %5 Shovel drill

D00 51 O BRBERS / PR JTHF

Side fixed handle spiral groove / straight groove cutter bar

L

L2

HPM25 - SHEFIREEN, SR TIEEHBA0OL T M. B, Hik.
Powder cobalt-rich high speed steel, apply to process alloy steel stainless steel, cast iron and other materials which hardness is i1l Hb400.
132.00°
O+ 0
gon @ EE B o 3 IR Opionalbla
Connector ( ) mm Frcationl Equivalent inch HPM10 HPM15 ‘ HPM25

18.00 0.709 S71-M0180-10XH §Z1-M0180-15XH | 571-M0180-25XH
18.50 0.728 S71-M0185-10XH S71-MD185-15XH | 571-M0185-25XH
19.00 0.748 §71-M0190-10XH §Z1-M0190-15XH 571-M0190-25XH
19.05 3/4" 0.750 §71-10750-10XH §Z1-10750-15XH S5Z1-10750-25XH
19.50 0.768 SZ1-M0195-10XH $Z1-M0195-15XH | $Z1-M0195-25XH

3.97 20.00 0.787 SZ1-M0200-10XH $Z1-M0200-15XH | $Z1-M0200-25XH

5/32" 20.50 0. 807 SZ1-M0205-10XH SZ1-M0205-15XH i $Z1-M0205-25XH
20.64 13/16" 0.813 S$Z1-10812-10XH $Z1-10812-15XH | $Z1-10812-25XH
21.00 0.827 SZ1-M0210-10XH $Z1-M0210-15XH | $Z1-M0210-25XH
21.50 0. 846 SZ1-M0215-10XH $Z1-M0215-15XH | $Z1-M0215-25XH
22.00 0. 866 S71-M0220-10XH SZ1-M0220-15XH | 571-M0220-25XH
22.23 7/8" 0.875 SZ1-10875-10XH $Z1-10875-15XH $Z1-10875-25XH
23.00 0.906 S71-M0230-10XH SZ1-M0230-15XH ‘ 571-M0230-25XH

3.97 |

1 i 23.81 15/16" 0.937 SZ1-10937-10XH $Z1-10937-15XH ‘ $Z1-10937-25XH

24.00 0.945 S71-M0240-10XH SZ1-M0240-15XH ‘ S571-M0240-25XH
25.00 0.984 SZ2-M0250-10XH SZ2-M0250-15XH ‘ $Z2-M0250-25XH
25.40 i 1.000 §72-11000-10XH §Z2-11000-15XH ‘ 572-11000-25XH
26.00 1.024 SZ2-M0260-10XH $Z2-M0260-15XH ‘ SZ2-M0260-25XH

4.76

3/16" 26.99 1-1/16" 1.063 S§72-11062-10XH §Z2-11062-15XH ‘ 572-11062-25XH
27.00 1.063 SZ2-M0270-10XH SZ2-M0270-15XH ‘ $Z2-M0270-25XH
28.00 1.102 S72-M0280-10XH SZ2-M0280-15XH ‘ 572-M0280-25XH
28.58 1-1/8" 1.125 §72-I1125-10XH §Z2-11125-15XH ‘ 572-11125-25XH
29.00 1.142 SZ2-M0290-10XH SZ2-M0290-15XH ‘ $Z2-M0290-25XH
30.00 1.181 SZ2-M0300-10XH SZ2-M0300-15XH $Z2-M0300-25XH
30.16 1-3/16" 1.187 §72-11187-10XH §Z2-11187-15XH 572-11187-25XH
31.00 1.220 SZ2-M0310-10XH SZ2-M0310-15XH | 572-M0310-25XH

4.76 31.75 1-1/4" 1.250 §Z2-11250-10XH $Z2-11250-15XH [ $Z2-11250-25XH

3/16" 32.00 1.260 SZ2-M0320-10XH SZ2-M0320-15XH | $Z2-M0320-25XH
33.00 1.299 SZ2-M0330-10XH SZ2-M0330-15XH | 572-M0330-25XH
33.34 1-5/16" 1.313 SZ2-11312-10XH $Z2-11312-15XH $Z2-11312-25XH
34.00 1.339 S$72-M0340-10XH $Z2-M0340-15XH 5Z2-M0340-25XH
34.13 1-11/32" 1.344 SZ2-11343-10XH SZ2-11343-15XH [ $22-11343-25XH
34,93 1-3/8" 1.375 SZ2-11375-10XH $Z2-11375-15XH | S572-11375-25XH
35.00 1.378 SZ2-M0350-10XH SZ2-M0350-15XH | $Z2-M0350-25XH

£ | Shovel drill

o e !
A AR — - — - ——- e — A — i
| DR
| L1
La
L L
L i5
o 1 KﬁF
1 e ™ 49 \ Y|
| |
| i L1 ! - L1
L3 rei L4 L3 i B L4
D1 L1 L2 L L D2 L4 1l 2
Code No Connector 3 G G
SLS10-MLO25-48N 48 76 79 132
SLS10-MLO25-67N 67 107 111 163
SLH10-MLO25-118N 118 155 158 211
SLH10-MLO25-168N s s e | B 206 209 262
SLH10-ML025-222N 10 222 260 263 316 25 56 /8" | 1/8" M3X7 ToX40
SLH10-MLO25-270N e 307 311 363
5SLS10-MLO25-365N 365 402 406 458
SLS10-MLO25-457N 457 495 498 551
SLS10-MLO25-569N 569 603 606 659
SLS15-MLO25-48N 48 76 79 132
SLS15-MLO25-67N 67 107 111 163
SLH15-ML025-118N 118 155 158 211
SLH15-ML025-168N 22.00~24.60 @ 168 206 209 262
SLH15-ML025-222N 15 i > 260 263 316 25 56 1/8" | 1/8" M3X7 Tox40
SLH15-ML025-270N 0.866"~0.969" | 770 307 311 363
SLS15-MLO25-365N 365 402 406 458
SLS15-MLO25-457N 457 495 498 551
SLS15-MLO25-569N 569 603 606 659
SLS20-MLO32-57N 57 89 92 149
5LS20-MLO32-86N 86 129 132 189
SLH20-ML032-137N 137 179 183 239
SLH20-ML032-187N bR | 230 234 290
SLH20-ML032-237N 20 237 280 284 340 32 60 /4" | 1/8" M4X10 T15X45
SLH20-ML032-289N GMe=L 289 332 335 392
SLS20-MLO32-400N 400 443 446 503
5SLS20-MLO32-511N 511 554 558 618
SLS20-MLO32-492N 692 735 739 795
5LS25-ML032-57N 57 89 92 149
SLS25-ML032-86N 86 129 132 189
SLH25-ML032-137N 137 179 183 239
SLH25-ML032-187N 187 230 234 290
30.00~35.50
SLH20-ML032-237N 25 237 280 284 340 32 60 1/4" | 1/8" M4X10 T15X45
1.181"~1.398"
SLH25-ML032-289N 289 332 335 392
SLS25-ML032-400N 400 443 446 503
SLS25-MLO32-511N 511 554 558 618
SLS25-ML032-492N 692 735 739 795
i SLH-9ZhEHE SLS-BHY
v | shoveldril  @EEP



58

%F%Ilj Shovel drill

WA )

HSS-PM insert series

HPM10 - ¥35RE RN, &R TIEEEHB275L FAIMAL -

HSS

Powder high speed steel, apply to process carbon steel with hardness is till Hb275;

SHIIKEERN, EHTEEHB3S0L RN, TN, Sk

Powder cobalt high speed steel apply to process carbon steel, stainless steel, cast iron and other materials which hardness is ill Hb350;

%F%llj Shovel drill

D00 51 O BRBERS / PR JTHF

Side fixed handle spiral groove / straight groove cutter bar

L

L2

HPM25 - St#faRmi®if, SR TIEEHBI00L FHIN. AWM. Hik.
Powder cobalt-rich high speed steel, apply to process alloy steel stainless steel, cast iron and other materials which hardness is i1l Hb400.
132.00°
|
Q0
g0 EE B Diameter wiET) R
Connector ~ CKIess, mm Freationl Equivalent inch HPM10 HPM15 HPM25

36.00 1.417 SZ3-M0360-10XH SZ3-M0360-15XH 5Z3-M0360-25XH
36.51 1-7/16" 1.437 SZ3-11437-10XH SZ3-11437-15XH 573-11437-25XH
37.00 1.457 SZ3-MD370-10XH SZ3-M0370-15XH $Z3-M0370-25XH
38.00 1.496 SZ3-M0D380-10XH SZ3-M0380-15XH $Z3-M0380-25XH

6.35 38.10 1-1/2* 1.500 $Z3-I11500-10XH SZ3-I1500-15XH 573-11500-25XH

1/4" 39.00 1535 SZ3-M0390-10XH SZ3-M0390-15XH $Z3-MD390-25XH
39.69 1-9/16" 1.563 §Z3-11562-10XH §Z3-11562-15XH §Z3-11562-25XH
40.00 1.575 SZ3-MD400-10XH SZ3-M0400-15XH $Z3-MD400-25XH
41.00 1.614 SZ3-MD410-10XH SZ3-M0410-15XH $Z3-MD410-25XH
41.28 1-5/8" 1.625 §Z3-11625-10XH §Z3-11625-15XH §Z3-11625-25XH
42.00 1.654 S73-M0420-10XH SZ3-M0420-15XH 5Z3-M0420-25XH
42.86 1-11/16" 1.687 SZ3-11687-10XH SZ3-11687-15XH $Z3-11687-25XH
43.00 1.693 SZ3-MD430-10XH SZ3-M0430-15XH $Z3-MD430-25XH
44,00 1.732 S73-M0440-10XH SZ3-M0440-15XH 5Z3-M0440-25XH

6.35 44.45 1-3/4" 1.750 $Z3-11750-10XH SZ3-11750-15XH $Z3-11750-25XH

1/4" 45.00 1.772 SZ3-M0450-10XH SZ3-M0450-15XH $Z3-MD450-25XH
46.00 1.811 S73-M0460-10XH SZ3-M0460-15XH 5Z3-M0460-25XH
46.04 1-13/16" 1.813 §Z3-11812-10XH SZ3-11812-15XH 573-11812-25XH
47.00 1.850 SZ3-MD470-10XH SZ3-M0470-15XH $Z3-MD470-25XH
47.63 1-7/8" 1.875 573-11875-10XH 5Z3-11875-15XH 5Z3-11875-25XH

£ | Shovel drill

o e !
o [ ¢ R o g — —Ir—s
| DR
| L1
La
L L
L i5
o 1 KﬁF
N S BENE N[
| |
| i L1 ! - L1 !
L3 rei L4 L3 i B L4
ot Coraador D1 L1 L2 L3 L D2 L4 G1 G2
SLS30-MLO40-76N 76 125 130 195
SLS30-MLO40-121N 121 173 | 178 243
SLH30-MLO40-165N 165 | 218 | 222 288
SLH30-MLO40-210N 210 | 262 | 267 | 332
35.51~41.99
SLH30-MLO40-260N 30 Laogoq sy 20 32| 37 w2 40 70 /4" | 1/4" M5X14 T20X45
SLH30-MLO40-349N ' ' 349 | 402 | 406 472
SL$30-MLO40-349N 349 | 402 | 406 | 472
SL530-MLO40-559N 559 | 611 | 616 | 681
SLS30-ML040-787N 787 | 840 | 845 | 910
SLS35-MLO40-76N 76 125 | 130 195
SLS35-ML040-121N 121 173 178 243
SLH35-ML040-165N 165 | 218 | 222 288
SLH35-MLO40-210N 210 | 262 | 267 | 332
42.00~47.99
SLH35-ML040-260N 35 260 | 312 | 317 | 382 40 70 /4" | 1/4" M5X14 T20X45
1.654"~1.899"
SLH35-MLO40-349N 349 | 402 | 406 | 472
SL.$35-MLO40-349N 349 | 402 | 406 | 472
5L.535-ML040-559N 550 | 611 | 616 | 681
5L535-ML040-787N 787 | 840 | 845 | 910
7 SLH-9BhEE  SLS-EiE
v | shoveldril @



D

%F%Ilj Shovel drill

WA )

HSS-PM insert series

HPM10 - ¥35RE RN, &R TIEEEHB275L FAIMAL -

HSS Powder high speed steel, apply to process carbon steel with hardness is till Hb275;
HPM15 - S56IpREER, SEATEREHBIS0L FMMN. TEN. &k

Powder cobalt high speed steel apply to process carbon steel, stainless steel, cast iron and other materials which hardness is ill Hb350;

HPM25 - SE¥AREERN, S THERIHBA00LI TR, W, Bk,

Powder cobalt-rich high speed steel, apply to process alloy steel stainless steel, cast iron and other materials which hardness is i1l Hb400.

132.00°

go @ EE Hf% Diameter A%
Connector ~ CKIess, mm Frcationl Equivalent inch HPM10 HPM15 HPM25
48.00 1.890 SZ4-M0480-10XH SZ4-M0480-15XH SZ4-M0480-25XH
49,21 1-15/16" 1.937 SZ4-11937-10XH $Z4-11937-15XH SZ4-11937-25XH
50.00 1.969 SZ4-M0500-10XH SZ4-M0500-15XH 524-M0500-25XH
50.80 V g 2.000 SZ4-12000-10XH SZ4-12000-15XH 5Z4-12000-25XH
51.00 2.008 SZ4-M0510-10XH SZ4-M0510-15XH SZ4-M0510-25XH
7.94 52.00 2.047 SZ4-M0520-10XH SZ4-M0520-15XH 524-M0520-25XH
5/16" 5230 2-1/16" 2.063 SZ4-12062-10XH SZ4-12062-15XH 574-12062-25XH
53.00 2.087 SZ4-M0530-10XH SZ4-M0530-15XH SZ4-M0530-25XH
53.98 2-1/8" 2.125 SZ4-12125-10XH $Z4-12125-15XH SZ4-12125-25XH
54.00 2.126 SZ4-M0540-10XH SZ4-M0540-15XH 5Z4-M0540-25XH
55.00 2.165 SZ4-M0550-10XH SZ4-M0550-15XH S5Z4-M0550-25XH
55.56 2-3/16" 2.187 SZ4-12187-10XH $Z4-12187-15XH $Z4-12187-25XH
56.00 2.205 SZ4-M0560-10XH SZ4-M0560-15XH 5Z4-M0560-25XH
57.00 2.244 SZ4-M0570-10XH SZ4-M0570-15XH 5Z4-M0570-25XH
57.15 2-1/4" 2.250 SZ4-12250-10XH $Z4-12250-15XH $Z4-12250-25XH
58.00 2.283 SZ4-M0580-10XH $Z4-M0580-15XH SZ4-M0580-25XH
58.74 2-5/16" 2.313 §Z4-12312-10XH SZ4-12312-15XH 574-12312-25XH
59.00 2.323 SZ4-M0590-10XH SZ4-M0590-15XH SZ4-M0590-25XH
60.00 2.362 SZ4-M0600-10XH $Z4-M0600-15XH SZ4-M0600-25XH
7.94 60.33 2-3/8" 2.375 SZ4-12375-10XH $Z4-12375-15XH SZ4-12375-25XH
5/16" 61.00 2.402 SZ4-M0610-10XH SZ4-M0610-15XH SZ4-M0610-25XH
61.91 2-7/16" 2.437 SZ4-12437-10XH SZ4-12437-15XH SZ4-12437-25XH
62.00 2.441 SZ4-M0620-10XH $Z4-M0620-15XH SZ4-M0620-25XH
63.00 2.480 SZ4-M0630-10XH SZ4-M0630-15XH 5Z4-M0630-25XH
63.50 2-1/2" 2.500 SZ4-12500-10XH SZ4-12500-15XH 524-12500-25XH
64.00 2.520 SZ4-M0640-10XH SZ4-M0640-15XH SZ4-M0640-25XH
65.00 2.559 SZ4-M0650-10XH SZ4-M0650-15XH SZ4-M0650-25XH
65.09 2-9/16" 2.563 SZ4-12562-10XH SZ4-12562-15XH 524-12562-25XH
£ | Shovel drill

%F%llj Shovel drill

D00 51 O BRBERS / PR JTHF

Side fixed handle spiral groove / straight groove cutter bar
L

L2

o e !
O fN—————- e Tr——-— —IIF—S
s
| L !
L La
L L
L L
o ! IéﬂE;
] ‘@l [y | 9 % |
- I
i L1 | = L1
L3 rei L4 L3 i B L4
D1 L1 L2 L L D2 L4 i 2
Code No Connector 3 a G
SLS40-MLO40-130N 130 179 184 249
SLH40-MLO40-232N 232 281 286 351
SLH40-MLO40-350N 350 399 404 469
SLH40-MLO40-422N 48.00~55.99 422 472 476 542
40 40 70 1/4" = M5X14 T20X45
SLS40-MLO40-422N 1.89"~2.204" 422 472 476 542
SLS40-MLO40-525N 525 375 579 645
SLS40-MLO40-625N 625 675 680 745
SLS40-MLO40-879N 879 929 934 999
SLS45-MLO40-130N 130 179 184 249
SLH45-ML0O40-232N 232 281 286 351
SLH45-ML0O40-350N 350 399 404 469
SLH45-MLO40-422N 56.00~65.09 422 472 476 542
45 40 70 1/4" - M5X14 T20X45
SLS45-MLO40-422N 2.205"~2.563" 422 472 476 542
SLS45-MLO40-525N 525 575 579 645
SLS45-MLO40-625N 625 675 680 745
SLS45-MLO40-879N 879 929 934 999
7 SLH-RIEHE SLS-E#E
v | shoveldril D



> %f-‘z%lj Shovel drill %FZ%& Shovel drill

AR ) HEWIBREERY / FLAS T FF

Carbide inseries Taper shank spiral groove / straight groove Arbor
L
L
| | mincro
Carbide, |"rain HPC‘ I e 1 I s T 1 | O B s

L3

L2 / g

D1
|
W
-

L1 | i T

B2 Diameter y
g0 EE Dokt = =0 D1 i 2 i L v e @D ) e
Connector (m) mm Frcationl Equivalent Code No Connector RCA
9.50 0.374 SZY-MD095-50XH SZY-M0095-50CH SZY-MD095-50SC
9.53 3/8" 0.375 SZY-I0375-50XH SZY-I0375-50CH SZY-I10375-505C
9.80 0.386 SZY-M0098-50XH SZY-M0098-50CH SZY-M0098-50SC
10.00 0.394 SZY-MD100-50XH SZY-M0100-50CH SZY-M0100-50SC SLHYQ-MMMT2-32N 32 52 88 160
2.38 10.20 0.402 SZY-M0102-50XH SZY-M0102-50CH SZY-M0102-50SC SLSYO-MMMT2-32N 9.50~11.49 32 52 88 160
Y0 MT2 1/16" SH-1905R M2X4 T7X35
3/32" 10.50 0.413 SZY-MD105-50XH SZY-M0105-50CH SZY-MD105-50SC SLHYQ-MMMT2-60N 0.374"~0. 452" 60 80 117 189
10.72 27/64" 0.422 SZY-10421-50XH SZY-10421-50CH SZY-10421-50SC SLHYQ-MMMT2-111N 111 131 167 240
10.80 0.425 SZY-MD108-50xH SZY-M0108-50CH SZY-MD108-50SC
11.00 0.433 SZY-M0110-50XH SZY-M0110-50CH SZY-MD110-50SC
11.11 7/16" 0.437 SZY-10437-50XH SZY-I10437-50CH SZY-10437-50SC
11.50 0.453 SZZ-M0115-50XH SZZ-M0115-50CH SZ7-M0115-50SC
11.51 29/64" 0.453 SZZ-10453-50XH SZZ-10453-50CH SZ7-10453-50SC SLHZO-MMMT2-32N 32 52 88 160
2.38 12.00 0.472 SZ7-M0120-50XH SZZ-M0120-50CH S$ZZ-M0120-50SC SLSZO0-MMMT2-32N 11.50~12.97 32 52 88 160
7 3 T T Z0 MT2 1/16" SH-1905R M2X4.8 T7X35
3/32" 12.30 31/64" 0.484 SZZ-10484-50XH SZZ-10484-50CH SZ7-10484-50SC SLHZO-MMMT2-60N 0.453"~0.511" 60 80 117 189
12.50 0.492 SZZ-MD125-50XH SZZ-M0125-50CH SZ7-M0125-50SC SLHZO-MMMT2-111N Tk 131 167 240
12.70 /2" 0.500 SZ7-10500-50XH SZZ-10500-50CH S$ZZ-10500-50SC
13.00 0.512 SZ0-M0130-50%H SZ0-M0130-50CH SZ0-M0130-50SC
T t SLHOO-MMMT2-35N 35 56 92 164
13.50 0.531 SZ0-MD135-50XH §Z0-M0135-50CH S$Z0-MD135-50SC
SLSO0-MMMT2-35N 35 56 92 164
3.18 14.00 0.551 SZ0-MD140-50XH SZ0-M0140-50CH $Z0-M0140-50SC 12.98~15.49
0 T 1 SLHOO-MMMT2-64N 00 64 84 121 193 MT2 1/16" SH-1905R M2.5X5.8 T8X40
1/8" 14.29 9/16" 0.563 SZ0-I0562-50XH SZ0-10562-50CH SZ0-10562-50SC 0.511"~0.61"
SLHOO-MMMT2-114N 114 135 172 244
14.50 0.571 SZ0-MD145-50XH SZ0-M0145-50CH SZ0-M0145-50SC
T T SLHOO-MMMT2-178N 178 199 235 307
15.00 0.591 SZ0-MD150-50XH §Z0-M0150-50CH $Z0-M0150-50SC
15.50 0.610 SZ0-M0155-50%H SZ0-M0155-50CH SZ0-M0155-50SC
15.88 5/8" 0.625 SZ0-10625-50XH SZ0-10625-50CH SZ0-10625-505C SLHO5-MMMT2-35N 35 56 92 164
478 16.00 0.630 SZ0-MD160-50XH $Z0-M0160-50CH $Z0-M0160-50SC SLSO05-MMMT2-35N S 35 56 92 164
0 / 16.50 0.650 SZ0-MD165-50XH S$Z0-M0165-50CH SZ0-M0165-50SC SLHO5-MMMT2-64N 05 ’ ' 64 84 121 193 MT2 1/16" SH-1905R M2.5X7 T8X40
1/8" T t 0.61~0.703
17.00 0.669 SZ0-M0170-50XH SZ0-M0170-50CH SZ0-M0170-50S5C SLHO5-MMMT2-114N 114 135 172 244
17.46 11/16" 0.687 SZ0-10687-50XH SZ0-10687-50CH S$Z0-10687-50SC SLHO5-MMMT2-178N 178 199 235 307
17.50 0.689 SZ0-MD175-50XH S$Z0-M0175-50CH S$Z0-M0175-50SC

7 SLH-9ZfEfE SLS-BHE

@ w# | shoveldril v | shoveldril  CED




64

%F%Ilj Shovel drill

AR < )T

Carbide inseries

Carice| | o] | HPC ‘
Bn  EE B2 Dameter
Connector ( ) mm Frcationl Equivalent

18.00 0.709 §71-M0180-50XH $71-M0180-50CH 571-M0180-505C

18.50 0.728 SZ1-M0185-50XH $Z1-M0185-50CH $Z1-M0185-505C

19.00 0.748 SZ1-M0190-50XH $Z1-M0190-50CH $Z1-M0190-505C

19.05 3/4" 0.750 SZ1-I10750-50XH §Z1-10750-50CH 5Z1-10750-505C

3.97 19.50 0.768 S71-M0195-50XH §Z1-M0195-50CH 571-M0195-505C

5/32" 20.00 0.787 SZ1-MD200-50XH $Z1-M0200-50CH $Z1-M0200-505C

20.50 0.807 S71-M0205-50XH $Z1-M0205-50CH 571-M0205-505C

20.64 13/16" 0.813 SZ1-10812-50XH $Z1-10812-50CH $Z1-10812-505C

21.00 0.827 SZ1-M0210-50XH $Z1-M0210-50CH $Z1-M0210-505C

21.50 0. 846 S§71-M0215-50XH $71-MD215-50CH 571-M0215-505C

22.00 0. 866 SZ1-M0220-50XH §Z1-M0220-50CH 571-M0220-505C

22.23 7/8" 0.875 SZ1-10875-50XH $Z1-10875-50CH $Z1-10875-505C

1 . 97; 23.00 0.906 SZ1-MD230-50XH $Z1-M0230-50CH $Z1-M0230-505C
oE 23.81 15/16" 0.937 SZ1-10937-50XH §Z1-10937-50CH 571-10937-505C

24.00 0.945 SZ1-M0240-50XH SZ1-M0240-50CH $Z1-M0240-505C

25.00 0.984 SZ2-M0250-50XH $Z2-M0250-50CH $Z2-M0250-505C

25.40 i 1.000 SZ2-11000-50XH §Z2-11000-50CH §72-11000-505C

26.00 1.024 SZ2-M0260-50XH SZ2-M0260-50CH 572-M0260-505C

4.76 26.99 1-1/16" 1.063 $Z2-11062-50XH §Z2-11062-50CH $Z2-11062-505C

3/16" 27.00 1.063 SZ2-M0270-10XH §Z2-M0270-10CH 572-M0270-105C

28.00 1.102 §72-M0280-50XH SZ2-M0280-50CH 572-M0280-505C

28.58 1-1/8" 1.125 §Z2-11125-50XH §Z2-11125-50CH $Z2-11125-505C

29.00 1.142 SZ2-M0290-50XH $Z2-M0290-50CH $Z2-M0290-505C

30.00 1.181 SZ2-M0300-50XH SZ2-M0300-50CH 572-M0300-505C

30.16 1-3/16" 1.187 §72-11187-50XH SZ2-11187-50CH 572-11187-505C

31.00 1.220 SZ2-M0310-50XH $Z2-M0310-50CH $Z2-M0310-505C

31.75 1-1/4" 1.250 §Z2-11250-50XH §Z2-11250-50CH §72-11250-505C

A 32.00 1.260 SZ2-M0320-50XH SZ2-M0320-50CH 572-M0320-505C

—_— 33.00 1.299 SZ2-M0330-50XH $Z2-M0330-50CH $Z2-M0330-505C

33.34 1-5/16" 1.313 §Z2-11312-50XH §Z2-11312-50CH $22-11312-505C

34.00 1.339 SZ2-M0340-50XH SZ2-M0340-50CH 5Z2-M0340-505C

34.13 1-11/32" 1.344 SZ2-11343-50XH SZ2-11343-50CH $Z2-11343-505C

34,93 1-3/8" 1.375 §Z2-11375-50XH §Z2-11375-50CH §72-11375-505C

35.00 1.378 SZ2-M0350-50XH SZ2-M0350-50CH 572-M0350-505C

£ | Shovel drill

%F%llj Shovel drill

HEWIBRBERY / FLAS T FF

Taper shank spiral groove / straight groove Arbor

]
5 B 4\ — ... SO S | ) SN SR S | I | | O | AN | N I
L1
L3 ‘ i
L
Iz , g
o ol
5 — oy A | 0 RSP IR St | | B | IO e —y: S | | R Y. ) R -
@) B .
L |
‘ Ls — -
RS %0 B G e
D1 L1 L2 I L MT G2
Code No Connector - RCA
SLH10-MMMT3-70N 70 98 143 233
SLS10-MMMT3-70N 70 98 143 233
17.86~21.99
SLH10-MMMT3-121N 10 121 149 193 283 MT3 1/8" | SH-2540R M3X7 T9X40
0.703"~0. 866"
SLH10-MMMT3-172N 172 200 244 334
SLH10-MMMT3-273N 273 302 346 436
SLH15-MMMT3-70N 70 98 143 233
SLS15-MMMT3-70N 70 98 143 233
22.00~24.60
SLH15-MMMT3-121N 15 oase 0060 2 149 193 283 MT3 | 1/8"  SH-2540R M3X7 T9X40
SLH15-MMMT3-172N ‘ ' 172 200 244 334
SLH15-MMMT3-273N 273 302 346 436
SLH20-MMMT4-86N 86 144 160 274
SLS20-MMMT3-86N 86 144 160 274
24.61~29.99
SLH20-MMMT4-137N 20 137 165 211 325 MT4 | 1/8" | SH-2540R M4X10 T15%45
0.969"~1.181"
SLH20-MMMT4-187N 187 216 262 375
SLH20-MMMT4-289N 289 318 364 477
SLH25-MMMT4-86N 86 144 168 281
SLS25-MMMT3-86N 86 144 168 274
30.00~35.50
SLH25-MMMT4-137N 25 137 165 218 332 MT4 | 1/4" | SH-3175R M4X10 T15X45
1.181"~1.398"
SLH25-MMMT4-187N 187 216 269 383
SLH25-MMMT4-289N 289 318 371 484
7 SLH-$ZfEfE  SLS-BEHE
v | shoveldril @D



D

@Fz %Ilj Shovel drill

AR )

Carbide inseries

%FZ %5 Shovel drill

D00 51 O BRBERS / PR JTHF

Side fixed handle spiral groove / straight groove cutter bar

L2

Cartide rg',';‘,’{{’ HPC‘
#0 B
Connector ( ) mm Frcationl Equivalent
9.50 .374 SZY-MD095-50XH SZY-MD095-50CH i SZY-MD095-505C
9.53 3/8" .375 SZY-I0375-50XH S$ZY-10375-50CH ‘ SZY-10375-50SC
9.80 .386 SZY-M0D98-50XH SZY-M0098-50CH i SZY-M0098-505C
10.00 .394 SZY-MD100-50XH SZY-MD100-50CH l SZY-MO100-505C
2.38 10.20 .402 SZY-MD102-50XH S$ZY-MD102-50CH | SZY-MD102-50SC
/3" 10.50 .413 SZY-M0105-50XH SZY-MD105-50CH I SZY-M0105-505C
10.72 27/64" .422 SZY-10421-50XH SZY-10421-50CH ‘ SZY-10421-50SC
10.80 .425 SZY-MD108-50XH SZY-MD108-50CH | SZY-M0108-505C
11.00 .433 SZY-MD110-50XH SZY-MD110-50CH ‘ SZY-MO110-505C
11.11 7/16" .437 SZY-I0437-50XH SZY-10437-50CH | SZY-10437-505C
11.50 .453 $ZZ-MD115-50XH §77-MD115-50CH | SZZ-MD115-505C
11.51 29/64" .453 S77-10453-50XH $77-10453-50CH i S77-10453-505C
2.38 12.00 .472 $7Z-MD120-50XH §77-MD120-50CH | S77-M0120-505C
3/32" 12.30 31/64" .484 SZZ-10484-50X%H SZZ-10484-50CH i SZ7-10484-505C
12.50 .492 S77-MD125-50XH $7Z-M0125-50CH | $7Z-M0125-505C
12.70 12" .500 $77-10500-50XH 5$2Z-10500-50CH | 577-10500-505C
13.00 .512 SZ0-MD130-50XH $Z0-MD130-50CH | SZ0-M0130-505C
13.50 .531 SZ0-MD135-50XH $Z0-MD135-50CH I SZ0-M0135-505C
3.18 14.00 .551 SZ0-MD140-50XH $Z0-M0140-50CH { SZ0-M0140-505C
1/8" 14.29 9/16" .563 S70-I0562-50XH §Z0-10562-50CH | $Z0-10562-505C
14.50 571 $Z0-MD145-50XH §$Z0-MD145-50CH ] SZ0-MD145-505C
15.00 .501 SZ0-MD150-50XH $Z0-MD150-50CH i SZ0-M0150-505C
15.50 .610 SZ0-MD155-50XH $Z0-MD155-50CH | SZ0-M0155-505C
15.88 5/8" .625 SZ0-10625-50XH $Z0-10625-50CH ‘ SZ0-10625-505C
16.00 .630 SZ0-MD160-50XH 5$Z0-M0160-50CH i $Z0-M0160-50SC
i}:f 16.50 .650 $Z0-MD165-50XH §Z0-MD165-50CH l SZ0-MD165-505C
17.00 .669 SZ0-MD170-50XH $Z0-MD170-50CH | SZ0-MD170-50SC
17.46 11/16" .687 SZ0-I0687-50XH $Z0-10687-50CH | SZ0-10687-505C
17.50 .689 SZ0-MD175-50XH $Z0-MD175-50CH ‘ $Z0-MD175-505C
£ | Shovel drill

° =
g i ——— S i <t — e — —Er—s
W i b
| L1
L3 La
L
L i5
o 1 KﬁF
N S BENE N[
| |
| i L1 ! - L1
L3 rei L3 i B L4
D1 L1 L2 L L D2 L4 1l 2
Code No Connector 3 G G
SLSY0-MLO16-19N 19 48 50 9% 16 48 | 1/16
SLSY0-MLO20-32N 32 61 64 111 20 50 1/8"
SLHY0-MLO20-60N 9.50~11.49 60 90 92 140 20 50 1/8"
YO 1/8" M2X4 T7X35
SLHY0-MLO20-111N 0.374"~0.452" 111 141 | 143 191 20 50 1/8"
SLSY0-MLO20-222N 222 252 | 254 | 302 20 50 1/8"
SLSY0-MLO20-290N 2090 | 320 | 322 | 370 20 50 1/8"
SLSZ0-MLO16-19N 19 48 50 9% 16 48 | 1/16"
SLSZ0-MLO20-32N 32 61 64 11 20 50 1/8"
SLHZ0-MLO20-60N 11.50~12.97 60 90 92 140 20 50 1/8"
70 1/8" | M2X4.8 T7X35
SLHZ0-MLO20-111N 0.453"~0.511" 111 141 | 143 191 20 50 1/8"
SLSZ0-MLO20-222N 22 252 | 254 | 302 20 50 1/8"
SLSZ0-MLO20-290N 200 | 320 | 322 | 370 20 50 1/8"
SLS00-MLO20-22N 2 48 50 98
SLS00-MLO20-35N 35 64 66 114
SLHOO-MLO20-64N 64 92 95 142
12.98~15.49
SLHOO-MLO20-114N 00 143 | 146 @ 193 20 50 1/8" | 1/8" | M2.5¥5.8 T8X40
0.511"~0. 61"
SLHO0-MLO20-178N 178 | 206 | 200 @ 256
SLS00-MLO20-295N 295 | 324 | 327 | 374
SLS00-MLO20-387N 387 | 416 | 419 | 466
5LS05-MLO20-22N 2 48 50 98
SLS05-MLO20-35N 35 64 66 114
SLHOS-MLO20-64N 22 95 142
15.50~17.85
SLHOS-MLO20-114N 05 — 114 | 143 | 146 193 20 50 | 1/8" | 1/8" | M2.5%7 T8X40
SLHOS-MLO20-178N ' ' 178 206 200 256
SLS05-ML020-295N 295 | 324 | 327 | 374
SLS05-MLO20-387N 387 | 416 | 419 | 466
¥ SLH-tSAEHE SLS-E4g
v | shovelarit @D



D

%FZ %Ilj Shovel drill

AR < )T

Carbide inseries

%FZ %5 Shovel drill

D00 51 O BRBERS / PR JTHF

Side fixed handle spiral groove / straight groove cutter bar

L2

Catice| | "o HPC‘
gEn  EE B v
Connector ( ) mm Frcationl Equivalent
18.00 0.709 $Z1-MD180-50XH SZ1-MO180-50CH | SZ1-MO180-505C
18.50 0.728 $Z1-MD185-50XH $Z1-M0185-50CH |  $Z1-M0185-50SC
19.00 0.748 $71-MD190-50XH $Z1-M0190-50CH $71-M0190-505C
19.05 3/4" 0.750 $71-10750-50XH $21-10750-50CH $Z1-10750-505C
3.97 19.50 0.768 SZ1-M0195-50XH $71-M0195-50CH | SZ1-M0195-505C
5/32" 20.00 0.787 $71-MD200-50XH $Z1-M0200-50CH I $Z1-MD200-505C
20.50 0. 807 $71-MD205-50XH $Z1-M0205-50CH | $Z1-M0205-50SC
20.64 13/16" 0.813 $71-10812-50XH $71-10812-50CH |  $71-10812-505C
21.00 0.827 $Z1-MD210-50XH $71-M0210-50CH | 571-MD210-505C
21.50 0. 846 $Z1-MD215-50XH S71-M0215-50CH |  5Z1-M0215-50SC
22.00 0. 866 $Z1-MD220-50XH $Z1-M0220-50CH ‘ $Z1-MD220-505C
22.23 7/8" 0.875 $Z1-10875-50XH $Z1-10875-50CH ‘ 571-10875-505C
53/'39; 23.00 0.906 $Z1-MD230-50XH $Z1-M0230-50CH ‘ $Z1-MD230-505C
23.81 15/16" 0.937 $Z1-10937-50XH $71-10937-50CH ‘ $71-10937-505C
24.00 0.945 $Z1-MD240-50XH 5$71-M0240-50CH ‘ $Z1-MD240-505C
25.00 0.984 §72-MD250-50XH $Z2-M0250-50CH | §72-MD250-505C
25.40 1" 1.000 $Z2-11000-50XH $Z2-11000-50CH | §22-11000-505C
26.00 1.024 $Z2-M0260-50XH SZ2-M0260-50CH | SZ2-M0260-505C
4.76 26.99 1-1/16" 1.063 §72-11062-50XH $22-11062-50CH | §72-11062-505C
3/16" 27.00 1.063 $72-MD270-10XH $Z2-M0270-10CH | $22-MD270-10SC
28.00 1.102 $Z2-MD280-50XH 5Z2-M0280-50CH | SZ2-M0280-505C
28.58 1-1/8" 1.125 $72-11125-50XH $22-11125-50CH | §72-11125-505C
29.00 1.142 $Z2-MD290-50XH $Z2-M0290-50CH | §72-MD290-505C
30.00 1.181 $Z2-MD300-50XH $Z2-M0300-50CH | 572-MD300-505C
30.16 1-3/16" 1.187 $72-11187-50XH $22-11187-50CH | §72-11187-505C
31.00 1.220 $Z2-MD310-50XH $Z2-MD310-50CH | $72-M0310-505C
31.75 1-1/4" 1.250 §72-11250-50XH $Z2-11250-50CH | 572-11250-505C
32.00 1.260 $Z2-MD320-50XH $Z2-MD320-50CH | §72-M0320-505C
* 76" 33.00 1.299 $Z2-MD330-50XH $72-M0330-50CH | $72-M0330-505C
P 33.34 1-5/16" 1.313 §72-11312-50XH $72-11312-50CH | 572-I1312-50SC
34.00 1.339 $Z2-M0340-50XH $22-M0340-50CH | $72-M0340-505C
34.13 1-11/32" 1.344 $Z2-11343-50XH $72-11343-50CH | §72-11343-505C
34.93 1-3/8" 1.375 §72-11375-50XH $22-11375-50CH | §72-11375-505C
35.00 1.378 $Z2-MD350-50XH $22-M0350-50CH | $72-M0350-505C
£ | Shovel drill

o ===l
& e STt eT e = T —}IP—S
| R P et
| L
L3 La
L
L L
o ! é o
9 R& = 99 } N[
- I
| i L1 | = L1
L3 rei L3 i B L4
D1 L1 L2 L L D2 L4 i 2
Code No Connector 3 a G
SLS10-MLO25-48N 48 76 79 132
SLS10-MLO25-67N 67 107 111 163
SLH10-MLO25-118N 118 155 158 211
17.86~21.99
SLH10-MLO25-168N 10 168 206 209 262 25 56 1/8" 1/8" M3X7 T9X40
0.703"~D.866"
SLH10-MLO25-270N 270 307 311 363
SLS10-MLO25-457N 457 495 498 551
SLS10-MLO25-569N 569 603 606 659
SLS15-MLO25-48N 48 76 79 132
SLS15-MLO25-67N 67 107 111 163
SLH15-ML0O25-118N 118 155 158 211
22.00~24.60
SLH15-MLO25-168N 15 168 206 209 262 25 56 1/8" 1/8" M3X7 T9X40
0.866"~0.969"
SLH15-MLO25-270N 270 307 311 363
SLS15-MLO25-457N 457 495 498 551
SLS15-MLO25-569N 569 603 606 659
SLS20-MLO32-57N 57 89 92 149
SLS20-MLO32-86N 86 129 132 189
SLH20-MLO32-137N 137 179 183 239
24.61~29.99
SLH20-MLO32-187N 20 187 230 234 290 32 60 1/4" 1/8" M4X10 T15X45
0.969"~1.181"
SLH20-ML0O32-289N 289 332 335 392
SLS20-MLO32-511N 511 554 558 618
SLS20-MLO32-492N 692 735 739 795
SLS25-MLO32-57N 57 89 92 149
SLS25-MLO32-86N 86 129 132 189
SLH25-ML0O32-137N 137, 179 183 239
30.00~35.50
SLH25-ML0O32-187N 25, 187 230 234 290 32 60 1/4" 1/8" M4X10 T15X45
1.181"~1. 398"
SLH25-ML032-289N 289 332 335 392
SLS25-MLO32-511N 511 554 558 618
SLS25-MLO32-492N 692 735 739 795
7E: SLH-PRAEME  SLS-E4E
v | shoveldril @D



@B ﬁ: Accessories

B R

Rotary Coolant Adapter

BS RE(A) HME(B) EE(C) IMAAFFIREU(D)  ISADBEARER(E)
Code No Inside diameter Outside diameter Thickness Driving rod thread = Coding nozzle tnreaa
SH-1905R 19.05 44.45 22.23 M8X1. 25 1/8"
SH-2540R 25.40 53.97 28.57 MBX1. 25 1/8"
i
SH-3175R 31775 63.50 34.92 M10X1.5 1/4"
SH-4445R 44,45 76.20 34,92 M10X1.5 1/4"
i
SH-5715R 57 15 95.27 44.45 M12X1.75 /2"
Drive rod
)
m —m
il =
BE BREY < DUECHI{HHER
Code No Thread Total length Matched oil ring
SG-M8-250 M8X1. 25 250 SH-1905R
SG-M8-250 M8X1. 25 250 SH-2540R
SG-M10-250 M10X1.5 250 SH-3175R
SG-M10-250 M10X1.5 250 SH-4445R
SG-M12-250 M12X1.75 250 SH-5715R

& w# | shoveldri

FE =5 IJFi Precautions

- v s u i
mm JE:)-%"\ ~ {J-: aﬁ\ 111‘1'1!
Essentials of use and precautions

T Assembly

RRBENRENN TRIERENNEFGSINEEIEEN. HEFREH. XASTHANRRER, BREAOREESRM. TREN
TR&5 LRI R

The stability of the applications is essential for optimal tol 1fe and hole accuracy. Guarantee the maximum stability and rigidity by checking theholding of the machine tool
spindle, fixtures and workpiece. Unstable operating conditions will cause fracture of drills bits.

EAHBESHEGCE MaxRunoutand Misalignment

Bzl B0 E
Runout Misalignment

< S

Max. 0. 03mm

Max. 0. 05mm

EHED Cooling Pressure

HFEE

Quasi-dry cutting

PIERSED SHEDSH]

lnner cooling

Outer cooling

3-4D:5bar

5-6D:5bar J N 3-4D: MQL v
7-8D:10bar & 7-8D:10bar X ({(EEER/0nly carbide)
8-120:15bar V 8-12D:15bar X
11-14D:20bar 11-14D:20bar X

v | shoveldril  @ED



72

RE A==

PEHSER. TR

Precautions

i

Essentials of use and precautions

HESLEIRFIETHRE  Standardfor drill bit replacement

EGIRBR wear limit *’.\’Bﬁ

vz Application

Carbide insert:

BEA&STA: VB=0.3mm

ARBEPMII A VB=0. 4mm

HSS-PM insert:

a horizontal plane)

mo WiEA TR EEH
Operating Condition Instructions Operating Condition Instructions
ERRERE +
The entry surface is slanted I THEEFER
N ] g
FIMHEAEE | The entry surface i velded
Slope Feed Rate | MIFAIERF
¢3° 50% \ Level it through spot facing before machining
|
HBEIR
HILESIE ‘ Stacked plates
The outlet 1s slanted | E%iﬁnjgincmle
R :
R | BERETAES
PEr— | The workpiece shall be properly clamped
: A2 REEEIERE
There must be no gaps between the plates
ERYREINE
The entry surface is arc
TEP Db H IR EIEE B AT LU il
Drilling at the center at reduced Cavities
feed rateis allowed A|ILL
YRS AME N E DB IS E AT Nt a1owed
Spot facing is required if the entry
pointis not at the center of the arc
+ = + ERERah
A | Through hole ‘ Step on the entry surface
| PO o
el AT T (HAEBIA R T E)
Ai Not allowed Not allowed (the entry point must be on
| |
1

4k | Shovel drill

- = =
F_:E .%'.%HIJFi Precautions

KieRHEH 1.2

Long diameter series drilling process

TEE R
275mm

275mm
from the
bottom

@ @ ©)

DFEs L5 SFLEIDT. 5D

Drill a pilot hole to 1D to 1 .5Dwith a short drill bit

OIEEEIEFEEFHASIFIL

Enter the pilot hole at a low speedand low feed rate
OILHARIFER2 3%

Keep the coolant for 2 to 3s

@EHEFNS BIESIN T H O FHEREIHS

Carry out continuouSpeeddirlling according to therecommended parametersReduce the speed and feedrate at the outlet

]

| shoveldril (D



sje 2, e N7 5 2l
EIZ=28 cui EIZ=20 cun
= Cutting parameters == Cutting parameters
R B
BEREETIR RS  Ccarbide blade series ] EU@E ﬁgﬁé (fm)mmir
R EE Ve(mimin) ©9.5-12.5mm ©13.0-17.5mm ©18.0-24.0mm 25.0-35.0mm

150 BT H1E S HE | N RO #E RA RN MBS BA BN BE BX BN BE  BX BRI EE B
Material Heattreatment Min. | Recommended ~Max. Min. | Recommended ~ Max. Min.  Recommended Max. Min. | Recommended | Max. Min.  Recommended Max.
<0.25%C | BN Annealed 100-150 370-500 75 94 117 | 0.09 0.12 0.17 | 0.13 0.17 0.23 | 0.17 0.22 0.31 | 0.21 0.28 0.39
Eﬂﬁfsml :g Eg i: g;ig Z0.256C | BN Amnealed 175-225 600-775 55 69 86 | 0.07 0.09 012 | 0.10 0.14 019  0.13 0.17 0.23  0.19 0.25 0.34
<0.55%C | EAFIYEIGR quenched and temered 225-275 775-940 49 61 76 | 0.07 0.09 0.12 | 0.10 0.14  0.19  0.13 0.17 0.2  0.19 0.25 0.34

E’iﬂ;ﬁ*ﬂﬂ 33 =B ﬁjﬁ i: gggg sosgc | BN Amncaled 275-325 940-1090 41 51 64 | 0.05 0.07 0.10 | 0.09 0.12 0.17 | 0.12 0.16 0.22 0.6 0.21 0.29
SENAARR quenched and tempered 300 1000 41 51 64 0.04 0.06 0.08 | 0.08 0.10 0.14 | 0.12 0.16 0.22 0.16 0.21 0.29
SR annealed 175-225 600-775 54 67 84 | 0.07 0.09 0.12 | 0.10 0.14 019 | 0.13 0.17 0.22  0.19 0.25 0.34
ﬁ%ﬁsteel SR Annealed 225-275 775-940 49 61 76 | 0.07 0.09  0.12 | 0.09 0.12 0.17 | 0.13 0.17 0.23 | 0.19 0.25 0.34
jgg:m f&jﬂ i: ;gig SR Amnealed 275-325 940-1090 45 56 70 | 005 0.07 0.10 | 0.08 010 014 012 016 022 016 021  0.29
R Tenpered 325-375 1090-1265 40 50 62 | 0.04 0.06  0.08 | 0.08 0.10 0.14 | 0.12 0.16 0.22  0.16 0.21 0.29
Eaai, TEIN, %N, EiN BN Annealed 225-300 600-1020 40 50 62 0.07 0.09 0.12 | 0.09 0.12 0.17 | 0.12 0.16 0.22 | 0.13 0.17 0.23

High alloy steel, tool steel, Cast steel

Cr12,D3,1.2080; 4Cr5MoSiV, H13, 1. 2344 JEIIES Tempered 300-350 1020-1180 30 38 47 | 0.05 0.07 0.10 | 0.09 0.12 0.17 | 0.12 0.16 D.22 | 0.13 0.17 0.23
T DR 0Cr13 403 1.400 YRTRIK Ferrtic 185-275 640-940 37 46 58 | 0.08 0.10 0.14 | 0.10 0.14 019 | 0.12 0.16 0.22  0.13 0.17 0.23
Stainless steel Ferritic/nartensitic  2Cr13 410 1.4021 ELERAK Martensitic 275-350 940-1180 29 36 45 | 0.07 0.090 0.12 | 0.09 0.12 0.17 | 0.10  0.14 0.19 0.10 0.14  0.19
B P RN 0Cr18Nio 304 1.4301 SEIA/ PR Annealed/Harden 135-185 480-640 37 46 58 | 0.04 0.06 0.08 | 0.09  0.12 0.17 | 0.10  0.14 0.19 | 0.13 0.17 0.23
Stainless steel Austenitic ~ 0Crl7NillMo2 316 1.4401 G5 +RAMR Cast+Unhandled 185-275 640-940 29 36 45 0.04 0.06 0.08 | 0.08 0.10 0.14 | 0.09 0.12 0.17 | 0.10 0.14 0.19
M BTN N<D0.1% \ >BO%ETRIA Ferrtic 135-185 480-640 19 24 30 | 0.04 0.06  0.08 | 0.00 0.12 0.17 | 0.10  0.14 0.19  0.13 0.17 0.23
Siiser upl s bralildssistesl, NZ0.1% | <6O%EETEAR Ferrtic 185-275 640-940 15 19 24 0.04 0.06 0.08 | 0.08 0.10 0.14 | 0.09 0.12 0.17  0.10 0.14 0.19
RO HT200 NO.30  GG20 PTRAK Ferrtic 120-150 430-500 78 9 122 | 0.09 0.12 0.17 | 0.16 0.21 0.29 | 0.21 0.28 0.39  0.26 0.34 0.47
Grey cast iron  HT250  N0.35  GG25 BRYEAR Pearlitic 150-200 500-700 75 9% 117 | 0.08 0.10 0.14 | 0.14 0.19 0.26 | 0.19 0.25 0.34 0.23 0.31 0.43
—_— 0T400-18  60-40-18  GGGAO PATEAK Ferrtic 200-220 700-755 67 84 105 | 0.08 0.10 0.14 | 0.12 0.16 0.22 | 0.16 0.21 0.29  0.21 0.28 0.39
Cast iron nodular  QT600-3 ~ 80-60-03  GGGBO BRSAR pearlitic 220-260 755-890 58 72 90 | 0.07 0.09 0.12 | 0.09 0.12 0.17 | 0.12 0.16 0.22 0.16 0.21 0.29
T PFRAK Ferrtic 120-150 430-500 75 94 117 | 0.09 0.12 0.17 | 0.16 0.21 0.29 | 0.21 0.28 0.39  0.26 0.34 0.47
A s BRIEAR pearlitic 260-320 890-1020 52 66 82 0.05 0.07 0.10 | 0.08 0.10 0.14 | 0.09 0.12 0.17 | 0.12 0.16 0.22
o SRENL Not cureabie 30 100 105 150 195 | 0.05 0.07 0.10 | 0.08  0.10 0.14 | 0.13 0.17 0.22  0.16 0.21 0.29
Miouoht-Altn: ENtcured 180 600 a1 130 69 | 0.10 0.14 019 | 0.17 0.22 031 | 0.21  0.286 0.39 0.2 0.31 0.43
SEEHE ot cureabie 30 100 105 150 195 | 0.10 0.14  0.19 | 0.17 0.2 0.31 | 0.21 0.28 0.39  0.26 0.34 0.47
%ﬁmmm“m SI2SL B cure 180 600 91 130 169 | 0.10 0.14  0.19 | 0.17 0.22 0.31 | 0.21 0.28 0.39  0.23 0.31 0.43
>12% 51 | EEAHIE High temerature - - 91 130 169 | 0.10 0.14  0.19 | 0.17 0.22 0.31 | 0.21 0.28 0.39  0.23 0.31 0.43
53t Free cutting 100-200 370-670 105 150 195 | 0.08 0,10 0.14 | 0.14  0.19 0.26  0.19  0.25 0.34  0.23 0.31 0.43
??feﬁmys >1% Pb 254 Brass 200-250 670-855 105 150 195 | 0.07 0.09 0.12 | 0.09  0.12 0.17 | 0.12 0.16 0.22  0.16 0.21 0.29
FAR47 Electrolitic copper 100 370 105 150 195 | 0.09 0.12 0.17 | 0.16 0.21 0.29 | 0.21 0.28 0.39  0.26 0.34 0.47

ISl SARBIFAE Duroplastics fFier plastics | = = 105 150 195 | 0.10 0.14 0.19 | 0.17 0.22 0.31 | 0.21 0.28 0.39 | 0.23 0.31 0.3
gl BEARIE: Hord rubber 60 200 105 150 195 | 010 0.4 019 017 022 031 021 028 039 023 031  0.43
s BN Amealed 140-220 480-755 19 24 30 | 0.04 0.06 0.08 | 0.09 0.12 0.17 | 0.10  0.14 0.19 0.13 0.17 0.23
LSS BNt cured 223-310 755-990 15 18 23 0.04 0.06 0.08 | 0.08 0.10 0.10 | 0.09 0.12 0.17 0.10 0.14 0.19
Ejﬁﬁf&"ﬁﬂ;m%ﬁmy —— SR Amnealed 250 - 19 2% 30 004 0.06 0.08 | 0.09 012 017 010 014 019 013 017  0.23
= | UL cured 350 - 15 18 23 | 0.04 0.06 0.08 | 0.08 0.10 0.14 | 0.09  0.12 0.17  0.10 0.14 0.19
‘ §hi Cast 320 - 15 18 23 | 0.04 0.06  0.08 | 0.08 0.10 0.14 | 0.09  0.12 0.17 | 0.10 0.14 0.19

DO - 320 Rm 400 2 27 34 | 0.04 0.06  0.08 | 0.09 0.12 0.17 | 0.10  0.14 0.19  0.13 0.17 g.23
Titanium Alloy a+B&&ENL a+8 alloys Cured - Rm 1050 117 21 26 0.04 0.06 0.08 | 0.08 0.10 0.14 | 0.09 0.12 0.17 @ 0.10 0.14 0.19
DA FETHEE R SEETEE Harden 400 1365 23 29 3% | 0.04 0.06 0.08 | 0.08 0.10 0.14 | 0.10 0.14 0.19 | 0.12 0.16 0.22
SEE AL R SEABE Harden 500 1600 19 24 3 | 0.02 003 004 | 0.07 0.09 012 009 012 017 0.10 0.14  0.19
TN I arden 300-400 1020-1365 24 30 38 | 0.04 0.06 0.08 | 0.08 0.10 0.14  0.10 0.14 0.19  0.12 0.16 0.22
e SRR Harden 400-500 1365+ 19 24 3 | 002 003 004 | 0.07 0.09 012 009 012 017  0.10 014  0.19

E%Lmﬁﬁmm@]gjﬁQ{B_,qD%gu%;ﬁﬂ %{EﬁﬁS—GD\ 7-8D. 8-12D. 12-14D. 14'220%%%§Uﬁj, *E;E::;Rg@% I}%{Ej%g&“ Nmle: L’)‘let;:n:ner;f:;m:::;i:;:tmg parameters are baecd on the 3-4D seres. When using series 5-60/7-80/8-12D/12-14D/14-22D etc, the parameters should be appropriately reduced according
£48:3-4DF5=100%; 5-6D. 7-8DFF|=80%LLTF; =8-12DFF|=70%LLF . Parameter: 3-4D series=100%, 5-60/7-8D series=below 80%, =>8-12D series=below 70%.
m 4 | Shovel drill o4k | Shovel drill @




se o Ml A 5 2l
= Cutting parameters = Cutting parameters
e a2
| HEER mymmir
MATEMRT Powder high speed steel series W tﬂajﬁjﬁ T
5 o HE Ve(m/min) ®9.5-12.5mm ®13.0-17.5mm ©18.0-24.0mm ®25.0-35.0mm ®36.0-47.0mm ©48.0-65.0mm | ©66.0-114.0mm
s " N/mm’
150 WA &4 e B £ 8K B £E B B ME BA B BE BX B BE BA B BE BA B BE BX B S B
Material Heattreatment Min. | Recommended  Max. Min. Remmdedl Max. | Min. |Recormended Max. = Min. Recommended Maxt. | Min. |Recormenced Max. = Min. Recommended Max.  Min.  Recommended| Max. | Min. | Recommended Max.
<0.25%C | BN Annealed 100-150 | 370-500 | 23 | 54 | 70 0.09 0.12 0.17|0.13 0.17 0.23 0.17 0.22 031|021 0.28 0.39 0.26 0.34 0.47 0.29 0.39 0.54|0.36 0.48 0.66
Y1 g - ' [ ‘ ‘ '
Eﬂﬁfsml Ylg Eﬁ i.g;ig =0.25%C | B annealed 175-225 | 600-775 | 35 | 50 @ 64 0.07 0.09 0.12/0.10 0.14 0.19 0.13 0.17 0.23|0.19 0.25 0.3 0.23 0.31 0.43 0.27 0.36 0.50 0.31 0.42 0.57
<0.55%C | EAAMVBIE uenched and tempered 225-275 | 775-940 | 32 | 45 | 59 0.07 0.09 0.12/0.10 0.14 0.19 0.13 0.17 0.23|u.19 0.25 0.34 0.23 0.31 0.43 0.27 0.36 0.50 0.31 0.42 0.5
. G5 45 1045 1.0503 o [ o [ [ [ '
et AR Tt e . BN Annealed | 275-325 | 940-10%0 | 25 | 36 | 47 0.05 0.07 010|009 0.12 017 012 0.16 022016 0.21 029 021 0.28 039 025 0.33 045 029 038 0.5
SR uenched and tempered 300 1000 2| 32 | 4 0.04 0.06 0.08|0.08 010 0.14 0.12 0.16 0.22 0.16 0.21 0.29 019 0.26 035 022 0.30 041 0.26 0.34 0.47
SBN Annealed 175-225 | 600-775 | 33 | 47 @ 62 0.07 0.09 0.12|0.10 0.4 0.19 0.13 017 0.23 0.19 0.25 0.34 0.22 0.30 0.41 025 0.33 0.45 029 0.38 0.53
ﬁﬂzﬁlﬁ,ml SEN Annealed 225-275 | 775-940 | 32 | 45 @ 59 0.07 0.09 0.12|0.09 0.12 0.17 0.13 0.17 0.23 | 0.19 0.25 0.340.22 0.30 0.41 0.25 0.33 0.450.29 0.38 0.53
S BN Arnealed 275-325 | 940-1090 | 28 | 41 53 0.05 0.07 010 0.08 0.0 014 012 016 0.22/0.16 021 029 019 0.26 0.35 0.2 030 041 026 0.34 0.47
VR Tempered 325-375 |1090-1265| 24 | 34 @ 44 0.04 0.06 0.08|0.08 0.10 0.14 0.12 0.16 0.22|0.16 0.21 0.29 0.19 0.26 0.35 0.22 0.30 0.41 0.26 0.34 0.47
EERW, , 554, SEN Annealed 225-300 | 600-1020 | 22 41 0.07 0.09 0.12|0.09 0.12 0.17 0.12 0.16 0.22|0.13 0.17 0.23 0.19 0.25 0.34 0.22 0.30 0.41 0.26 0. 0.47
SN, TEM, 55, 5N BN 32 9 0.12 0 0 0.2 34
High alloy steel, tool steel, Cast steel T T T T T
Cr12,D3,1.2080; 4Cr5MoSiV, H13, 1.2344 I Tempered 300-350 |1020-1180| 19 | 27 @ 35 0.05 0.07 0.10|0.09 0.12 0.17 0.12 0.16 0.22|0.13 0.17 0.23 0.19 0.25 0.34 0.22 0.30 0.41 0.26 0.34 0.47
%ﬁﬁ/g&ﬂqa:m DCF13 403 1.400 ﬁﬁﬁi Ferrtic | 185-275 | 640-940 16 23 | 29 0.08 0.10 0.14 0.10 0.14 0.19 0.12 0.16 0.22 0.13 0. 17 0.23 | 0.19 0.25 0.34 | 0.21 0.28 0.39 | 0.26 0.34 0.47
A it : TLFEAA Martensitic 275-350 | 940-1180 | 19 | 27 @ 35 0.07 0.09 0.12|0.09 012 0.17 0.10 0.14 0.19|0.10 0.14 0.19 0.16 0.21 0.29 0.19 0.25 0.34 0.23 0.31 0.43
Stainless steel Ferritic/martensitic 2Crl3 410 1.4021 Ok .
B RER 0Cr1BNi9 304 1.4301 | SBN/EHE donealed/barden | 135-185 | 480-640 | 18 | 25 | 32 0.04 0.06 008|009 012 017 010 0.14 019 013 017 023 019 0.25 034 021 0.28 039 0.2 0.34 0.4
Stainless steel Austenitic OCr17NillMo2 316  1.4401 $EI+RAME Cast+Unhandled 185-275 | 640-940 | 18 | 25 | 32 0.04 0.06 0.08|0.08 0.10 0.14 0.09 0.12 0.17|0.10 0.14 0.19 0.16 0.21 0.29 0.19 0.25 0.340.23 0.31 0.43
M - .
BRI N<0.1% | >60%SKFRIA Ferrtic 135-185 | 480-640 | 19 | 27 | 35 0.04 0.06 0.08|0.08 0.12 0.17 0.10 0.14 0.19|0.13 0.17 0.23 0.19 0.25 0.34 0.21 0.28 0.39  0.26 0.34 0.47
sl Ouplex.stalrldss Stesl N=0.1% | <6O%EKTEIR Ferrtic 185-275 | 640-940 | 16 | 23 29 0.04 0.06 0.080.08 0.10 0.14|0.09 0.12 0.17|0.10 0.14 0.19 0.16 0.21 0.29/0.19 0.25 0.34|0.23 0.31 0.43
ROl HT200  NO.30  GG20 SRTEAA Ferrtic 120-150 | 430-500 | 38 | 54 | 70 0.09 0.12 017016 0.21 0.29 021 0.28 0.39|0.26 0.34 0.47 0.31 0.42 0.57 0.35 0.47 0.65 0.39 0.5 0.72
Grey cast iron  HT250 NO.35  GG25 BESEAK Pearlitic 150-200 | 500-700 | 35 | 50 @ 64 0.08 0.10 0.14 |0.14 0.19 0.26 0.19 0.25 n.34|n.23 0.31 0.43 0.29 0.38 053 0.32 0.43 0.5 0.3 0.48 0.66
TR QT400-18  60-40-18  GGGAD SETEAA Ferrtic 200-220 | 700-755 | 32 | 45 | 59 0.08 0.10 0.14|0.12 0.16 0.22 0.16 0.21 0.29 | 0.21 028 039 0.23 031 043 0.27 036 050 031 042 0.5
Cast iron nodular  QT600-3  80-60-03  GGGGD BRI pearlitic 220-260 | 755-890 | 32 | 45 @ 59 0.07 0.09 0.12|0.09 0.12 0.17 0.12 0.16 0.22|0.16 0.21 0.29 0.19 0.25 0.34 0.22 0.30 0.41 0.26 0.34 0.47
SETEAA Ferrtic 120-150 | 430-500 @ 32 | 45 @ 59 0.09 0.12 0.17|0.16 0.21 0.29 0.21 0.28 0.39|0.26 0.34 0.47 031 0.4 0.5 035 0.47 0.65 0.39 0.52 0.72
o] iRk L |
palieateeastiion BRACAR Pearlitic 260-320 | 890-1020 | 32 | 45 | 59 0.05 0.07 0.10|0.08 0.10 0.14 0.09 0.12 0.17|0.12 0.16 0.22 0.16 0.21 0.29 0.19 0.25 0.34|0.21 0.28 0.39
= SREHE, Not cureabie 38 | 100 47 | 68 | 88 0.05 0.07 0.10 | 0.08 0.10 0.14 0.13 0.17 0.23|0.16 0.21 0.29 0.29 0.38 0.53 0.32 0.43 0.59 0.32 0.43 0.59
iz
Hiouoht Alln: B tcured 180 | 600 4 | 59 | 76 0.10 0.14 019|017 0.22 031 021 0.28 0.39|023 0.31 043 029 038 0.5 032 0.4 059 032 0.43 0.5
SRENE Not cureabie 30 | 100 47 | 68 | 88 0.10 0.14 ©0.190.17 0.22 0.31 0.21 0.28 0.39|0.26 0.3 0.47 0.29 0.338 0.53 0.32 0.43 0.59 0.32 0.43 0.59
%}f‘mmmm — B cured 180 | 600 41 | 59 | 76 0.10 0.14 0.19|0.17 0.22 0.31 0.21 0.28 0.39|0.23 0.31 0.43 0.29 0.38 0.5 0.32 0.43 0.59 0.32 0.43 0.59
>12% Si | SRR Hich tenperature = | = 41 | 59 | 76 0.10 0.14 0.19|0.17 0.22 0.31 0.21 0.28 0.39|0.23 0.31 0.43 0.29 0.38 0.5 0.32 0.43 0.59 0.32 0.43 0.59
Ft] Free cutting 100-200 | 370-670 @ 47 | 68 88 0.08 0.10 0.14|0.14 019 0.26 0.19 0.25 0.34|0.23 0.31 0.43 0.29 0.38 0.53 0.34 0.45 0.62 0.36 0.48 0.66
’ﬂcgﬁﬁnm >1% Pb | 24 Brass 200-250 | 670-855 | 47 | 68 | 88 0.07 0.09 0.12|0.09 012 0.17 0.12 0.16 0.22 0.16 0.21 0.29 0.19 0.25 0.34 022 0.30 0.4l 0.26 0.34 0.47
EBA4A Electrolitic copper 100 | 370 47 | 68 | 88 0.09 0.12 0.17|0.16 0.21 0.29 0.21 0.28 0.39 0.26 0.34 0.47 031 0.42 0.57 0.36 0.48 0.66 0.39 0.5 0.72
SBRIRIETHE Duroplastics fiber plastics - - 47 | 68 | 88 0.10 0.14 0.19|0.17 0.22 0.31 0.21 0.28 0.39|0.23 0.31 0.43 0.29 0.38 0.53 0.32 0.43 0.59|0.32 0.43 0.59
IEkEE
R BRI Hard rusber 60 | 200 | 47 | 68 88 0.10 0.14 0.19 017 022 031 0.21 0.28 039023 031 043 029 038 0.53 0.32 043 050032 043 0.5
s | BN Anealed 140-220 | 480-755 | 14 | 20 | 27 0.04 0.06 0.08|0.09 012 0.17 0.10 0.14 019 013 017 0.23 016 0.21 0.29 019 0.26 0.35| - - -
Febase | L cured 223-310 | 755-990 | 11 | 16 @ 21 0.04 0.06 0.08|0.08 0.10 0.10 0.09 0.12 0.17 0.10 0.14 0.19 0.13 0.17 0.23 0.16 0.21 0.29| - - -
EUEEE High Tenp. Alloy iR Annealed 250 = n| 1 | 2 0.04 0.06 0.08|009 012 0.17 0.10 014 019 013 017 023 0.16 0.21 029 019 0.26 0.35| - = =
Hastelloy B, Inconel 600, %EEESE%E
e e | B cured 350 - 1 | 16 | 21 0.04 0.06 0.08|0.08 0.10 0.14 0.09 0.12 0.17|0.10 0.14 0.19 0.13 0.17 0.23 0.16 0.21 0.29| - - -
i Cast 320 - 11 | 16 | 21 0.04 0.06 0.08|0.08 0.10 0.14 0.09 012 017 010 014 0.19 013 0.17 0.23 016 0.21 0.29| - - -
shan - 320 Rm400 | 11 | 16 @ 21 0.04 0.06 0.08|0.09 0.12 0.17 0.10 0.14 0.19|0.13 0.17 0.23 0.16 0.21 0.29 0.19 0.26 0.35| - - -
Tatardum AlIny a+B&%@EUt o+ alloys cured - Rm1050 | 11 | 16 | 21 0.04 0.06 0.08|0.08 0.10 0.14 0.09 0.12 0.17|0.10 0.14 0.19 0.13 0.17 0.23 0.16 0.21 0.29| - - -
DA FE TR 5T Harden 400 | 1365 . 10 13 0.04 0.06 0.08 0.08 0.10 0.14 0.10 0.14 n.19|u.1z 0.16 0.22 0.16 0.21 0.29 0.21 0.28 0.39/0.23 0.31 0.43
Wear PlateHardox, AR400, T-1, SA5HE Harden 500 | 1600 = = - - - 5 = = 2 = o > | = = = = = = g = = = = =
TN 50 Harden 300-400 |1020-1365 9 13 | 16 0.04 0.06 0.08|0.08 0,10 0.14 0.10 0.14 0.19|0.12 0.16 0.22 0.16 0.21 0.29 0.21 0.28 0.39 0.23 0.31 0.43
hasel SRR Harden a00-500 | 1365+ | - - = = - = | = - = = - - | = - = | = - - - = = - =
E‘%‘J:;ﬁ}’éﬁﬂ’-]tﬂﬁﬂ%é‘iu}@%ﬂﬁj&a %‘Eﬁﬁ5—5|}\ 7-8D. 8-12D. 12-14D. 14_220%%%5”5?' *E?EIIR;@%E&‘I&%@-: Nmle: Iget;:n:mer;es;m::d;i:J;tmg parameters are baecd on the 3-4D seres. When using series 5-6D/7-80/8-12D/12-14D/14-22D etc, the parameters should be appropriately reduced according
1 ndition.
Z#8:3-4D%5=100%; 5-6D. 7-8DFF|=80%LLTF; =8-12D%5=70%LL . Parameter: 3-4D series=100%, 5-6D/7-8D series=below 80%, =8-12D series=below 70%.
@ = | Shovel drill v | shoveldril @D




ZFLE-' %U _E Custom card ZE %U :: Custom card

ek DR ek D FF b K

Special holder custom made Special holder custom made
(] {88 Inquiry (] JEM Order 1 i@ Inquiry [0 M Order
/AT] Company EF4%S Customer number /A5] Company EF4R= Customer number
BEF A Contact Person EiE Tel Bt% A Contact Person EBiE Tel
FHLM.B {EE Fax FHLM.B €5 FaX
ik Add BT BB E-Mail itk Add BB E-Mail
iT£5= Order number WOSE#58 Order Quantity iTE5E Order number ML Order Quantity
ZZf5HA Delivery ZZE5HA Delivery
MIKHMDEER MIKHMDEES
A HOLE #hI+#¥ MATERIAL TO BE PROCESSED FL.HOLE #EhNIT#3¥ MATERIAL TO BE PROCESSED
[J SEFL THROUGH HOLE (] &7l BLIND HOLIE O] %3z CARBON [ $@&+& COPPER ALLOY [J iBFL THROUGH HOLE [J S7L BLIND HOLIE O] B0 CARBON [ @& COPPER ALLOY
ERILZE:_ om GILFEE:_ mm [ &EMALLOY STEEL [ ZFEE{MHARDENED STEEL ERIE . mm ERILFEE:_ mm O &%4MALLOY STEEL [ FHP4MHARDENED STEEL
APERTURE DEPTH [] A~45HWSTAINLESS STEEL [1 $R&+E NICKEL ALLOY APERTURE DEPTH (1 ZEBHMSTAINLESS STEEL [ $#2&< NICKEL ALLOY
NI %% PROCESSING METHODS O] $58ECAST IRON O] $2&& ALUMINUM INI%i% PROCESSING METHODS O] $58ECAST IRON O 424 ALUMINUM
O EWET O FzLorY O & TITANIUM [1 Efth OTHER O EFWET ) FzLorY [l §k&+< TITANIUM (] Efts OTHER
&H7%5 3 COOLING 253 COOLING
(] #SEXTERNAL COOLING [ P94 COOLED (] HF4SEXTERNAL COOLING [ P9/% COOLED
FERZHARDNESS (HRC, HB) FTAIARAETENSILE STRENGTH (N/mm2) TERZHARDNESS (HRC, HB) FURIBRMAETENSILE STRENGTH (N/mm2)
13 FAATLERMACHINE {3 FRATLERMACHINE
igtERs FUTEMODALITY: (] EHESTRAIGHT ] $HEHEHELICAL JJH /2 BLADE COATINE:TiCN (1, TiN[J, TiALNCI, & (0, 0
E

F 6 TIRZB INSERT TYPE
tHEREIT SHANK TYPE

C

A %4%%\ —~—_ ) . O] (UEIEZAR FLANGED SHANK
| : { ) o]
| . o

L
[ MIERESR LATHE SHANK © ©

c | G ]
ra O O O O O
o "
\ Rep “ [] SEEESHE MORSE TAPER B8 (FMEEY) OTHER TYPE (CUSTOMIZABLE)
s | I Nr
: il
A B C D: E F G H
IR ANRERREL_EAE, FA S FACHTO0LSHRE « IR AR L EAIES, FA 4 A CHTOOL SR «
TIP:IF NOT STATED ABOVE, AND WE WILL USE THE STANDARD CHTOOLS TIP:IF NOT STATED ABOVE, AND WE WILL USE THE STANDARD CHTOOLS
&4 SIGATURE: E1HA DATE: Z 4 SIGATURE: EHA DATE:

€@ # | shoveldri v | shoveldril @D




' & E.H@%ﬁ'j'%%ﬁ% Adjustable point drill bit

] U Sk R AR S

Characteristics and advantages of interchangeable bit

F

ﬂ'ﬁE Introduction

- ADJEJiEEhseTUERsk, 2PN — S EE. DTRERLRE, BEFrADIHk. ZLT) A S REEL, WETENEEITRE
TR —HEH, BEE, AKRD TR AET.

- JEEFEE ©10.007®30.99mm, $#5FLRE3/930/50/70/100/120; 71 A #BEEERES &SRS RN, LEEMNTAMEA
EigitEspihs: ERthR. TENANS. HirAths. AELERMKR.

- RN, EMRELZIEEENRS, TUHRNAREESR.

« AD] replaceable point bit is a high-performance, variable diameter bit system newly launched by Chuanshanjia, referred to as AD] bit. The bit blade fits flexibly with
the drill pipe to meet different diameters and depths. Multi-purpose, controllable precision, greatly reduce the input and inventory of cutting tools.

+ Tool diameter range of ®©10.00"®30.99mm, drilling depth is divided into 3D/5D/7D/10D/12D; The blade material has two kinds of hard alloy and high performance powder
high speed steel, according to the different design of processing materials have 4 kinds of drill tip:universal drill tip, stainless steel drill tip, cast iron drill tip,

non-ferrous metal drill tip.
- Best materials, top coating technology and precision grinding to achieve the best performance.

fis Advantages

- REAN S IR ER eI R RS, BIDITEERIRIE.

- BERIRLLAVEVESTEN, IEERIIERERN—, RETSE.

- EIREMIERAREEN, AL EHNERERISE.

- EEREEME MR RSENERS, olifESERECNCERRIFI E B AR .

- Stable and easy to operate replaceable drill tip structure that can be operated online.

+ Lock screw and V-type combination positioning, the drill tip and drill pipe keep the same force, stable and reliable.

- High strength drill tip structure, large feed drilling is also reliable.
+ Carbide and high performance powder high speed steel drill point can meet high performance CNC drilling and ordinary machine drilling.

RIFASRtE  Application field

EEESRDA MERSEND A

—REES, MEGYF, NRTHRMR. SU8%FER. T — R BEEFNATREEERR, IR, ERER.
RS EHEHUARR PR

Given their high hardness and wear resistance, the inserts are used for high With high chipping resistance, the inserts are used forlow-to-medium speed

speed drilling on CNCdrills, CNC lathes and machining centers. drilling on various radial drillingmachines,vertical drilling machines, common
lathes andCNC machine tools.

@ Alishocthsk | Adjustable point drill bit



}ﬁ%ﬁ zls %5 % % zls Poog
4 E.I x~ Adjustable point drill bit | 4 E.Hﬁ IEWI'EIJJ_?E Adjustable point drill bit
T %5 i 5 L)
Model coding rule
* ADJ§&LTIR  ADJ bit blade
- - A g el
ADJGO0—PA41050 —
(- Zlé ‘30”50”70”100”120‘
| | | | =
KE MR FhocseRl JIRERE | ADJ1000/1049-3D-L16 3D 101 37 48 16 24
Big type Insert Material Drill point Insert Diameter ADJ1000/1049-50-L16 5D 131 67 18 16 21
ADISRB BT TE sk -BEAS PA-E S 1050-10. 5 ADJ60-PA100D 10.0 ADJ1000/1049-7D-L16 10.00-10. 49 141 77 | 48 | 16 24
| ADJ1000/1049-100-L16 100 171 107 | 48 | 16 24
W-AREEN MA-T B ESSR ADJ1000/1049-120-L16 120 191 127 | 48 | 16 | 24
KA-Sh AL ADJ1050/1099-3D-L16 3 101 37 | 48 | 16 24
: ADJ1050/1099-5D-L16 50 | 131 67 | 48 | 16 24
E S NA-B B EER SR ADI60-PA1050 10.5 ADJ1050/1099-7D-L16 = 10.00-10.99 70 | 141 77 | 48 | 16 24
ADJ1050/1099-10D-L16 10 | 171 107 | 48 | 16 | 24
‘Carbid% rgirr;ci;o ‘HPC‘ ' ADJ1050/1099-120-L16 120 | 191 127 | 48 | LI o
ADJ1100/1149-3D-L16 3D 104 40 | 48 | 16 24
BESSTIE :-ADJ11IJIJ/1149—5D—L16 5D 137 73 48 | 16 2
Carbide inseries M ADJ0-PA110D 11.0 ADJ1100/1149-7D-L16 11.00-11.49 7 | 148 84 | 48 | 16 24
P4 - R o | ADJ1100/1149-100-L16 Clob | 181 117 | 48 | 16 24
A 8 . | ' 5 ADJ1100/1149-120-L16 120 | 203 139 | 48 | 16 24
KA " ADJ1150/1199-3D-L16 3 104 40 | 48 | 16 24
NA . ' ADJ1150/1199-5D-L16 | Csp 137 73 | 48 | 16 | 24
ADJ60-PA1150 11.5 ADJ1150/1199-7D-L16 11.00-11.99 D | 148 84 | 48 | 16 24
| ADJ1150/1199-100-L16 10 181 117 | 48 | 16 | 24
ADJ1150/1199-120-L16 120 | 203 139 | 48 | 16 | 24
' ADJSESLTIFF  ADJ drill shank ADJ1200/1249-3D-L16 3D | 108 43 | 48 | 16 24
| ADJ1200/1249-5D-L16 5 | 144 79 | 48 | 16 24
5 0 / 1]- . 9 3 T 1]- - ADJ60-PA1200 12.0 ADJ1200/1249-7D-L16 = 12.00-12.49 | D 156 Ol 48 | 16 2
A_] Jl) J i )9)_ J /_)_LV_. @ ADJ1200/1249-10D-L16 100 | 192 127 | 48 | 16 24
ADJ1200/1249-120-L16 120 | 216 151 | 48 | 16 24
ADJ1250/1299-3D-L16 3 108 43 | 48 | 16 24
17 ADJ1250/1299-5D-L16 50 144 79 | 48 | 16 24
ADJ60-PA1250 12.5 | ADJ1250/1299-7D-L16 12.00-12.99 D 156 91 | 48 | 16 | 24
KE BiE RAINIFF JIRER ADJ1250/1299-100-L16 00 192 127 48 | 16 24
Big type The diameter of Maximum machining hole depth The handle diameter ADJ1250/1299-120-L16 120 216 | 151 | 48 | 16 24
ADIFRFI s A S E L 1050/109955:7 30-3%D1 L16-16mm ADJ1300/1349-3D-L16 3 11 46 | 48 | 16 24 .52 T
ADJ1300/1349-5D-L16 50 150 8 | 48 | 16 24
B/NRZET]F ®©10.50mm, 20301 L20-20m ADJ60-PA1300 13.0 ' ADI1300/1349-7D-L16 13.00-13.49 M 163 98 | 48 | 16 24
FAZETIF 010,99 ] 125-25m ADJ1300/1349-100-L16 w1 @ 16
ADJ1300/1349-120-L16 120 | 228 163 | 48 | 16 | 24
001001 g ADJ1350/1399-3D-L16 3D 111 46 | 48 | 16 24
R . | ADJ1350/1399-5D-L16 | sp | 150 85 | 48 | 16 | 24
ADJ60-PA1350 13.5 ADJ1350/1399-7D-L16 13.00-13.99 163 98 48 | 16 24
T ADJ1350/1399-10D-L16 100 2202 137 | 48 | 16 | 24
[E él\% ‘ =0 ‘ ‘ 2D ‘ ‘ m \ ‘1OD‘ ’12D‘ | ADJ1350/1399-12D-L16 10 228 163 48 | 6 | 24
@ Akt | Adjustable pointdril bt BIffaghoeshsk | Adiustable point dril bi @




p AJHREESCEhSk  Adjustable point drill bit

=

150 8766

V
7

A

"%

7

7D ‘ ‘IOD’ ‘IZD‘

11| 12|13 |p2|D3
ADJ1400/1449-3D-L20 120 49 50 20 28
ADJ1400/1449-5D-L20 5D 162 91 ‘ 50 20 28
ADJ60-PA1400 14. 7 ADJ1400/1449-7D-L20 14.00-14.49 7D 176 ' 105 ‘ 50 20 28
ADJ1400/1449-10D-L20 10D 218 A 147 A 50 20 28
ADJ1400/1449-12D-L20 12D 246 | 175 50 20 28
ADJ1450/1499-3D-L20 3D 120 49 50 20 28
ADJ1450/1499-5D-L20 5D 162 91 50 20 28
ADJ60-PA1450 14, ADJ1450/1499-7D-L20 14.00-14.99 7D 176 ‘ 105 ‘ 50 20 28
ADJ1450/1499-10D-L20 10D 218 | 147 50 20 28
ADJ1450/1499-12D-1L20 12D 246 ‘ 175 ‘ 50 20 28
M3.0%14

ADJ1500/1549-3D-L20 3D 123 52 50 20 28
ADJ1500/1549-5D-L20 5D 168 - 97 50 20 28
ADJ60-PA1500 15. ADJ1500/1549-7D-L20 15.00-15.49 7D 183 - 112 - 50 20 | 28
ADJ1500/1549-10D-L20 10D 228 | 157 50 20 28
ADJ1500/1549-12D-L20 12D 258 ‘ 187 ‘ 50 20 28
ADJ1550/1599-3D-L20 3D 123 52 50 20 28
ADJ1550/1599-5D-L20 5D 168 ‘ 97 | 50 20 28
ADJ60-PA1550 15; ADJ1550/1599-7D-L20 15.00-15.99 7D 183 | 112 50 20 28
ADJ1550/1599-10D-L20 10D 228 ‘ 157 ‘ 50 20 28
ADJ1550/1599-12D-L20 12D 258 | 187 50 20 28

ADJ1600/1649-3D-L20 3D 127 56 ‘ 50 20 28 o
ADJ1600/1649-5D-L20 5D 175 A 104 A 50 20 28
ADJ60-PA1600 16. | ADJ1600/1649-7D-L20 16.00-16. 49 7D 191 | 120 50 20 28
i ADJ1600/1649-10D-L20 10D 239 ‘ 168 ; 50 20 28
| ADJ1600/1649-12D-L20 12D 271 | 200 50 20 28
| ADJ1650/1699-3D-L20 3D 127 56 50 20 28
ADJ1650/1699-5D-L20 5D 175 | 104 50 20 28
ADJ60-PA1650 16. ADJ1650/1699-7D-L20 16.00-16.99 7D 191 ' 120 ‘ 50 20 28
ADJ1650/1699-10D-L20 10D 239 | 168 50 20 28
ADJ1650/1699-12D-L20 12D 271 | 200 50 20 28

ADJ1700/1749-3D-L20 3D 131 60 50 20 28 130116

ADJ1700/1749-5D-L20 5D 182 111 50 20 28
ADJ60-PA1700 17. ADJ1700/1749-7D-L20 17.00-17.49 7D 199 ‘ 128 ‘ 50 20 28
ADJ1700/1749-10D-L20 10D 250 | 179 50 20 28
ADJ1700/1749-12D-L20 120 284 ‘ 213 ‘ 50 20 28
ADJ1750/1799-3D-L20 3D 131 60 50 20 28
ADJ1750/1799-5D-L20 5D 182 ‘ 111 ‘ 50 20 28
ADJ60-PA1750 L7 ADJ1750/1799-7D-L20 17.00-17.99 7D 199 | 128 50 20 28
ADJ1750/1799-10D-L20 10D 250 | 179 50 20 28
ADJ1750/1799-12D-L20 12D 284 ‘ 213 50 20 28

m AasEREESL | Adjustable point dril bit

» BJHRERSCThSk  Adjustable point dril bit

f]:m1 %'% ‘30”50”70“100”120‘
27,
7 ADJ1800/1849-3D-L20
ADJ1800/1849-5D-L20 5D 190 117 50 | 20 28
ADJ60-PA1800 18. [ ADJ1800/1849-7D-L20 18.00-18.49 7D 7 208 135 7 50 | 20 28 |
| ADJ1800/1849-10D-L20 10D 7 262 189 7 50 ‘ 20 28
ADJ1800/1849-12D-L20 120 298 225 50 20 28
ADJ1850/1899-3D-L20 3D 136 63 50 | 20 28
ADJ1850/1899-5D-L20 5D 190 117 50 20 28
ADJ60-PA1850 18. ADJ1850/1899-7D-L20 18.00-18.99 7D . 208 135 l 50 20 28
ADJ1850/1899-10D-L20 10D 262 189 50 | 20 28
7 ADJ1850/1899-12D-L20 120 7 298 225 ' 50 | 20 28
ADJ1900/1949-3D-L20 3D 140 67 50 | 20 28 e
I ADJ1900/1949-5D-L20 . 5D - 197 . 124 - 50 I 20 28
ADJ60-PA1900 19. - ADJ1900/1949-7D-L20 [ 19.00-19.49 7D [ 216 | 143 - 50 | 20 28
ADJ1900/1949-10D-L20 10D 273 200 50 | 20 28
ADJ1900/1949-12D-L20 ! 120 . a1l 238 l 50 | 20 28
ADJ1950/1999-3D-L20 3D 140 67 50 | 20 28
ADJ1950/1999-5D-L20 5D . 197 124 l 50 l 20 28
ADJ60-PA1950 19. ADJ1950/1999-7D-L20 19.00-19.99 7D 216 143 50 20 28
- ADJ1950/1999-10D-L20 10D - 273 200 ' 50 20 28
ADJ1950/1999-12D-L20 120 311 238 50 20 28
ADJ2000/2099-3D-L25 3D 154 72 56 25 35 151
7 ADJ2000/2099-5D-L25 5D 7 214 132 l 56 25 35
ADJ60-PA2000 20. ADJ2000/2099-7D-L25 20.00-20.49 7D 234 152 56 25 35
ADJ2000/2099-10D-L25 ! 10D . 294 212 l 56 | 25 35
ADJ2000/2099-12D-L25 120 334 252 56 | 25 35
ADJ2000/2099-3D-L25 3D 157 75 56 | 25 35
ADJ2000/2099-5D-L25 5D 220 138 56 | 25 35
ADJ60-PA2050 20. 7 ADJ2000/2099-7D-L25 20.00-20.99 7D 7 241 159 ' 56 | 25 35
ADJ2000/2099-10D-L25 10D 304 222 56 | 25 35
ADJ2000/2099-12D-L25 12D 346 264 56 | 25 35
ADJ2100/2199-3D-L25 3D 157 75 56 | 25 35 .00
ADJ2100/2199-5D-L25 5D 220 138 56 | 25 35
ADJ60-PA2100 21. | ADJ2100/2199-7D-L25 21.00-21.49 7D . 241 159 l 56 | 25 35
ADJ2100/2199-10D-L25 10D 304 222 56 | 25 35
ADJ2100/2199-12D-L25 ‘ 120 . 346 264 | 56 | 25 35
ADJ2100/2199-3D-L25 3D 157 75 56 | 25 35
- ADJ2100/2199-5D-L25 5D - 220 138 ' 56 | 25 35
ADJ60-PA2150 22, ADJ2100/2199-7D-L25 21.00-21.99 7D 241 159 56 | 25 35
ADJ2100/2199-10D-L25 10D 304 222 56 | 25 35
. ADJ2100/2199-12D-L25 12D - 346 . 264 56 | 25 35

EIMEEhAHhSL | Adustable point dil it @




» AJHREESCEhSL  Adjustable point drill bit

Q‘E glg ‘SDHSD‘ 7DH10DH12D‘

Cla%?iﬂ RF
L2 | 13 | p2 | D3
ADJ2200/2299-3D-L25 79 56 25 35
ADJ2200/2299-5D-L25 5D 227 145 56 25 35
ADJ60-PA2200 22.0 ADJ2200/2299-7D-L25 22.00-22.49 7D 249 167 56 25 35
7 ADJ2200/2299-10D-L25 10D 315 A 233 ‘ 56 25 35
ADJ2200/2299-12D-L25 12D 359 277 56 25 35
ADJ2200/2299-3D-L25 3D 161 79 56 25 35
ADJ2200/2299-5D-L25 5D 227 145 56 25 35
ADJ60-PA2250 22.5 ADJ2200/2299-7D-L25 22.00-22.99 7D 249 ‘ 167 ‘ 56 25 35
ADJ2200/2299-10D-L25 10D 315 233 56 25 35
ADJ2200/2299-12D-L25 12D 359 ' 277 ‘ 56 25 35

M4.0%22 151IP
ADJ2300/2399-3D-L25 3D 164 82 56 25 35
ADJ2300/2399-5D-L25 5D 233 - 151 . 56 . 25 35
ADJ60-PA2300 23.0 ADJ2300/2399-7D-L25 23.00-23.49 7D 256 - 174 - 56 25 | 35
ADJ2300/2399-10D-L25 10D 325 243 56 25 35
ADJ2300/2399-12D-L25 12D 371 ‘ 289 ‘ 56 25 35
ADJ2300/2399-3D-L25 3D 164 82 56 25 35
ADJ2300/2399-5D-L25 5D 233 ‘ 151 56 25 35
ADJ60-PA2350 23.5 ADJ2300/2399-7D-L25 23.00-23.99 7D 256 174 | 56 25 35
ADJ2300/2399-10D-L25 10D 325 ‘ 243 ‘ 56 25 35
ADJ2300/2399-12D-L25 12D 371 289 56 25 35
ADJ2400/2499-3D-L25 3D 172 86 ‘ 56 25 35
ADJ2400/2499-5D-L25 5D 244 A 158 ‘ 56 25 35
ADJ60-PA2400 24.0 ADJ2400/2499-7D-L25 24.00-24.49 7D 268 182 ‘ 56 25 35
ADJ2400/2499-10D-L25 10D 340 ‘ 254 ; 56 25 35
ADJ2400/2499-12D-L25 12D 388 302 56 25 35
ADJ2400/2499-3D-L25 3D 172 86 56 25 35
ADJ2400/2499-5D-L25 5D 244 158 ‘ 56 25 35
ADJ60-PA2450 24.5 ADJ2400/2499-7D-L25 24.00-24.99 7D 268 ' 182 ‘ 56 25 35
ADJ2400/2499-10D-L25 10D 340 254 56 25 35
ADJ2400/2499-12D-L25 12D 388 302 56 25 35

ADJ2500/2599-3D-L32 3D 182 89 60 32 42 .02 201
ADJ2500/2599-5D-L32 5D 257 164 60 32 42
ADJ60-PA2500 25.0 ADJ2500/2599-7D-L32 25.00-25.49 7D 282 ‘ 189 ‘ 60 32 42
ADJ2500/2599-10D-L32 10D 357 264 60 32 42
ADJ2500/2599-12D-1L32 12D 407 ‘ 314 ‘ 60 32 42
ADJ2500/2599-3D-L32 3D 182 89 60 32 42
ADJ2500/2599-5D-L32 5D 257 ‘ 164 ‘ 60 32 42
ADJ60-PA2550 25.5 ADJ2500/2599-7D-L32 25.00-25.99 7D 282 189 60 32 42
ADJ2500/2599-10D-L32 10D 357 264 60 32 42
ADJ2500/2599-12D-L32 12D 407 314 60 32 42

@ AasEREESL | Adjustable point dril bit

» BJHRERSCThSk  Adjustable point dril bit

=

1509786

7

4;?

f/ﬂ

‘SD‘ ‘ 5DH7DH10D‘ ’lZD‘

RF
7 ADJ2600/2699-3D-L32 3D 185 92 60 32 42
ADJ2600/2699-5D-L32 5D 263 | 170 60 32 42
ADJ60-PA2600 26. ADJ]2600/2699-7D-L32 26.00-26.49 7D 289 | 196 60 32 42
VADJZGI}D/2699—1CID—L32 10D 7 367 | 274 7 60 32 42
ADJ2600/2699-12D-L32 120 419 | 326 60 32 42
ADJ]2600/2699-3D-132 3D 185 92 60 32 42
ADJ2600/2699-5D-132 5D 263 | 170 60 32 42
ADJ60-PA2650 26. ADJ2600/2699-7D-L32 26.00-26.99 7D . 289 | 196 . 60 32 42
ADJ2600/2699-10D-L32 10D 367 | 274 60 32 42
VADJZGI}D/2699—IZD—L32 120 7 419 | 326 ' 60 | 32 42
ADJ]2700/2799-3D-L32 3D 189 9% 60 | 32 42 RN
I ADJ2700/2799-5D-L32 | 5D - 270 . 177 - 60 32 42
ADJ60-PA2700 27 -ADJZTI}D/ZTQQ—TD—LBZ | 27.00-27.49 7D [ 297 | 204 - 60 32 42
ADJ]2700/2799-10D-L32 10D 378 | 285 60 32 42
ADJZ?DD/ZTQQ—IZD—LBZ‘ 120 . 432 | 339 l 60 32 42
ADJ2700/2799-3D-L32 3D 189 9% 60 32 42
ADJ]2700/2799-5D-L32 5D . 270 | 177 . 60 32 42
ADJ60-PA2750 27 ADJ2700/2799-7D-L32 27.00-27.99 7D 297 | 204 60 32 42
-ADJZTI}D/ZTQQ—ICID—BZ 10D - 378 | 285 ' 60 32 42
ADJ2700/2799-12D-L32 120 432 | 339 60 32 42
ADJ]2800/2899-3D-L32 3D 192 99 60 32 42 20t
7 ADJ]2800/2899-5D-132 5D 7 276 | 183 l 60 32 42
ADJ60-PA2800 28. ADJ2800/2899-7D-L32 28.00-28.49 70 304 | 211 60 32 42
ADJZSDD/ZSQQ—IOD-BZ‘ 10D . 388 | 295 . 60 32 42
ADJ]2800/2899-12D-L32 120 444 | 351 60 32 42
ADJ2800/2899-3D-L32 3D 192 99 60 32 42
ADJ2800/2899-5D-L32 5D 276 | 183 60 32 42
ADJ60-PA2850 28. 7 ADJ]2800/2899-7D-L32 28.00-28.99 7D 7 304 | 211 ' 60 32 42
AD]2800/2899-10D-L32 10D 388 | 295 60 32 42
ADJ2800/2899-12D-L32 12D 444 | 351 60 | 32 42
ADJ]2900/2999-3D-L32 3D 196 | 103 60 | 32 42 . 0128
ADJ2900/2999-5D-L32 5D 283 | 190 60 | 32 42
ADJ60-PA2900 29. 7ADJ2900/2999—TD—L32 29.00-29. 49 70 . 312 | 219 l 60 | 32 42
ADJ2900/2999-10D-L32 10D 399 | 306 60 32 42
ADJZQI}DIZQQQ—IZD—LH‘ 120 . 457 | 364 . 60 32 42
ADJ2900/2999-3D-L32 3D 196 | 103 60 32 42
-ADJZEIDD/ZQQQ—SD—BZ 5D - 283 | 190 ' 60 32 42
ADJ60-PA2950 29. ADJ]2900/2999-7D-L32 29.00-29.99 7D 312 | 219 60 | 32 42
ADJ2900/2999-10D-L32 10D 399 | 306 60 | 32 42
.ADJZEIDD/ZQQQ—IZD—BZ 120 - 457 . 364 60 | 32 42

EIMEEhAHhSL | Adustable point dil it @




» ﬂ}ﬁ%ﬁg&%ﬁ% Adjustable point drill bit ) 2 E.Hﬁ%ljjgeiljj% Adjustable point drill bit

AR S e ]

Essentials of use and precautions

“ | vE Assembly

R SHREEN TR EREND REFGSILMNBERERN. HEIFETH. RESTHNRRER, BREAGRELSHIE. FREN

e TResleshsL e,
| A%
g‘é 3D 5D 7D 10D 12D The stability of the applications is essential for optimal tol 1fe and hole accuracy. Guarantee the maximum stability and rigidity by checking theholding of the machine tool
i aith spindle, fixtures and workpiece. Unstable operating conditions will cause fracture of drills bits.
W | T - ‘ N
Clamp screw  Wrench RAMESFIRLE  Max. Runout and Misalignment

L2 (HESRN B2 AN DA :
ADJ3000/3099-3D-L32 106 60 32 42
ADJ3000/3099-5D-L32 5D | 289 196 60 | 32 @ 42 7/ EILE

! Runout Misalignment
ADJ60-PA3000 30.0 ADJ3000/3099-7D-L32 30.00-30.49 70 319 226 60 32 42
ADJ3000/3099-100-L32 100 | 409 316 60 | 32 4 c _
ADJ3000/3099-12D-L32 12D 469 376 60 32 42
M5. 0+28 20IP
ADJ3000/3099-3D-L32 3D 199 106 60 32 42
ADJ3000/3099-5D-L32 5D 289 196 60 32 42
ADJ60D-PA3050 30.5 ADJ3000/3099-7D-L32 30.00-30.99 7D 319 226 60 32 42 ©
ADJ3000/3099-10D-L32 10D 409 316 60 32 42 ©
ADJ3000/3099-12D-L32 120 469 376 60 32 42
Max. 0. 02mm

]J H. Ij{‘l % % Max/.u.DBm

Installation procedure

“ EHED Cooling Pressure

PIERHAD ShapnH HETFIEIE

Inner cooling Outer cooling Quasi-dry cutting

EEEED 72 08N m)
Range of Diameter ® Tightening Torque (Nm)

10.0-13.99 0.6

14.0-17.99 1.2

18.0-23.99 2.2

24.0-27.99 3.3

28.0-30.99 5.0

i At 3
®ﬁ5ﬁe“’”’”ﬂiﬁuﬂﬁg' 3XD:Sbar 3XD:Sbar 3XD:5bar
®4§II”+' iﬁ)\ﬂﬁﬁﬁ%m&ﬁﬂh ’ . - _ 5XD:10bar 5%D:10bar X
QFEESMERIET) A . BRHAP#ERADERFHENEDEENEN .
7XD:15bar 7XD:15bar X

@ Clean the blade and blade slot with compressed air; . .
@Insert the blade into the knife rod mounting slot and press the blade gently. 1OXD:20bar AN 2N %
(3 Lock the blade with fastening bolts. Users with conditions recommend using torque wrenches to lock the locking torque value as shown in the figure. 12XD:20bar 12XD:20bar X

[TD aimtiontisl | Adjustable point orl b AIatkoRthisk | Adjustable pointdrl bit @




) & E.Hﬁ'flﬁé’%%ﬁ% Adjustable point drill bit

DAL e ]

Essentials of use and precautions

- %&Eﬁﬂﬁﬁ)ﬁ Standardfor drill bit replacement

Eiﬁﬂlﬁ Wear limit

= MR Application

BEEEIR:

Carbide insert:

HSS-PM insert:

VB=0. 3mm

——— HERSENIIA: VB=0.4mm

1 BA

izl

Instructions Instructions
EIREAEE ‘
The entry surface is slanted I IﬁEJFSFE
HimHes s ; The entry surface is welded
Slope Feed Rate [ MImkRE
<3° 50% 1 Level it through spot facing before machining
T
HBER
HHAHE % Stacked plates
L nl N
The outlet is slanted | E‘;J:ﬂ:mu R
= owed in principle
Rimig |
$m@£im ! RERFHTHES
3° 50% | The workpiece shall be properly clamped
; AR REAER
There must be no gaps between the plates
TR a3l
The entry surface is arc
T DAL IR R 2R LI HhBUE
Drilling at the center at reduced Cavities
feed rateis allowed FoIBL
PhietE R ATEIE - LR S 2T Not allowed
Spot facing is required if the entry
pointis not at the center of the arc
+ shmey * ERER ekt
% ‘ Through hole I Step on the entry surface
! - Y
A== 7} AATLL ARBILA (Fh5tBIA s iio ZF E)
Not allowed | Not allowed (the entry point must be on

a horizontal plane)

@ AasEREESL | Adjustable point dril bit

» BJHRERSCThSk  Adjustable point dril bit

KieRHEH 1.2

Long diameter series drilling process

TEE R
275mm

275mm
from the
bottom

@ @ ©)

DFEs L5 SFLEIDT. 5D

Drill a pilot hole to 1D to 1 .5Dwith a short drill bit

OIEEEIEFEEFHASIFIL

Enter the pilot hole at a low speedand low feed rate
OILHARIFER2 3%

Keep the coolant for 2 to 3s

@EHEFNS BIESIN T H O FHEREIHS

Carry out continuouSpeeddirlling according to therecommended parametersReduce the speed and feedrate at the outlet

EIMEEhAHhSL | Adustable point dil it @



| 4 tJ] ﬁ'U % M Cutting parameters

» tNHIZ 28

Cutting parameters

©10.00-11.99mm

©12.00-13.99mm

©14.00-15.99mm

HEEE mymmr
©16.00-19.99mm|

@©20.00-25. 99mm

m26003299mn{

©33.00-39.99mm

_ i1
BREETIRERT  Ccamide blade series HE am R t\yo(ﬁniln%r?
. - BEE N/mm®
150 AN T ApH i HB RN EE BX
Material Heattreatment Min.  Recommended  Max.
<0.25%C | BN Annealed 100-150  370-500 @ 84 120 156
SHIER Y13 1215 1.0736 ;
Kl el is e Y Z0.25%C | RN mealed 175225 600-775 77 110 143
<0.55%C  SENFIVERR uenched and tempered 225-275 | 775-940 @ 70 100 130
B, S5Hs 45 1045 1.0503 i) 2 -
oG e bish e oo =0.555¢ | BN Anneale | 275-325  940-1090 56 80 104
BN FIARR quenched and tempered 300 1000 49 70 91
BN Annealed 175-225 = 600-775 | 74 105 137
EESMN » ‘
Lowcallloy steel SEN Annealed 225-275 | 775-940 | 70 100 130
40Cr 5140 1.7035 3B ameates | 275-325  940-1000 63 117
42CrMo 4140 1.7225 BN e | 9 7 20
AR Tempered 325-375 1090-1265 53 75 98
SR, TEWN, i, {EH BN Annealed 225-300 600-1020 49 70 91
High alloy steel, tool steel, Cast steel
Crl2,D3,1.2080; 4Cr5MoSiV, H13, 1.2344 | B Tempered | 300-350 1020-1180 42 60 78
%ﬁﬁ/&&ﬁﬁiﬁi@ 0Cri3 403 1.400 %*ﬁﬁi Ferrtic 185-275 640-940 35 50 65
Stainless steel Ferritic/martensitic 2Cr13 410 1.4021 DL FCAR Martensitic 275-350 | 940-1180 42 60 78
o AR 0Cr18Nio 304 1.4301 SEN /B annealed/Harden 135185 480-640 39 55 T2
Stainless steel Austenitic OCr17NillMo2 316 1.4401 SEAE+SRGME Cast+Unhandled 185-275 | 640-940 39 55 72
M
BRIEFEN N<0.1% | >60%EETEH Ferrtic 135-185 @ 480-640 @42 60 78
SUperDuplex. Srainless Steel NZ0.1% | <60%EEZEfk Ferrtic 185-275 | 640-940 @ 35 50 65
RO HT200  NO.30  GG20 | BRIRHA Ferrtic | 120-150 @ 430-500 76 108 140
Grey cast iron  HT250  NO.35 6625 BRJEAR pearlitic \ 150-200 500-700 69 99 129
Cast iron nodular QT600-3 80-60-03  GGG6O ‘ BESKAK pearlitic ‘ 220-260 | 755-890 @ 63 90 107
TR | R Ferrtic \ 120-150 = 430-500 63 90 117
Malleabie cast iron PRMLAR pearlitic \ 260-320  890-1020 63 90 117
= | SEUL Mot cureabie L3 100 105 150 195
L stinn | Bfbcured \ 180 600 | 91 130 169
' SREHE Not cureabie \ 30 100 105 150 195
548 =12% Si
i | BHE cured | 180 600 91 130 169
>12% S1 ‘ SIR4LIE High temperature ‘ = = 91 130 169
\ 5] Free cutting \ 100-200 = 370-670 @ 105 150 195
ik e >1%Pb | 54 brass | 200-250  670-855 105 150 195
‘ EfiZ4 Flectrolitic copper ‘ 100 370 105 150 195
zﬁ*%i?%ll ‘ IAFIFIEFHE uroplastics fiber plastlcsl - - 105 150 195
A
o fetasiie | FEKRIEE Hard rubber | 6D 200 105 150 195
g BN Amealed | 140-220 480-755 32 45 59
Fe base | @tk cyred 223-310 | 755-990 @ 25 35 46
fSmETi Hioh Temp. ALloy SBIN Annealed 250 = 25 35 46
Hastelloy B, Inconel 600, @EE’Z%E
| BHE cured 350 - 25 35 46
P cast 320 - 25 35 46
#as - 320 Rm400 25 35 46
Titanium Alloy a+B&RENt a+8 alloys Cured - Rm 1050 = 25 35 46
ISR | AT Harden ‘ 400 1365 21 30 39 I
Wear PlateHardox, AR400, T-1, 55K Harden ‘ 500 1600 g5 21 30
AR \ SEEHE Harden \ 300-400 1020-1365 28 40 52
Hardened Steel SEH® Karden | 400-500 1365+ 18 25 35

AR EEEEFOUIHISEL0E . H{ERIS0. 70, 10D, 120EUET, RIE TSN EHHAE. 55 :3D8=100%. 5DH=80%. 7DEL=70%,
2. U BIHSSBE AL R 3 FAMQL

10DEY=60%. 12DEY=50%LLTF;

@ afishoethsk | Adjustable point drill bit

(iEnEs

#AAHR) .

BN ¥E B B EE ‘%jc BN #E BX B0 BE BL B BE BA B BB B.ﬁjc BN BE BA

in. Max. | Min. Hemmdedl Max. | Min. Recovmended Max. = Min. Recommended Max. | Min. Recommended Max. = Min. Recommended Max.  Min.  Recommended) Max.
0.13 018 0.23 0.14 0.20 0.2 0.18 025 0.33 0.22 032 041 0.24 035 045 0.27 0.38 049 0.28 0.40 0.5
013 018 0.23 0.4 0.20 0.26 0.18 0.25 033 0.2 032 0.41 024 0.35 045 0.27 038 049 0.28 0.40 0.5
0.13 0.8 0.23 0.14 0.20 0.26 0.18 0.25 033 0.22 0.32 0.41 0.24 0.35 0.45 0.27 0.38 0.49 0.28 0.40 0.52
0.13 018 0.23 0.14 0.20 0.2 0.18 025 0.33 0.22 032 041 024 035 045 0.27 0.38 049 028 0.40 0.5
011 016 0.21 0.3 0.8 023 016 0.23 030 0.21 030 039 02 032 0.4 025 036 0.47 0.27 0.38 0.49
013 018 0.23 0.4 0.20 0.26 0.17 024 031 021 030 0.39 0.25 0.35 046 028 040 0.52 0.2 0.45 0.5
0.13 0.18 0.23 0.14 0.20 0.26 0.17 0.24 031 021 030 039 025 0.35 046 028 040 0.52 0.32 0.45 0.59
012 0.7 022 013 019 025 0.16 0.23 030 0.20 029 0.38 0.24 0.34 0.44 0.27 039 051 031 0.44 0.5
011 016 021 013 018 0.23| 015 0.2 029 0.20 0.28 036 0.23 0.33 043 0.27 0.3 0.49 0.30 0.43 0.5
0.1 016 021 0.13 019 0.25 015 0.2 029 0.18 0.25 033 020 030 039 02 030 039 0.22 0.32 0.42
0.11 0.16 0.21 013 019 025|015 0.2 029 0.18 025 033021 030 039 021 030 0.39 0.2 032 0.4
0.9 0.14 018 0.11 016 020 012 017 022 0.15 0.2 0.28 019 0.27 034 020 029 038 0.23 0.33 0.43
0.09 0.3 0.16 0.09 0.14 018 0.11 015 0.20 0.13 0.19 0.24 0.16 0.24 0.31 0.18 0.26 0.34 0.23 0.33 0.43
0.09 0.13 0.16 0.09 0.4 018 011 015 020 0.12 018 0.23 015 0.22 0.28 0.17 0.24 031 0.23 0.3 0.43
0.09 0.3 0.6 0.09 014 018 011 015 020 0.12 018 0.23 015 022 028 017 0.24 031 0.23 0.33 0.43
0.09 0.3 0.16 0.09 0.14 018|011 015 020 0.02 018 023 0.14 021 027 0.16 0.23 0.30 0.23 0.3 0.43
0.00 0.13 016 0.09 0.14 018|011 015 020 012 018 023 014 021 0.27 016 0.2 0.30 0.23 0.33 0.43
0.18 0.25 0.3 0.20 0.29 038|026 0.37 048 0.28 041 053 032 045 050 0.34 048 0.63 0.35 050 0.65
018 0.25 033 0.20 0.2 0.38 026 0.37 048 0.28 0.41 0.53 0.32 0.45 0.5 0.34 0.48 0.63 0.35 0.50 0.65
0.18 0.25 0.33 0.20 0.29 0.38|0.26 0.37 0.48 0.28 041 0.53 032 0.45 0.5 0.34 0.48 0.63 0.35 0.50 0.65
018 0.25 0.33 0.20 0.29 038 0.26 0.37 0.48 0.28 0.41 053 032 0.45 0.59 0.34 048 0.63 0.35 0.50 0.65
0.18 0.25 0.3 0.20 0.29 038|026 037 048 0.28 041 053032 045 059 0.34 048 0.63 0.35 050 0.65
0.18 0.25 033 0.20 0.29 0.38 026 0.37 048 0.28 0.41 0.53 032 0.45 0.5 0.34 0.48 0.63 0.35 0.50 0.65
0.18 0.25 0.33 0.20 0.28 0.3 0.26 0.37 0.48 0.28 0.40 0.52/0.32 0.45 0.5 0.35 0.50 0.65 0.39 0.55 0.72
0.18 0.25 0.3 0.20 0.28 0.36 026 037 048 0.28 040 0.52 0.3 0.45 0.59 0.35 0.50 0.65 0.39 0.55 0.72
018 0.25 033 0.20 0.28 0.36 026 0.37 048 0.28 0.40 0.52 0.32 0.45 0.5 0.35 0.50 0.65 0.39 0.5 0.72
0.18 0.25 0.33 0.20 0.28 0.3 |0.26 0.37 0.48 0.28 040 0.52/0.32 0.45 0.5 0.35 0.50 0.65 0.39 0.55 0.72
0.18 025 0.33 0.20 0.28 0.36 0.26 037 048 0.28 040 0.52 0.3 0.45 059 0.35 0.50 0.65 0.39 0.5 0.72
0.18 0.5 0.33 020 0.28 0.3 0.26 0.37 0.48 0.28 040 0.52 0.32 0.45 0.59 0.35 0.50 0.65 0.33 0.5 0.72
018 0.25 033 0.0 0.8 0.3 0.2 037 048 0.28 040 052 0.32 045 05 0.35 050 065 0.3 0.5 0.7
0.18 0.25 0.33 0.20 0.28 0.3 0.26 0.37 0.48 0.28 0.40 0.52 0.32 0.45 0.5 0.35 0.50 0.65 0.39 0.55 0.72
018 0.25 0.33 0.20 0.28 0.36 026 0.37 048 0.28 040 0.52 0.3 0.45 059 0.35 0.50 0.65 0.39 0.55 0.72
0.18 0.5 0.33 0.20 0.28 0.36 0.26 0.37 048 0.28 0.40 0.52 0.3 0.45 0.5 0.35 0.50 0.65 0.3 0.55 0.72
0.06 0.08 0.10 0.07 0.10 013|010 0.4 0.8 0.11 0.16 0.21 013 0.18 0.23 0.14 0.20 0.26 0.15 0.22 0.29
0.06 0.08 0.0 0.07 0.0 013 010 0.14 0.18 0.11 016 021 013 018 0.23 0.14 020 0.26 0.15 0.2 0.29
0.06 0.08 0.10 0.07 0.0 013 0.0 0.14 018 011 016 021 013 018 0.23 014 020 0.2 0.15 0.22 0.29
0.06 0.08 010 0.07 010 0.13 010 0.4 018 0.11 016 021 013 018 0.23 014 0.20 026 015 0.22 0.29
0.06 0.08 0.10 0.07 0.0 013 010 0.4 018 011 016 0.2 013 018 0.23 014 020 0.2 0.15 0.22 0.29
0.06 0.08 0.0 0.07 0.0 013 010 0.4 018 0.11 016 02 013 018 0.23 0.14 020 0.2 0.5 0.22 0.29
0.06 0.08 0.10 0.07 0.10 013|010 0.4 0.18 0.11 0.16 0.21 013 0.8 0.23 0.14 0.20 0.26 0.15 0.22 0.29
0.06 0.08 0.10 0.08 0.12 0.6 011 0.15 0.20 0.14 020 0.26 0.18 0.25 0.33 0.21 0.30 0.39 0.25 0.35 0.46
0.03 0.04 0.06 0.04 0.06 0.08 0.05 0.07 010 0.08 011 0.15 0.10 0.4 0.20 0.13 0.8 0.25 0.15 021 0.30
0.07 010 013 008 0.2 0.6 011 015 020 0.13 018 0.23 014 020 0.2 015 0.2 029 0.18 0.25 0.33
0.04 0.06 0.08 0.05 0.07 010 0.06 0.08 012 0.08 0.11 0.16 0.09 013 018 010 014 020 0.11 0.5 0.2

Note :1. The cutting parameters recommended by the upper speed are subject to the 3D model. When using type 5D and type 8D, the feed should be appropriately reduced according to

the working condition. Feed quantity :3D type =100%, 5D type =80%, 7D type =70%,10D =60%, 12D = less than 50%;

2. MQL (micro oil mist cooling) is recommended for cutting H hard materials.

EIMEEhAHhSL | Adustable point dil it @



M K4 S, 31 sjs 21
S . S .
= Cutting parameters = Cutting parameters
s HER mymmir
BRERENRE  rowder high speed steel series HEK t\J; %ﬁﬁ I T T T I
B SRE ‘c(m/min) ®10.00-11.99mm | ®12.00-13.99mm ¢014.00—15.99mm| q316.00-19.99mm ©20.00-25.99mm @26.00-32. 99mm ®33.00-39.99mm
" > dy N/mm?
o WA St HB B0\ 5 BA B #E BA RO BE BA BN B BA BN BE BA B B BA BN S ﬁjc B 5 BX
Material Heattreatment Min. mmmendad Max. Min. Remmdedl Max. | Min. Recommended Max. = Min. Recommended Max. | Min. |Recormenced Max. = Min. Remrmded Max.  Min. Max.
<0.25%C \ BN Annealed 100-150  370-500 38 54 70 0.13 0.18 0.23|0.14 0.20 0.26 0.18 0.25 0.33|0.22 0.32 0.41 024 0.35 0.45 0.27 0.38 0.490.28 0.40 0.5
SHIER Y13 1215 1.0736 = -
Noncallay stesl Y15 T P =0, 25%C \ BN Annealed | 175-225  600-775 35 50 64 0.13 0.8 0.23|0.14 0.20 0.26 0.18 0.25 0.330.22 0.32 0.4 $0.24 0.35 0.45 0.27 0.38 0.49 0.28 0.40 0.5
<0.55%C | SENFERR uenched and tenpered \ 225-275 | 775-940 @32 45 59 0.13 0.18 0.23|0.14 0.20 0.26 0.18 0.25 0.33 | 0.22 0.32 0.41/0.24 0.35 0.45 0.27 0.38 0.490.28 0.40 0.52
T, S 45 1045 1.0503 = . - |
Lo Carbon steal. (RASE: 3140 e . BN Annealed \ 275-325  940-1090 25 36 47 0.13 0.18 0.23|0.14 0.20 0.26 0.18 0.25 0.33 | 0.22 0.32 041 024 035 045 0.27 0.38 0.49 028 0.40 0.5
SRNFIERE ouenched and tempered 300 1000 220 32 a1 0.11 0.16 0.21|0.13 018 0.23 016 0.23 030 0.21 0.30 039 0.22 032 0.42 0.25 0.36 0.47|0.27 0.38 0.49
. BN Annealed 175-225 @ 600-775 @33 47 62 0.13 0.18 0.23|0.14 0.20 0.26 0.17 0.24 0.31 | 0.21 0.30 0.39 0.25 0.35 0.46 0.28 0.40 0.520.32 0.45 0.59
Ew:alllinsteel SEN Annealed 225-275 | 775-940 @ 32 45 59 0.13 0.18 0.23|0.14 0.20 0.26 0.17 0.24 0.31 | 0.21 0.30 0.39/0.25 0.35 0.46 0.28 0.40 0.520.32 0.45 0.59
:gg:m e BN Anesled 275-325 940-1000 28 41 53 0.12 0.7 0.22/013 0.9 0.25 0.16 023 0.30 0.20 0.29 038 0.24 034 044 027 039 051 031 044 0.5
AR Tempered 325-375 1090-1265 24 34 44 0.11 0.6 0.21|0.13 0.8 0.23 0.15 0.22 0.29 0.20 0.28 0.36 0.23 0.33 0.43 0.27 0.38 0.49 0.30 0.43 0.5
e i, TEW, 5, i BN Annealed 225-300  600-1020 22 32 4 0.1 0.16 0.210.13 0.19 0.25 0.15 0.22 0.29 | 0.18 0.25 0.33 0.21 0.30 0.39 0.21 0.30 0.39 0.22 0.32 0.42
High alloy steel, tool steel, Cast steel
€r12,D3,1.2080; 4Cr5MoSiV, H13,1.2344 VB Tempered \ 300-350 1020-1180 19 27 35 0.11 0.16 0.21/0.13 0.19 0.25 0.15 0.22 0.29 | 0.18 0.25 0.33 021 030 039 0.21 030 0.39 022 032 0.4
T/ D EATEN 0Crl3 403 1.400 | $RFRIK Ferrtic | 185-275 | 640-940 16 23 29 0.09 0.14 0.18|0.11 0.16 0.20 0.12 0.17 0.220.15 0.22 0.28 0.19 0.27 0.3¢ 020 0.29 0.38 0.23 0.33 0.43
Sl sl eTE LRt (e SLr G L RHa | DA partensitic | 275350 940-1180 19 27 35 0.09 0.3 0.16 0.09 014 018 011 015 020 013 019 0.24 0.16 0.24 031 018 0.26 034 023 033 0.43
B AR 0Cr18Nig 304 1.4301 SEN/3EERE annealed/Harden | 135-185  480-640 18 25 32 0.09 013 016|009 0.14 018 011 015 020 012 018 0.23 0.15 0.22 0.28 0.17 0.24 031 023 0.33 043
M Stainless steel Austenitic 0Crl17NillMo2 316  1.4401 S +HME castslinhandled 185-275 | 640-940 @ 18 25 32 0.09 0.13 0.16|0.09 0.14 0.13 0.11 015 0.20|0.12 0.18 0.23 0.15 0.22 0.28 0.17 0.24 0.310.23 0.33 0.43
BEIAETER N<0.1% | >BO%ERZE(E Ferrtic 135-185 | 480-640 19 27 35 0.09 0.13 0.16|0.09 0.14 0.18 0.1 0.15 0.20|0.12 0.18 0.23 0.14 0.21 0.27 0.16 0.23 0.30 0.23 0.33 0.43
super’ Diplsx;stainleasiSteel NZ0.1% | <60%ERZE(K Ferrtic 185-275 | 640-940 @ 16 23 29 0.09 0.13 0.16|0.09 0.14 0.18 0.1 0.15 0.20/0.12 0.18 0.23/0.14 0.21 0.27 0.16 0.23 0.30|0.23 0.33 0.43
ROl WT200 NO.30  GG20 $EFEAR Ferrtic \ 120-150 | 430-500 @ 38 54 70 0.18 0.25 0.33/0.20 0.29 0.38 0.26 0.37 0.48 | 0.28 0.41 0.53 032 0.45 059 0.3 0.48 0.63 0.35 0.50 0.65
Grey cast iron  HT250  NO.35 G625 BRJEAR pearlitic \ 150-200  500-700 35 50 64 0.18 0.25 0.33|0.20 0.29 0.38 0.26 0.37 0.48 | 0.28 0.41 053 0.32 0.45 0.59 0.34 0.48 0.63|0.35 0.50 0.65
B 0T400-18  60-40-18  GGGAO SEFRAR Ferrtic \ 200-220 | 700-755 @ 32 45 59 0.18 0.25 0.33|0.20 0.29 0.38 0.26 0.37 0.48 | 0.28 0.41 0.53 0.32 0.45 0.59 0.34 0.48 0.63 035 0.50 0.65
Cast iron nodular  QT600-3 ~ 80-60-03  GGG6EO BRI pearlitic | 220-260 755-800 @ 32 45 59 0.18 0.25 0.33/0.20 0.29 0.38 026 0.37 0.48 0.28 0.41 0.53 0.32 0.45 0.59 0.34 0.48 0.63|0.35 0.50 0.65
e SEFRAR Ferrtic \ 120-150 | 430-500 @ 32 45 59 0.18 0.25 0.33/0.20 0.29 0.38 0.26 0.37 0.48|0.28 0.41 0.5 0.32 0.45 0.59 0.34 0.48 0.63 0.35 0.50 0.65
AR R PRMLAR pearlitic \ 260-320 | 890-1020 32 45 59 0.18 0.25 0.33|0.20 0.29 0.38 0.26 0.37 0.48|0.28 0.41 0.5 0.32 0.45 0.59 0.3¢4 0.48 0.63 0.35 0.50 0.65
= SREUL Mot cureabie 30 100 47 68 88 0.18 0.25 0.3 0.20 0.28 0.36 0.26 0.37 0.48 0.28 0.40 0.5 0.32 0.45 0.59 0.35 0.50 0.65 0.33 0.55 0.72
e Eftcured 180 600 41 59 76 0.18 0.25 0.33 020 0.28 0.36 026 0.37 048 028 0.40 0.5 032 0.45 0.5 0.35 050 0.65 0.39 0.5 0.72
SKEUL Not cureabie 30 100 47 68 88 0.18 0.25 0.33|0.20 0.28 0.36 0.26 0.37 0.48|0.28 0.40 0.52 0.32 0.45 0.59 0.35 0.50 0.65|0.39 0.55 0.72
=12% Si
ﬁf’mmm s B, cured 180 600 41 59 76 0.18 0.25 0.33|0.20 0.28 0.36 0.26 0.37 0.48|0.28 0.40 0.52 0.32 0.45 0.59 0.35 0.50 0.65|0.39 0.55 0.72
>12% Si \ RN High temperature \ - - 41 59 76 0.18 0.25 0.33/0.20 0.28 0.3 0.26 0.37 0.48|0.28 0.40 0.5 0.32 0.45 0.59 0.35 0.50 0.65|0.39 0.5 0.72
\ 53] Free cutting 100-200 @ 370-670 @ 47 68 88 0.18 0.25 0.330.20 0.28 0.36 0.26 0.37 0.48|0.28 0.40 0.52 0.32 0.45 0.59 0.35 0.50 0.65|0.39 0.5 0.72
E’ﬁﬁum >1%Pb | 254 prass 200-250 | 670-855 @ 47 68 88 0.18 0.25 0.330.20 0.28 0.36 0.26 0.37 0.48|0.28 0.40 0.52 0.32 0.45 0.59 0.35 0.50 0.65 0.39 0.55 0.72
\ EBfi#4) Electrolitic copper 100 370 47 68 88 0.18 0.25 0.33 0.20 0.28 0.36 0.26 0.37 0.48|0.28 0.40 0.52 0.32 0.45 0.59 0.35 0.50 0.65|0.39 0.55 0.72
DR \ IARFIETHE Duroplastics fiber plastics. - = 47 68 88 0.18 0.25 033|020 0.28 036 0.26 0.37 0.48|0.28 0.40 0.52 0.32 0.45 0.59 0.35 0.50 0.65|0.39 0.55 0.72
N talli
on et !Eﬁaﬁmm rubber 60 200 47 68 88 0.18 0.25 0.33/0.20 0.28 036 0.26 0.37 0.48 0.28 0.40 0.52 0.32 0.45 0.59 0.35 0.50 0.65 0.39 0.55 0.72
g BN Amealed 140-220 @ 480-755 @ 14 20 27 0.06 0.08 0.100.07 0.10 0.13 0.10 0.14 0.18|0.11 0.16 0.21 0.13 0.18 0.23 0.14 0.20 0.26 0.15 0.22 0.29
Febase | @ik, cured 223-310 | 755-990 @ 11 16 21 0.06 0.08 0.10)0.07 0.10 0.13 0.10 0.4 0.18|0.11 0.16 0.21 0.13 0.18 0.23 0.14 0.20 0.26 0.15 0.22 0.29
RS Hioh Temp. ALloy BN Annealed 250 = 1 1 2 0.06 0.08 0.10/007 010 0.13 0.10 014 018 0.1 0.16 0.21 0.13 0.18 023 0.14 0.20 0.2 0.15 0.2 0.29
Hastelloy B, Inconel 600, @EE’Z%E | | | |
TSI | B cured 350 - 11 16 21 0.06 0.08 0.100.07 0.10 0.13 0.10 0.14 0.18|0.11 0.16 0.21 0.13 0.18 0.23 0.14 0.20 0.26 0.15 0.22 0.29
i Cast 320 - 11 16 21 0.06 0.08 0.10|0.07 0.10 0.13 0.10 0.14 0.18|0.11 0.16 0.21 0.13 0.18 0.23 0.14 0.20 0.26  0.15 0.22 0.29
s - 320 Rm400 = 11 16 21 0.06 0.08 0.10|0.07 0.10 0.13 0.10 0.14 0.18|0.11 0.16 0.21 0.13 0.18 0.23 0.14 0.20 0.26|0.15 0.22 0.29
2
Titanim Allgy a+BEEE L a+B alloys Cured - Rm 1050 11 16 21 0.06 0.08 0.10|0.07 0.10 0.13 0.10 0.14 0.18|0.11 0.16 0.21 0.13 0.18 0.23 0.14 0.20 0.26 | 0.15 0.22 0.29
18 FE TSR . RHE Harden \ 400 | 1365 7 10 13 0.06 0.08 0.10 0.08 012 0.16 0.11 0.15 u.znil”n.m 0.20 0.26 0.18 0.25 0.33 0.21 0.30 0.39 025 0.35 0.46
Wear PlateHardox, AR400, T-1, SE5HE Harden ‘ 500 1600 - - ) i » i = - » o o i | - = o & = - i o = o = =
' SR | 7RHE Harden | 300-400 1020-1365 9 13 16 0.07 0.10 0.13|0.08 0.12 0.16 0.1 0.15 0.20|0.13 0.18 0.23 0.14 0.20 0.26 0.15 0.22 0.29|0.18 0.25 0.33
herieneliieet VI Harden C400-s00 1365+ - - - e eeT=TTTSSTSISESSS -
‘EE%‘.: 1. _t%-}ﬁﬁﬁaﬂ]ﬁ”zjﬁu3nﬂ7ﬂiﬁu %fﬁﬁﬁsDﬂ! BDf«LHj *E}EIIR Eéﬁq‘-ﬁlﬁ =, 1& E 3032_100% 5D§x 80%, 7[@;—70% Note :1. The cutting parameters recommended by the upper speed are subject to the 3D model. When using type 5D and type 8D, the feed should be appropriately reduced according to
the working condition. Feed quantity :3D type =100%, 5D type =80%, 7D type =70%, 10D =60%, 12D = less than 50%;
IUDg‘tJ:ﬁU% 1ZD§£=5D%Q{-F; ZtBﬁilH%’éE;ﬁ_MiFﬂ}Eﬁ{ﬁﬁﬁMﬂL (@%ﬁ%,ﬁa%:%ﬁﬂﬁit) a 2. MOL (micro oil mist cooling) is recommended for cutting H hard materials.
@ Alfshgtssk | Adustable point grl bit EIHREhAEESL | Adjustable point il bit @




?E‘éf%ﬁ Combined drill

LR R (RN

Characteristics and advantages of combination drill

( ﬁﬂ‘ﬂtﬁ Main feature

mIiEshcdE Ak, BEFBRESRHL (29t PEMARN—RELk, ShLEEE
. WER, AR, FLNTHEAETEH.17-0. BEE.

Al BV T RS

#Z26mm-"62m, FL;EH3D/5D/7D/10DMMFhiNAG, tDEITIE

Replaceable bit combination, is in the replaceable bit (crown drill) based on the development of a drill, drilling range diameter 26mm~62m, hole depth of 3D/5D/7D/10D four
specifications, cutting edge with replaceable drill point and common U drill blade combination, high efficiency, low cost, hole machining accuracy tolerance in +0.17-0.1

range.

AL RN IR R S

The type code of the combination drill

AEEFLTITIR  Combined drill center blade

ADJIS60—-PA2600

|
|

|

¥

K | W

Big type Insert Material

eSSt

Drill point type

JNRER

Insert Diameter

ADISFFI T REh AT bk 60-tEEEE

30-$DKEIRN

PA-iE A
MA-FSE MR EhA
KA-E58kFRth AR

NA-FE s A Eh e

2600-26. 00mm

HEHTIF  combined drill shank

ADJIS2600/2649—3D—

- |

—

C32
|
\i

PES B

Big type The diameter of

ADISZR B ElHRER AT RS, 2600/2649-F i/ NI ES

®2600mm, FAKJ)FHES O 2649mm

BRINTHF

Maximum machining hole depth

3D-3XD1

5D-5XD1

7D-7XD1

10D-10XD1

JtRER

The handle diameter
C25-® 25mm
(32-®32mm

C40-® 40mm

Combined drill

€@ =au




» gﬂ‘éﬁl{'—l Combined drill

OE FADR TE ame
Centerof x2 F  Tosirdnpe
ADI52600/2649-30-C32 3D 185 | 92 | 60 32 | 42
aaszeon/zeaesn-cz | 200 sp 237 | 144 |60 32 42
ADJSE0-PA600 | WCMXO40208 | 26.0 |
ADIS2600/2649-TD-C32 | 2649 = 7D | 289 | 196 | 60 32 42
ADIS2600/2649-100-C32 00 367 274 | 60 32 42
AD52650/2699-30-C32 3 185 92 | 60 32 | 42
ADJS2650/2699-50-c32 220 | 5p 237 | 144 | 60 | 32 | 42
ADISE0-PA2650  WCMX040208 | 26.5 |
ADJS2650/2699-T0-C32 2599 7D | 289 | 196 |60 32 42
AD52650/2699-10D-C32 00 | 367 274 60 32 42
M2.5X10.9 | 7IP
ADIS2700/2749-30-C32 3 189 9% | 60 32 42
aojsz7oo/2rae-so-c2 | 2% | sp 243 | 150 | 60 | 32 | 42
ADJSE0-PA2700 | WCMXO40208 | 27.0 I
ADIS2T00/2743-TD-C32  27.49 7D 297 204 | 60 32 42
ADJS2700/2749-100-C32 0 378 285 | 60 32 42
ADIS2750/2799-30-C32 3D 189 9 |60 32 42
ADIS2750/2799-50-c32 | 20 | sp 243 | 150 | 60 | 32 42
ADJSE0-PA2750  WCMXO40208 | 27.5 | | ~ - -
ADJS2750/2799-70-C32 | 97.99 7D | 297 | 204 | 60 32 42
ADIS2750/2799-100-C32 100 | 378 285 | 60 32 42
ADIS2800/2849-3D-C32 B 192 9 60 32 42
aois2s00/28a9-50-c2 200 sp 48 155 60 32 42
ADISE0-PA2800  WCMXO40208 | 28.0 | | - - -
ADIS2800/2849-TD-C32 | 2549 = 7D 304 211 | 60 32 42
AD52800/2849-10D-C32 10D 388 295 | 60 32 42
M2.5%6 | T8
ADIS2850/2899-3D-C32 3D 192 99 |60 32 42
ADIS2850/2809-50-c2 >0 sp 248 | 155 | 60 32 42
ADJSE0-PA2850 | WCMXO40208 | 28.5 |
ADJS2B50/2899-TD-C32  25.99 7D | 304 211 | 60 32 42
ADIS2850/2899-100-C32 00 388 295 | 60 32 42
ADI52900/2949-30-C32 3D 193 100 |60 32 42
ADJS2000/2049-50-c32 2200 sp | 251 | 158 | 60 32 42
ADJSE0-PA2900 | WCMXO40208 | 29.0 |
ADIS200/2049-T0C32 | 5949 7D 309 216 60 32 42
ADI52900/2949-100-C32 00 396 303 | 60 32 42
M3.0X12.8 | 8IP
ADJS2950/2999-30-C32 3D 193 100 |60 32 42
ADJS2050/2099-50-c32  22°0 5D 251 158 | 60 32 42
ADJSE0-PA2950  WCHXO40208 | 29.5 - o - - |
ADJS2050/2099-7D-C32 | 5999 = 7D | 309 216 | 60 32 42
ADJS2950/2999-100-C32 00 39 303 |60 32 42
ADS3000/3049-30-C32 3D 199 326 | 60 32 42
wIs3000/3049-50-cz2 90 | sp | 250 386 | 60 32 | 42
ADJSG0-PA3000  WCMX040208 | 30.0 | | » - |
ADJS3000/3049-T0-C32 3949 7D | 319 | 446 |60 32 42
ADJS3000/3049-100-C32 100 | 409 | 536 | 60 32 42
ADIS3050/3099-30-C32 3D 199 106 | 60 32 42
ADIS3050/3009-50-C32 | %0 | sp 259 | 166 | 60 32 42
ADJSE0-PA3050 | WCHX040208 I
ADIS3050/3099-7D-C32 | 3g.99 = 7D 319 226 | 60 32 42
ADJS3050/3099-100-C32 100 | 409 316 60 32 42
EEH | Combined dril

» HETH

Combined drill

Centerof X2 PFEfF  Tooirodtype T wJ L1 L2 13 D2 D3 BST |IRFE BT RF
the blade mm:@gg - , — | gEP —
ADJS3100/3149-30-C32 30 | 202 109 60 32 | 42
aIs300/3149-50-2 | o190 | sp | 264 171 60 32 | 42
ADJSG0-PA3100 | WCMX040208 | 31.0 I
ADIS3I00/3149-T0-C32 | 3749 = 7D | 326 233 60 32 42
ADJ53100/3149-100-C32 00 419 | 326 60 32 42 ;
| M3.0X12.8 | BIP
ADJS3150/3199-30-C32 30 | 202 109 60 32 | 42
ADJS3150/3199-50-C32 | S0 | sp 264 171 60 | 32 | 42
ADJS60-PA3150 | WCMX040208 | 31.5 |
ADJS3150/3199-T0-C32 | 3799 7D 326 233 60 32 42
ADJS3150/3199-100-C32 100 419 326 60 32 42 ’
= M2. 5X6
ADJS3200/3249-30-C32 30 | 2206 113 60 32 | 42
3320073249502 | =00 | sp 270 177 60 | 32 | 42
ADJS60-PA3200 | WCMX040208 | 32.0 |
ADJS3200/3249-T0-C32 | 3p.49 = 7D | 333 | 241 60 32 42
ADJS3200/3249-100-C32 o 40 3 6 2 42
| M4.0X16.7 | 15IP
ADJS3250/3299-30-C32 30 | 226 113 60 32 | 42
ADJS3250/3200-50-C32 | =0 | sp 270 177 60 | 32 | 42
ADJS60-PA3250 | WCMX040208 | 32.5 | ~ |
ADIS3250/3299-T0-(32 | 35399 = 7D | 333 241 60 32 42
ADJS3250/3299-10D-C32 100 430 | 337 60 32 42
ADJS3300/3349-30-C32 3 213 119 60 32 | 42
is3z00/33a-50-2 | %0 sp 279 | 185 60 32 | 42
ADIS60-PA3300 | WCMTO50308 | 33.0 | - 1
ADIS3300/3340-TD-C32 = 33.49 7D 345 251 60 32 | 42
ADJS3300/3349-100-C32 100 444 | 350 60 32 42
8
ADJS3350/3399-30-C32 30 | 213 119 60 32 | 42
ADIS30/3399-50-32 | >0 | sp | 279 185 60 32 | 42
ADJS60-PA3350 | WCMTOS0308 | 33.5 |
ADIS3350/3399-T0-C32 | 33.99 = 7D | 345 251 60 32 | 42
ADJS3350/3399-100-C32 100 444 | 350 60 32 42
ADIS3400/3449-3D-(32 30 | 217 123 60 32 | 42
wJs3a00/3a49-50-c2 | 4% sp 285 101 60 32 42
ADJSG0-PA3400 | WCMTOS0308 | 34.0 | |
ADJS3400/3449-TD-(32 3449 7D 353 259 60 32 42
ADJS3400/3449-100-C32 00 455 | 361 60 32 42
M3.0X12.8 | SIP | M3.0X8
ADJS3450/3499-30-C32 3 | 217 123 60 32 | 42
AJs3as0/3499-50-2 | 40 sp 285 191 60 32 42
ADJSG0-PA3450  WCMTOS0308 | 34.5 - | - |
ADJS3450/3499-TD-(32 | 3499 7D 353 259 60 32 42
ADJS3450/3499-10D-C32 00 455 | 361 60 32 42
ADIS3500/3549-3D-(32 3D | 220 126 60 32 | 42
aJsasoo/3sas-s-c2 | % sp 200 196 60 32 | 42
ADJS60-PA3500 | WCMTOS0308 | 35.0 | ‘ R
ADJS3500/3549-T0-C32 | 3549 7D 360 266 60 32 42
ADJS3500/3549-100-C32 10D | 465 371 60 32 | 42 |
ADJS3550/3599-30-C32 3D | 220 126 60 32 | 42
ADJS3550/3509-5D-C32 | >0 | 5D | 290 196 60 32 42
ADJSG0-PA3550 | WCMTOS0308 | 35.5 |
ADIS3550/3599-70-(32 | 35.99 = 7D | 360 266 60 32 42
ADJS3550/3599-100-C32 100 465 371 60 32 | 42
HEH | Combined drill @



» gﬂ‘éﬁl{'—l Combined drill

PUDE FRDR B nnms
Cemterof X2 BHE  Tooirodiye
ADJS3600/3649-3D-(32 3D 223 129 60 | 32 &
ADJS3600/3649-5D-(32 36.00 5D 295 201 60 32 &
AD]S60-PA3600 = WCMTO50308 | 36.0 |
ADJS3600/3649-70-C32 | 3g.49 7D | 367 | 273 | 60 | 32 | 42
ADJS3600/3649-100-C32 100 | 475 | 381 60 32 4
ADJS3650/3699-30-(32 3D 23 | 129 | 60 | 32 42
ADJS3650/3699-50-(32 630 5D 295 | 201 60 | 32 &
AD]S60-PA3650 = WCMTO50308 | 36.5 [
ADJS3650/3699-70-(32 36.99 7D 367 273 60 32 &
ADJS3650/3699-10D-C32 00 475 381 | 60 32 42
ADJS3700/3749-30-(32 3D 227 | 131 | 60 32 | 42
ADJS3700/3749-50-(32 3700 5D 00 205 | 60 32 42
ADJS60-PA3700 = WCMTO50308 | 37.0 |
ADJS3700/3749-70-C32 | 37.49 7D 375 279 | 60 32 42
ADJS3700/3749-100-(32 10D | 486 | 390 60 32 42
ADJS3750/3799-3D-(32 3D 227 | 131 60 | 32 &
ADJS3750/3799-50-(32 2o 5D 301 205 60 3R &
ADJS60-PA3750 = WCMT050308 | 37.5 | | T 1 {
ADJS3750/3799-7D-(32  37.99 | 7D 375 279 | 60 32 42
ADJS3750/3799-10D-C32 10D | 486 390 60 32 42
M4.0X16.7 = 15IP | M3.0x8 T8
ADJS3800/3849-30-(32 3D 230 134 | 60 @ 32 42
ADJS3800/3849-5D-(32 Sl 5D 306 210 60 32 42
ADJS60-PA3800 = WCMTO50308 | 38.0 | T 1 T
ADJS3800/3849-7D-C32  3g.49 7D | 382 286 60 32 42
ADJS3800/3849-10D-(32 10D | 49 | 400 60 32 42
ADJS3850/3899-3D-(32 3D 230 134 60 32 &
ADJS3850/3899-50-(32 Rl 5D 306 210 60 32 4
ADJSB0-PA3850 = WCMTOD50308 | 38.5 |
ADJS3850/3899-7D-(32 3399 7D | 382 286 60 32 | 42
ADJS3850/3899-10D-(32 10D | 49 | 400 60 32 42
ADJS3900/3949-3D-(32 3D 234 138 60 32 &
ADJS3900/3949-5D-(32 4.0 5D 312 | 216 | 60 | 32 &
ADJS60-PA3900 = WCMTO50308 | 39.0 |
ADJS3900/3949-7D-C32 | 39,49 7D | 390 | 294 60 32 &2
ADJS3900/3949-100-(32 10D 507 411 60 32 &
ADJS3950/3999-3D-(32 3D 234 138 60 32 &
ADJS3950/3999-5D-(32 39.0 5D 312 216 60 32 &
AD]S60-PA3950 = WCMTO50308 | 39.5 - . | 1 T T
ADJS3950/3999-7D~(32  39.99 7D | 390 294 60 32 42
ADJS3950/3999-100-C32 10D 507 411 | 60 | 32 &
ADJS4000/4049-30-(32 3D 234 138 60 32 &
ADJS4000/4049-5D-(32 4010 5D 314 218 60 32 &
ADJS60-PA4000 = WCMTO6T308 | 40.0 | | 1 1 [
ADJS4000/4049-7D-C32 40,49 7D | 394 298 60 32 42
ADJSA000/4049-100-C32 10D 514 418 60 32 &
T M3.0X14.7 | B8IP | M3.5X10  T15
ADJS4050/4099-3D-(32 3D 234 | 138 60 32 &
ADJSA4050/4099-5D-(32 Al 5D 314 218 60 32 &
AD]S60-PA4050 = WCMTO6T308 |
ADJS4050/4099-7D-C32  4p.g9 7D | 394 | 298 60 32 | 42
ADJS4050/4099-100-(32 10D 514 418 60 32 &

(100 JE=P TR

Combined drill

» HETH

Combined drill

Gt X2 BE e St | gy EE 4 EF
b e (R T dameter L1 | L2 L3 D2|D3
the blade  Reaming blade X2 B8R diameter ( — | gEP —
ADJS4100/4149-3D-(32 3D 237 | 141 60 32 42
AD]S4100/4149-5D-(32 200 5D 319 223 60 32 42
ADJS60-PA4100 = WCMTO6T308 | 41.0 |
ADJSA100/4149-7D-C32 | 47,49 7D 401 305 60 32 42
ADJS4100/4149-10D-C32 10D 524 428 60 32 42
ADJS4150/4199-3D-(32 3D 237 141 60 32 42
ADJS4150/4199-5D-C32 4L 5D 319 | 223 60 32 | 42
ADJS60-PA4150 WCMTO6T308 | 41.5 |
ADISA1S0/4199-7D-C32 | 41,99 = 7D | 401 305 60 32 42
ADJS4150/4199-100-(32 10D 524 | 428 60 32 42
AD]S4200/4249-3D-(32 3D 243 | 147 60 32 42
ADJS4200/4249-5D-(32 4.0 5D 327 231 60 32 42
ADJS60-PA4200 WCMTO6T308 | 42.0 |
ADJS4200/4249-7D-(32 42.49 D 411 315 60 32 42
ADJS4200/4249-10D-(32 10D 537 441 60 32 42
AD1S4250/4299-3D-(32 3D 243 | 147 60 32 | 42
ADJS4250/4299-5D-(32 42.50 5D 327 231 60 32 42
ADJS60-PA4250 WCMTO6T308 | 42.5 | t 1 {
ADJSA250/4299-7TD-C32 | 43.99 = 7D | 411 | 315 60 32 42
AD1S4250/4299-100-(32 10D 537 | 441 60 32 | 42
ADJS4300/4349-3D-(32 3D 246 150 60 32 42
ADJS4300/4349-5D-(32 #a-0d 5D 332 236 60 32 42
AD]S60-PA4300 WCMTO6T308 | 43.0 | T 1 {
ADJS4300/4349-70-C32 | 43.49 7D 418 322 60 32 42
ADJS4300/4349-100-(32 10D 547 | 451 60 32 42
M4.0X16.7 | 15IP  M3.5X10 T15
ADJS4350/4399-3D-(32 3D 246 150 60 32 42
ADJS4350/4399-5D-(32 ah 5D 332 | 236 60 32 42
ADJS60-PA4350  WCMTO6T308 | 43.5 |
AD1S4350/4399-7D-(32 43,99 7D 418 322 60 32 42
ADJS4350/4399-10D-C32 10D 547 451 60 32 42
ADJS4400/4449-3D-(32 3D 249 | 153 60 32 42
ADJS4400/4449-5D-(32 400 5D 337 241 60 32 42
ADJS60-PA4400 WCMTO6T308 | 44.0 | 1
AD]S4400/4449-7D-(32 44.49 D 425 329 60 32 42
ADJS4400/4449-10D-C32 10D 557 461 60 32 42
ADJS4450/4499-3D-(32 3D 249 | 153 60 32 42
AD]S4450/4499-5D-(32 44.50 5D 337 241 60 32 42
ADJS60-PA4450  WCMTO6T308 @ 44.5 - | t 1 1
ADJS4450/4499-7D-(32 44,99 D 425 | 329 60 32 | 42
ADJS4450/4499-10D-C32 10D 557 @ 461 60 32 42
AD]S4500/4549-30-(32 3D 252 | 156 60 32 42
ADJS4500/4549-5D-(32 4310 5D 342 246 60 32 42
ADJS60-PA4500 = WCMTO6T308 | 45.0 | i 1 {
ADJSAS00/4549-7D-C32 | 4549 7D 432 336 60 32 42
ADJS4500/4549-10D-C32 10D 567 | 471 60 | 32 | 42 |
ADJS4550/4599-3D-(32 3D 252 | 156 60 32 42
ADJS4550/4599-5D-(32 s 5D 342 | 246 60 32 42
ADJS60-PA4550 « WCMTO6T308 | 45.5 |
ADJS4550/4599-70-C32 | 4599 =~ 7D | 432 336 60 32 42
ADJS4550/4599-10D-(32 10D 567 471 60 32 42
HEH | Combined drill @



» gﬂ‘éﬁl{'—l Combined drill

OE FADR TE ame
Centerof x2 F  Tosirdnpe
ADJS4600/4649-3D0-(32 3D 255 | 159 | 60 @ 32 | 42
ADJS4600/4649-50-(32 45.00 5D 347 251 | 60 | 32 | 42
ADJS60-PA4600 = WCMTO6T308 | 46. |
ADJSAB00/4649-70-C32 | 4g.49 7D | 439 | 343 | 60 32 42
ADJS4600/4649-10D-C32 10D 577 481 60 32 42
ADJS4650/4699-30-(32 3D 255 | 159 [ 60 | 32 | 42
ADJS4650/4699-5D-(32 46.30 5D 347 | 251 | 60 32 | 42
ADJS60-PA4650 | WCMTO6T308 | 46.5 |
ADJS4650/4699-7D-C32 4599 7D | 439 343 60 32 42
ADJS4650/4699-10D-C32 100 577 | 481 ' 60 | 32 | 42
ADJS4700/4749-3D-C32 3D 258 | 162 | 60 | 32 | 42
ADJ]S4700/4749-5D-(32 47.00 5D 352 256 . 60 | 32 | 42
ADJS60-PA4700 | WCMTO6T308 | 47.0 |
ADJSA700/4749-7D-C32 | 47.49 7D | 446 350 | 60 32 42
ADJS4700/4749-10D-(32 10D 587 491 60 32 42
ADJS4750/4799-3D0-(32 3D 258 162 | 60 32 42
ADJS4750/4799-5D-(32 47.50 5D 352 256 ' 60 | 32 | 42
ADJS60-PA4750 = WCMTO6T308 | 47.5 | | t t t
ADISA750/4799-TD-(32  47.99 = 7D | 446 350 | 60 32 | 42
ADJS4750/4799-100-(32 10D 587 491 60 32 42
M4.0X16.7 | 15IP | M3.5X10
ADJS4800/4849-30-(32 3D 261 165 [ 60 | 32 | 42
ADJ]S4800/4849-5D0-(32 40l 5D 357 261 60 32 42
ADJS60-PA4800 = WCMTOD6T308 | 48.0 | T T T
ADIS4B00/4B49-7D-C32 45,49 7D | 453 | 357 | 60 32 | 42
ADJS4800/4849-100-C32 10D 597 501 | 60 32 42
T15
ADJ]S4850/4899-3D-(32 3D 261 165 | 60 | 32 | 42
ADJ]S4850/4899-5D-(32 R 5D 357 261 | 60 32 | 42
ADJS60-PA4850 @ WCMTO6T308 | 48.5 |
ADJSAB50/4899-1D-C32 4899 7D | 453 357 60 32 42
ADJ]S4850/4899-10D-C32 10D 597 | 501 | 60 32 | 42
ADJ]S4900/4949-3D0-(32 3D 264 168 60 32 42
ADJS4900/4949-5D0-(32 49.00 5D 362 266 | 60 | 32 | 42
ADJS60-PA4900 = WCMTO6T308 | 49.0 |
ADJSA900/4949-7D-C32 | 49,49 7D | 460 | 364 60 32 42
ADJ]S4900/4949-10D-(32 10D 607 511 @ 60 32 42
ADJ]S4950/4999-3D-(32 3D 264 168 60 32 42
ADJS4950/4999-50-(32 49.50 5D 362 266 | 60 | 32 | 42
ADJS60-PA4950 = WCMTO6T308 | 49.5 - - | T T T
ADJS4950/4999-7D~(32 4999 = 7D | 460 364 60 32 42
ADJS4950/4999-10D-C32 10D 607 511 H 60 32 42
ADJS5000/5049-30-(32 3D 267 171 | 60 | 32 | 42
ADJS5000/5049-5D-C32 S 5D 367 271 | 60 32 | 42
ADJS60-PAS000 = WCMTO80412 | 50.0 | T T t
ADJSS000/5049-7D-C32  5p 49 7D 467 371 60 32 42
ADJS5000/5049-10D-C32 10D 617 | 521 | 60 32 42
t M5.0%X20.6 | 20IP | M4.0X10
ADJS5050/5099-3D-C32 3D 267 171 | 60 32 | 42
ADJS5050/5099-5D-(32 50.50 5D 367 271 60 32 | 42
ADJS60-PAS050 | WCMTO80412 | 50.5 |
ADJSS050/5099-7D-C32  sp.gg 7D | 467 | 371 | 60 32 | 42
ADJS5050/5099-10D-(32 10D 617 | 521 | 60 | 32 | 42

(102 J= TR

Combined drill

» HETH

Combined drill

Gt X2 BE e St | gy EE 4 EF
theblade  Reamingblde 2 g e dameter L1 L2 L3 D2 D3 —| g —
SICAL ) 4 4 : e 7 (i f I 0
ADIS5100/5149-3DC32 3D | 270 | 174 60 | 32 | 42
aiss100/514950-c32 | 2090 sp [ 3m 6 60 32 | 42
ADJS60-PAS100  WCMTO80412 | 51.0 |
ADISSI00/5149-7D-C32 | 51 49 @ D | 474 | 378 60 32 | 42
ADIS5100/5149-100-C32 0D | 627 531 60 32 42
ADIS5150/5199-30-C32 D | 270 174 60 32 | &
ADIS5150/5109-50-c32 | 20 | sp 32 | 276 60 | 32 | 42
ADIS60-PAS1S0 | WCMTOS0412 | 51.5 |
ADISSIS0/5199-TD-C32 | 51.g9 | 7D 474 378 60 32 42
ADIS5150/5199-100-C32 00 627 31 60 32 42
ADIS5200/5249-3D-C32 D | 177 60 R &
A0Js5200/5249-50-c32 | 290 | sp 3 | 81 60 | 32 | 42
ADJS60-PAS200  WCMT080412 | 52.0 |
ADISS200/5249-70-C32 | 5349 @ 7D | 481 | 385 60 32 | 42
ADIS5200/5249-100-C32 00 | 637 541 60 32 42
ADIS5250/5299-30-C32 3D | 273 | 177 60 | 32 | 42
ADJS5250/5200-50-C32 | 2220 | 5D 377 281 60 3R 42
ADJS60-PAS250  WCMT080412 | 52.5 | ~ |
ADIS5250/5299-70-C32 | s3.99 7D | 481 385 60 32 | 42
ADIS5250/5299-100-C32 100 | 637 541 60 32 42
ADIS5300/5349-3D-C32 D | 276 180 60 32 | 42
ASs300/5349-50-c32 | >0 | sp | 3s2 | 286 60 | 32 | 42
ADJS60-PAS300  WCMT080412 | 53.0 | - Ml
ADISS300/5349-7D-C32 | 5349 7D | 488 392 60 32 | 42
ADIS5300/5349-100-C32 0D | 647 551 60 32 42
M4.0X16.7 | 1SIP  MA.OXIO  TIS
ADIS5350/5399-30-C32 3D | 276 180 60 | 32 | 42
ADJSS350/5399-50-C32 | > °C | sp | 382 | 286 60 | 32 | 42
ADISE0-PAS350 | WCMTOBD412 | 53.5 |
ADISS350/5399-7D-C32 | 5399 7D | 488 392 60 32 | 42
ADIS5350/5399-100-C32 00 | 647 551 60 32 | 42
ADIS5400/5449-3D-C32 3 | 279 | 183 60 32 | 42
assa00/saaesp-c2 | 290 sp 337 201 60 32 42
ADIS60-PAS400  WCMTO80412 | 54.0 | |
ADISSA00/5M0-TD-C32 | 5449 = D 495 399 60 32 42
ADIS5400/5449-100-C32 100 | 657 561 60 32 | 42
ADIS5450/5499-30-C32 3 | 279 | 183 60 | 32 | 42
ADJSsas0/s499-50-c32 | 040 | sp 337 201 60 32 42
ADIS60-PAS450 | WCMTO80412 | 54.5 - | - 1
ADISSAS0/5499-T0-C32 | 5499 = D 495 399 60 32 | 42
ADIS5450/5499-100-C32 00 | 657 561 60 32 | 42
ADIS5500/5549-30-C32 D | 282 186 60 32 | 4
Asss00/5549-50-c32 | 290 | sp 392 206 60 32 | 42
ADJS60-PASS00  WCMT080412 | 55.0 | ‘ nall
ADISSS00/5549-7D-C32 | g5 49 7D | 502 | 406 60 | 32 | 42
ADIS5500/5549-100-C32 0 | 667 571 60 32 42
ADIS5550/5599-3D-C32 D | 82 18 60 32 | &
ADJSS550/5509-5D-C32 | >0 | 5D 392 296 60 32 42
ADJS60-PASS50  WCMTO80412 | 55.5 |
ADISS550/5599-7D-C32 | 5599 7D | 502 406 60 32 | 42
ADIS5550/5599-100-C32 WD | 667 571 60 32 42
HEH | Combined drill @



| 4 .-H = ill-'-l Combined drill 4 .-E = %I]j Combined drill
PUDE TRAN L pnms | POTA - AR paLiz: ] gH
enterof X2 EF  Toolrdtype 13 p2 p3 BE  |F RF Centerof X2  FEF  Toolrodtype Ties the 13 D2 RFE 25 RTF
the blade mmnﬁg ’ R | the blade mm:@gg - (D1} | — | gEP —
ADJS5600/5649-30-C40 3D 298 189 | 70 40 50 ADISE100/6149-3D-C40 3 | 33 2204 70 40 | 50
A0JSS600/5649-50-C40 | > | 5D 410 301 | 70 40 50 p0isel00/6149-50-ca0 | O=00  sp 435 36 0 40 S0
ADJS60-PAS600 | WCMT080412 | 56.0 | ADISG0-PA6100 | |CHTO80412 | 61.0 |
ADJSS600/5649-7D-C40 5649 7D 522 413 70 40 50 ADISG100/6149-7D-CA0 | g1 49 =~ 7D | 557 | 448 70 40 50
ADIS5600/5649-100-C40 100 690 581 | 70 40 50 ADJS6100/6149-10D-C40 100 740 631 70 40 50
| M4.0X16.7 | 15IP | MA.OXID  TI5
ADJS5650/5699-30-C40 30 208 189 70 40 50 ADIS6150/6199-3D-C40 3 | 313 2204 70 40 | 50
ADISS650/5699-50-c40 | > | 5D 410 | 301 70 40 50 ADIS6150/6199-50-c40 | P10 | sp | 435 326 70 40 | 50
ADJS60-PAS650 | WCMT080412 | 56.5 | ADISG0-PABIS0 | |CMTOS0412 | 61.5 |
ADISS650/5699-70-C40 | 5599 | 7D 522 | 413 | 70 40 50 ADIS6150/6199-7D-C40 | 199 D 557 448 70 40 50
ADJS5650/5699-100-C40 100 690 581 | 70 40 50 ADJS6150/6199-100-C40 100 740 631 70 40 | 50 |
ADJS5700/5749-30-C40 3D 0301 192 70 4 50
ADISS700/5749-50-c40 2 %C  sp 415 306 | 70 40 | SO
ADIS60-PAST00 | WCMTO80412 | 57.0 I w ﬁu%ﬁ
ADJSS700/5749-7D-C40  57.49 7D | 529 420 | 70 40 50 2>
ADJS5750/5799-30-C40 30301 192 70 4 50 EEHER % : % q
ADIS5750/5799-50-C40 57'|55 5D 415 306 70 40 50 o 3D 5D 7D 100 3D 5D ‘ 7D 10D
ADJS60-PA5750 = WCMTO80412 | 57.5 | i 1 ' ; 1100-1200 | 1000-1100  900-1000 1000 750-800 750-800 700-7 700-750
ADISS750/5799-70-C40  57.99 7D | 520 420 | 70 40 50 & B0 - ‘ | | G
Fz 0.15-0.2 | Fz 0.15-0.2 Fz 0.16-0.2 Fz 0.15-0.2 Fz 0.18-0.25 Fz 0.18-0.25 Fz 0.16-0.2 Fz 0.16-0.2
ADJS5750/5799-100-C40 00 700 591 | 70 40 50 26-28.9 45-46.9 ‘ - ‘
F 165-240 | F 150-220 F 145200 | F 135-200 F 135200 |F 135-200 F 110-150 [F 110-150
ADJS5800/5849-30-C40 3D 304 195 70 40 50
5850 m 1000-1100 | 1000-1100  900-1000 | 900-1000 i 750-800 = 750-800 | 700-750 | 700-750
ADJS5800/5849-50-C40 : 5D 420 311 70 40 50 : : - . ; I e—— ‘ 1 -+~ -
= 58.0 | L | | | | Fz 0.15-0.2 | Fz 0.150.2 Fz 0.15-0.2 Fz 0.15-0.2 Fz 0.18-0.25 Fz 0.18-0.25 Fz 0.16-0.2 |Fz 0.16-0.2
ADIS60-PASB00 | WCMTOS0412 | 58. — . =R P ey ey ey s P —
ADISSBO0/5849-7D-CA0  58.49 F 150-220 | F 150-220 F 135-200 | F 135-200 F 135200 F 135200 F 115150 |F 115-150
ADJS5800/5849-100-C40 100 710 601 | 70 40 50 . :
| w.ooo.6| om | meoae| TS i 950-1050 | 950-1050 | 900-1000 | 900-1000 i 700-750 | 700750 | 650-700 | 650-700
ABJS5850/5899-30-C40 - 3 304 185 70 40 50 . Fz 0.15-0.2 | Fz 0.15-0.2 Fz 0.14-0.2|Fz 0.14-0.2 —_— Fz 0.18-0.25 Fz 0.18-0.25 Fz 0.16-0.2 Fz 0.16-0.2
ADJ55850/5899-50-C40 i 50 40 311 70 40| 50 e F 145210 | F 145210 F 125-200 | F 125-200 ' F 125-185  F 125185 F 105-140 [F 105-140
ADJS60-PASB50 | WCMTOSD412 | 58.5 |
ADIS550/5899-70-C40 | 599 D | 536 427 | 70 40 50 BEH BTS0 900-1000 | 900-1000  85-900 | 890 . e 700750 | 700750 | 650700 | 650700 .
ADJS5850/5899-100-C40 00 710 601 70 40 50 I Fz 0.16-0.2 | Fz 0.16-0.2 Fz 0.14-0.2 Fz 0.14-0.2 %; . Fz 0.18-0.25 Fz 0.18-0.25 Fz 0.16-0.2 |Fz 0.16-0.2 %
ADIS5900/5949-30-C40 3D 307 19 | 70 40 50 ’ j 50| F 14520 F 120060 F 120180 % ’ jp [ 15185 F 1257085 F 15040 F 105140 =
. | | | v |
ADIS5900/5949-50-C40 59'|°D 50 425 316 70 40 50 FE W SO0 | S0 B00 | MO0 M @ W 070 0TS GO0 | 60700 2%5
ADISGO-PASI00 | WCMTOBDAI2 | 59.0 — w049 | D 543 434 70 40 50 — Fz 0.16-0.2| Fz 0.16-0.2 Fz 0.14-0.2|Fz 0.14-0.2 ] o Fz 0.18-0.25 Fz 0.18-0.25 Fz 0.16-0.2 Fz 0.160.2 |
: : » : = : 30% - 30%
ADIS5000/5049-100-C40 00 | 720 | 611 | 70 | 40 | s0 F 135-180 | F 135-180 F 115-175 | F 115-175 F 125-185 | F 125-185 F 105-140 |F 105-140
ADIS5950/5999-30-C40 3D 307 198 | 70 40 50 L Ll e | el | G bigtd | G0l | G | SO0 | S-S0
Fz 0.16-0.2 | Fz 0.16-0.2 Fz 0.14-0.2 Fz 0.14-0.2 Fz 0.18-0.25 Fz 0.18-0.25 Fz 0.16-0.2 Fz 0.16-0.2
ADIS5050/5999-5D-C40 | 20 5D 425 316 70 40 50 37-38.9 0 55-56.9 |0 | |
ADJS60-PAS950 | WCMTO80412 | 59.5 T - i j F 135-180 | F 135-180 F 115-170 |F 115-170 F 115175 | F 115-175 F 95-130 | F 95-130
ADJSS050/5099-7D-C40  s5g.q9 7D 543 | 434 70 | 40 50
: | R 800-850 800-850 | 750-800 | 750-800 i 650-700 650-700  600-650 | 600-650
ADIS5950/5999-100-C40 100 720 611 | 70 40 50
0o Fz 0.16-0.2 | Fz 0.16-0.2 Fz 0.14-0.2Fz 0.14-0.2 ors0 Fz 0.2-0.25 |Fz 0.2-0.25 Fz 0.16-0.2|Fz 0.16-0.2
ADJSE000/6049-3D-C40 3 310 2001 | 70 40 50 5 -58.
s A F 130-170 | F 130-170 F 105-160 | F 105-160 F 130-175 | F 130-175 F 95-130 | F 95-130
ADJS6000/6049-50-C40 : 5D 430 321 | 70 40 50 - - -
ADISGO-PAGOOO | WCMTOS0412 | 60.0 | | | | | R 800-850 | 800-850 | 750-800 | 750-800 5% 600-650 600-650 = 550-600 | 550-600
ADISG000/G0AS-70-CA0 | g9 | D | S50 (44 | 30 | 40 | 0 s Fz 0.16:0.2 | Fz 0.16-0.2 Fz 0.14-0.2|Fz 0.14-0.2 s Fz 0.20.25 Fz 0.2-0.25 Fz 0.16-0.2 Fz 0.16-0.2
ADI6000/6045-100-CA0 W | AL B ' F 130-170 | F 130-170 F 105-160 |F 105-160 ) F 120-165 F 120165 F 90-120 | F 90-120
ARJS6050/6099-30-C40 3 30 200 70 40 50 e 750-800 | 750-800 | 700-750 | 700-750 BE 550-600 = 550-600  500-550 | 500-550
60.50 ‘ - -
ADJS6050/6099-5D-C40 A 5D 430 321 | 70 40 50 Fz 0.18-0.25| Fz 0.18-0.25 Fz 0.16-0.2|Fz 0.16-0.2 Fz 0.2-0.25 |Fz 0.2-0.25 Fz 0.16-0.2| Fz 0.16-0.2
ADJS60-PAGOS0 | WCMTOS0412 | 60.5 | 43-44.9 61-62
ADISE0S0/6099-7D-C40 | gg.gg 7D | 550 441 | 70 40 50 F 135-200 | F 135-200 F 115-150 | F 115-150 F 110-150 | F 110-150 F 80-110 | F 80-110
ADJS6050/6099-100-C40 00 730 621 |70 40 50 St Fr- SEEHTIE PR
@ HAH | Combined dril HAY | Combined dril @




-I.-I_l+l—‘-| A S U ﬂl"“‘l A U
e/ L UEL Centring U drill e/ L UL Centring U drill
W DURL Y SRS
Characteristics and advantages of centering bit I
L
YHEREE  Main feature N i
LU, SUEERNFLINTOR, EAVETIR, S9VEERIES, N ERIBIEELRENET, B RERETL. mEEFER
18mm~40mm, , A TIREE6™8fE{=rlikkE. WC DX6
s ISR, AR SR A S, SRR N MRy S ol Ry SEEE IR 4 campiven i
Code No ®D L 1| L2 ‘ Lz ‘ M &d Pilot Drill  Insert ) Yl
5D25-6D-C32-H06 25 237 154 177 60 WCHX030208 M2.5X6 T8
SD25.5-6D-C32-HD6 = 25.5 | 240 157 180 60
BISHIEMU  Model coding rule SD26-6D-C32-H06 26 243 160 183 60
SD26.5-6D-C32-H06 = 26.5 | 246 163 186 60
\ SD27-6D-C32-H06 27 249 166 189 60
S;8E1655C6J2J53!]‘—£6; SD27.5-6D-C32-HO6 | 27.5 | 252 169 192 60 HSS-VOG30Tin e — -
I SD28-6D-C32-H06 28 255 172 195 60
. SD28.5-6D-(32-HO6 = 28.5 = 298 175 198 60
1 l l SD29-60-C32-HO6 | 29 261 178 201 60
SD29.5-6D-(32-HO6 = 29.5 264 181 204 60
A% JFER KR i RILERELS SD30-6D-C32-HO6 | 30 %7 | 184 207 60
Big type Tool rod diameter Length to diameter handle Shank diameter Center drill type $030.5-60-C32-HO6  30.5 270 187 210 60
SO (WCTIF FF1) 18 (FRJIHF © 18mm) 2 (EEE2AE) €20 (543  20mm) HO6 (AR LS Sl DGz o 3 |8 | W | S8 | W
SD31.5-6D-(32-HO6 =~ 31.5 276 193 216 60
SP(SPTI 51 30 (EEHINE) €25 ({5 25mm) SD32-60-C32-HOB | 32 279 1% | 219 60
(B (32 (HE © 32mm) $D32.5-6D-(32-H08 = 32.5 282 199 22 60
5D33-6D-C32-H08 3 285 202 225 60
5D (B12HI5f5) C40 (4742 O 40mm) SD33.5-6D-C32-HO8 | 33.5 288 205 228 60 2
$D34-6D-C32-H0B 34 290 208 230 60
SD34.5-6D-C32-HOB | 34.5 | 293 211 233 60
7] HA I—E‘l [r;,' SD35-6D-C32-HOB | 35 297 214 237 60 | G1/4
- SD35.5-6D-(32-HO8 = 35.5 300 27 240 60
The blade model
5D36-6D-C32-H0B 36 303 220 243 60
— HSS-V0835Tin|  WCHXO50308 M3.0X8 T8
e ‘ R size ‘ 9BET RF SD36.5-6D-C32-HO8 = 36.5 | 306 23 246 60
Code No | d t r di Clp = SD37-60-C32-H08 37 309 226 249 60
WO030208 | 3.8 | 5.56 | 2.38 | 0.8 | 2.8 18 SD37.5-6D-(32-HOB | 37.5 = 312 229 252 60
WOMX040208 | 4.3 | 6.35 | 2.38 | 0.8 2.8 T8 DIB-G0-C-HOB | 38 315 232 255 60
WOMTOS0308 | 5.4 | 7.04 | 3.18 0.8 | 3.3 | M3i8 T8 038, 5-00(32-H0B | .5 | 3W | & | 8 60
WCMTOGTI08 | 6.54  9.55 3.97 | 0.8 3.8 M350 T15 S038-60-C32-H0B 39 321 28 261 50
WCMTOS0412 | 8.74 127 | 476 1.2 | 43 | MAXI0 T15 SER-obGa2- o | 9.3 | A4 | ML | 204 50
SD40-6D-C32-HoB 40 324 244 264 60
SD40.5-6D-(32-HO8 = 40.5 | 327 247 267 60
me R size ‘Clamﬁscmw V\?',Jr%ih SMI-6-CO-HIO | a1 330 20 20 60
Code No d t r di SD41.5-60-C40-HID = 41.5 = 333 253 73 60
SPUTO4T102 4 1.98 0.2 2 ML. 8X4 T6 SD42-60-C40-H1D 42 351 256 281 70
r > SPHGO50204 5 2.38 0.4 2.2 om.2xs T6 SDA2.5-6D-CA0-HIO | 42.5 | 354 259 284 70
o | \ SPHGO60204 6 2.38 0.4 | 261 M2.2%6 7 $D43-60-C40-H1D 43 357 262 287 70
o Ol = SPMGOTT308 | 7.94 3.97 0.8 2.8 | M.5% T8 SD43.5-6D-C40-HI0 =~ 43.5 = 360 265 290 70 40 HSS-V1035Tin  WCHXO6T308 M3.5X10 T15
— t SPMGO90408 | 9.8 4.3 0.8 405 | M3.5X10 T15 SD44-6D-C40-HID 44 363 268 293 70
SPHG110408 11.5 4.8 0.8 | 445 MAX10 T15 SD44.5-6D-C40-HIO = 44.5 | 366 7 29 70
SPHG140512 14.3 5.2 12 575 M5X12 T20 SD45-6D-C40-H1D 45 369 274 299 70
@ Uk | Centring U dril WELUL | Centring U drill @



**’\\Uiﬁ -I-H-I—‘-ll\\U$£
e ing U di e ing U di
s AE Centring U drill (P Centring U drill
———*
. _._4{.:.7_7. b
L L L3
L L
T si $25] RF T si 9257 RF
ne R size ‘ SEs TR 4 | Clampscrew  Wirench = | R size SEw R /b, Clampscrew  Wrench
Code No oD L | L1 | ) L3 M ®d | PiotDrill | Insert YD Code No ®D L 11 | L2 ‘ I3 ‘ M ®d | PilotDrill | Insert ]
$D25-80-C32-HOB 5 287 204 227 60 WCHXD30208 M2.5%6 T8 SP18-6D-C25 18.0 186 112 130 56
$D25.5-80-C32-H06 | 25.5 | 201 | 208 21 60 SP18.5-6D-C25 | 18.5 | 189 115 133 56
: WCMGO50204 M2. 2X5 T6
$D26-8D-C32-H06 2% 295 212 235 60 SP19-6D-C25 19.0 12 118 136 56
SD26.5-80-C32-HO6 | 26.5 | 299 216 239 60 SP19.5-6D-C25 | 19.5 = 195 121 139 56
$D27-80-C32-HOB 7 33 | 220 243 60 SP20-60-C25 0.0 198 124 142 56
SD27.5-8D-C32-HO6 | 27.5 | 307 224 247 60 HSS-V0630Tin SP20.5-60-C25 | 20.5 | 201 127 145 56
WCHXD40208 M2.5%6 T8
$D28-8D-C32-H06 28 311 228 251 60 SP21-6D-C25 2.0 204 130 148 56
. . G1/8 25 | HSS-V063QTin
$D28.5-80-C32-HO6 | 28.5 | 315 232 255 60 SP21.5-60-C25 | 21.5 | 207 133 151 56
$D29-80-C32-HOB 29 319 236 259 60 SP22-6D-C25 2.0 210 136 154 56
= WCMGOB0204 M2. 2X6 7
$D29.5-8D-C32-HO6 | 29.5 | 323 240 263 60 SP22.5-6D-C25 | 22.5 | 213 139 157 56
SD30-8D-C32-HO6 30 327 244 267 60 5P23-6D-C25 23.0 216 142 160 56
$D30.5-8D-C32-H06 | 30.5 | 331 | 248 271 60 SP23.5-60-C25 | 23.5 | 219 145 163 56
$D31-80-C32-HOB 31 335 252 275 60 $P24-60-C25 4.0 222 148 166 56
SD31.5-8D-C32-HO6 | 31.5 | 339 256 279 60 SP24.5-6D-C25 | 24.5 | 225 151 169 56
$D32-80-C32-HO8 32 343 | 260 283 60 SP25-6D-C25 5.0 228 154 172 56
$D32.5-8D-C32-HO8 | 32.5 | 347 264 287 60 SP25.5-60-C32 | 25.5 @ 242 157 182 60
$D33-8D-C32-H08 3 31 | 268 201 60 5 SP26-6D-C32 6.0 @ 245 160 185 60
SD33.5-8D-C32-HO8 | 33.5 | 355 | 272 295 60 SP26.5-6D-C32 | 26.5 & 248 163 188 60
$D34-80-C32-HO8 34 358 | 276 298 60 SP27-60-C32 7.0 | 21 166 191 60
$D34.5-8D-C32-HO8 | 34.5 | 362 280 302 60 SP27.5-60-C32 | 27.5 | 254 169 194 60 _
G 1/4 32 HSS-VO835Tin  WCMGO7T308 M2.5X8 8
SD35-8D-C32-H08 35 367 | 284 307 60 | G1/4 5P28-6D-C32 8.0 | 257 172 197 60
5D35.5-8D-C32-H08 | 35.5 | 371 | 288 311 60 SP28.5-6D-C32 | 28.5 | 260 175 200 60
$D36-80-C32-HO8 3 375 292 315 60 , SP29-60-C32 9.0 263 178 203 60
- | HSS-VO835Tin  WCMX0S0308 M3.0X8 T8 ' ' » ‘
SD36.5-80-C32-H08 | 36.5 | 379 | 29 319 60 SP29.5-6D-C32 | 29.5 | 266 181 206 60
$D37-8D-C32-H08 37 383 300 323 60 SP30-6D-C32 30.0 269 184 00 60
$037.5-8D-C32-HO8 | 37.5 | 387 304 327 60
$D38-80-C32-HO8 38 391 | 308 331 60
SD38.5-8D-C32-HO8 | 38.5 | 395 312 335 60
$D39-8D-C32-H08 39 399 316 339 60
$D39.5-80-C32-H08 | 39.5 | 403 | 320 343 60
SD40-8D-C32-H08 40 404 324 344 60
SD40.5-8D-C32-HO8 | 40.5 | 408 328 348 60
$D41-80-C40-HLO 41 a2 | 332 352 60
SDA1.5-8D-C4D-HO | 41.5 | 416 336 356 60
$D42-8D-C40-H10 4 435 | 340 365 70
SD42.5-8D-C40-HIO | 42.5 | 439 344 369 70
$D43-8D-C40-H10 43 a3 | 348 373 70
SD43.5-8D-CAD-HIO | 43.5 | 447 352 377 70 40 HSS-V1035Tin  WCMXO6T308 M3.5X10 15
$D44-80-C40-HLO 44 451 356 381 70
SD44.5-8D-CAD-HIO | 44.5 | 455 | 360 385 70
$D45-80-C40-HL0 45 459 364 389 70
@ #ROUL | Centring U drl #ElUsk | Centring U dil @




= -t N\
'FTU'IE’UU%I-'I- Centring U drill

-t N
e/ U, Centring U drill

AL GHI]

User Guide

SHBEIRE  Piot dil(PLD) setting

$5SLETIZ(D) . 2

Bit diameter (D) FEEW =k BEER
25-30 12 1 1.5
31-40 ' 1.5 7 1.3 l 1.8
41-50 7 1.8 7 1.5 ‘ 2.2
51-59 1 2.2 [ 1.8 j P
60-75 - 2.5 - 2 . 2.8
75-80 3 2:5 3.5

SP DXS8
< si 12T wF
C%ﬁlo oD L | Ll R_{zsize 3 M ad ﬁoﬂﬁ' ﬁ}j‘ 7Y Clap 1
SP18-8D-(25 18.0 222 148 166 56
SP18. 5-8D-(25 18.5 226 152 170 56
SP19-8D-(C25 19.0 230 156 174 56 HCHE030204 e 245 E
SP19.5-8D-C25 19.5 234 160 178 56
SP20-8D-(25 20.0 238 164 182 56
SP20.5-8D-C25 20.5 242 168 186 56
SP21-8D-(C25 21.0 246 172 190 56 .
SP21. 5-8D-(25 21.5 250 176 194 56 vis 2 e
SpP22-8D-(25 22.0 254 180 198 56
SP22.5-8D-C25 22.5 258 184 202 56 HCHG060204 Ha.2x6 7
SP23-8D-(C25 23.0 262 188 206 56
SP23. 5-8D-(25 23.5 266 192 210 56
SP24-8D-(25 24.0 270 196 214 56
SP24.5-8D-C25 24.5 274 200 218 56
SP25-8D-(25 25.0 278 204 222 56
SP25. 5-8D-(32 25.5 293 208 233 60
SP26-8D-(32 26.0 297 212 237 60
SP26.5-8D-C32 26.5 301 216 241 60
SpP27-8D-(32 27.0 305 220 245 60
SP27.5-8D-(32 27.5 309 224 249 60
G 1/4 32 HSS-V0835Tin WCMGD7T308 M2.5X8 T8
SP28-8D-(32 28.0 313 228 253 60
SP28.5-8D-C32 28.5 317 232 257 60
SP29-8D-(32 29.0 321 236 261 60
SP29.5-8D-C32 29.5 325 240 265 60
SP30-8D-(32 30.0 329 244 269 60
SRk
Guide drill
e R size
Code No od ‘ L
HSS5-V0630Tin [} 30
HSS-V0835Tin 8 35
HSS-V1035Tin 10 35
HSS-V1240Tin 12 40
HSS-V1645Tin 16 45
HSS-V2050Tin 20 50
HSS-V2560Tin 25 60

(110 JET I

Centring U drill

Wy ik

Method of use

(1) 2) @) (4) (%)
39 I a l ! ' i.

(D BAFLSMmES;

Q) =Z&IF;

Q) ERFESRELEE;

(4) BRI

(5) SMEEEAREMSH, SERRIEYE, RoEER.

(1) Insert hole guide drill;
(2) Install the blade;
(3) Adjust the guide drill height;

(4) Lock screws;

(5) The bottom of the guide drill must be close to the guide drill, height adjustment screws, no gaps.

SethEEERRL, R EHREAR, PhIEERRRAE.

Guide drill height adjustment screw, coated with anti-loosening adhesive, to prevent loose in use.

| Centring U gl @

LUk



=+

™

ey
ll_,‘U%lj Centring U drill

g OURYWCZ 5 V) 1) 2 5
s g EMCEM (EBGR PR £0W #8% ASW TEW FEN  mae
Ih== $10C-S25C | SS30C-S50C  SS,SM FC,FCD SCrSCM | H13,SKD sus
512005900 S1100-5850 $1200-S900 | S1300-51000 | S1300-S1000 | S1100-5800 S1000-5700 = S1300-S1000
®25~®31.5 7.5;iJ—L{J: Fz 0.1-0.12 - Fz 0.08—0.11: Fz 0.08—0.12: Fz D.DQ—CI.12: Fz 0.1-0.12 :Fz 0.08-0.10 Fz 0.08—0.10- Fz 0.1-0.12
F 90-120 F 80-110 F 80-120 F 90-130 F 90-120 F 70-110 F 60-100 F 100-150
. $1000-5800 S1100-5850 $1000-5750 51000-5700 510005700 S900-5650 5900-5650 $1200-S800
®32~®d36.5 111:—5;,{1 Fz 0. 10—0.13_ Fz 0. 10—0.12. Fz 0. lIJ—CI.13i Fz 0.10-0.13 Fz 0.10-0.13 | Fz 0.10-0.13 | Fz 0.10-0.13 [ Fz 0.10-0.13
F 80-130 F 85-120 F 75-130 F 70-130 F 70-130 F 65-100 F 65-100 F 80-130
. S1000-5700 5100-5700 51000-5650 51000-5650 S900-5600 S800-S600 S800-5600 51000-5800
®37~Dd40.5 I;Tq;i:mi Fz 0. 08—0.12: Fz 0. 08—0.12. Fz 0.10-0.12 | Fz 0.10-0.12 . Fz 0.10-0.12 | Fz 0.08-0.12 Fz 0.10-0.12 Fz 0.10-0.12
F 60-100 F 65-100 F 65-110 F 65-120 F 60-120 F 55-100 F 55-100 F 80-120
. 5100-5700 5100-5700 S900-5700 S900-5700 S800-5600 S800-S600 S800-5600 51000-5700
©41~®43.5 1;4;&1—;{;: Fz 0. 10—0.127 Fz 0.100.12 | Fz 0.10-0.12 | Fz 0.10-0.12 | Fz 0.10-0.12 | Fz 0.10-0.12 7 Fz 0.08-0.10 7 Fz 0.10-0.12
F 70-110 F 70-110 F 70-110 F 70-110 F 60-100 F 60-100 F 50-80 F 70-120
. 5900-5650 5900-5650 S850-5650 5850-5650 S750-5550 S750-S550 S700-S550 S1000-S700
©44~ D45 I;Tq;i:mi Fz 0. 08—0.127 Fz 0.08-0.12| Fz 0.1-0.12 l Fz 0.1-0.12 le 0.08-0.12 | Fz 0.08-0.12 Fz 0.08-0.12 [ Fz 0.09-0.12
F 60-110 F 60-110 F 65-90 F 65-110 F 50-65 F 50-65 F 4580 F 65-120
&1 SR F= BEHTIE P
L DU SP RSV S 5L
e pm | ENCEE O REME O RBR AW B% AW IAW FER  mae
Ih= 510C-525C | SS30C-S50C  SS,SM FC,FCD SCrSCM | H13,SKD sUS
51400-51200 . 51400-51200 - $1300-51100 | $1300-51100 | $1400-51100 ‘ 51400-51000 | 51400-51000 . 51600-51200
®©18~®19.5 T'S;iut Fz 0.07-0.1 7 Fz 0.07-0.1 | Fz 0.08-0.1 | Fz 0.08-0.1 | Fz 0.07-0.1 | Fz 0.070.1 7 Fz 0.07-0.1 7 Fz 0.1-0.12
F 85-100 F 85-120 F 90-110 F 90-110 F 70-110 F 60-100 F 60-90 F 100-150
$1300-S1000 = S1300-S1000 | S1200-S1000 | S1200-S1000 | S1200-5900 §1200-5900 S1100-5900 = S1500-S1100
©20~®22.5 llt_ES’XJ: Fz 0.07-0.1 7 Fz 0.07-0.1 | Fz 0.08-0.12 | Fz 0.08-0.12 | Fz 0.08-0.1 | Fz 0.08-0.1 | Fz 0.08-0.1 [ Fz 0.08-0.1
F 70-110 F 70-110 F 80-120 F 80-120 F 75-120 F 75-120 F 70-90 F 90-150
. $1200-51000 | S1200-S1000 & S1100-5900 $1100-5900 51100-5900 51000-5800 S1000-5700 = S51400-S1200
©23~025.5 IBS_EEEL%J: Fz 0.08-0.1 7 Fz 0.08-0.1 . Fz 0.08-0.1 . Fz 0.08-0.1 . Fz 0.1-0.1 . Fz 0.08-0.1 Fz 0.08-0.1 ,FZ 0.08-0.12
F 80-120 F 80-120 F 75-110 F 75-110 F 90-110 F 70-100 F 60-100 F 100-140
A 511005900 . 511005900 l $1100-5900 l $1100-5900 l 51000-5800 ‘ 51000-5800 . 5900-S700 . $1200-5900
026~ 027.5 IBS_EEEL;J: Fz 0.08-0.1 - Fz 0.08-0.1 . Fz 0. lD—Cl.lZI Fz 0.10-0.12 . Fz 0.10-0.12 . Fz 0.10-0. 12- Fz 0.08-0.1 -Fz 0.10-0.12
F 75-110 F 75-110 F 90-130 l F 90-130 l F 80-120 F 80-120 F 60-90 F 90-140
; 51000-5800 51000-5800 510005800 $1000-S800 5900-5700 S900-5700 S800-S600 $1200-5900
©28~Dd30 IBS_EEEL%J: Fz 0.08-0.1 _ Fz 0.08-0.1 Fz 0.1-0.12 Fz 0.1-0.12 Fz 0.08-0.1 Fz 0.08-0.1 Fz 0.08-0.1 Fz 0.1-0.12
F 65-100 F 65-100 F 80-120 F 80-120 F 65-90 F 65-90 F 55-80 F 90-140
&1 SHEE  F= BEHTIE FfS
@ HEOUsL | Centring U drill

VMD KEhZk  vmp targe bit

VMD KB4 3 0 4F s Fnfle 3%

Features and advantages of VMD large bit

%ﬁfﬂtﬁ' Main feature

- WDAERRDL, T ERSm-180mmAILENNT, MIE. EET. TREE. SmEh. EETREER.
- ESEREIE SR, LI TERSHER.

- SUESERWCRIINTI R, RN,

- DR g vt JI%e)E, J{EeNEnE ER0-5m,

- MFEAEEARRE LI TRE SR, AR T RER.

- BRPURHUKRSE, TIESITER.

+ VMD large diameter violent bit is specially processed for large holes with diameters of 45mm-180mm. It is composed of cutter body, connecting rod, blade holder, guide
drill, connecting ring, etc.

+ Positioning design with guide drill, and deep hole processing plays a guiding role.

- Universal WC series blade with U drill, convenient to purchase.

+ Modular design of blade holder, replaceable blade holder, adjustable blade diameter range of 0-5mm.

+ The tool body and connecting rod can be adapted according to the depth of hole processing, effectively reducing tool inventory.

- With internal cooling water system, can be used for continuous processing.

RREREE, EERESN, DESEHTES, NTREEHET.

Modular system, excellent connection strength, combination of cutter body and connecting rod, free adjustment of machining depth.

VMD K5k | vMD large bit

ap



VMD KEhZk  ymD targe bit VMD KEh2k  vmD large bit

TS5 2 e ol VMD %32 JIFF

Model coding rule VMD connecting cutter bar

VMD—-045/05

—_

L L |

S AP EEEE S — — L2

-
@?
B
(X

di

Big type Adjustable diameter range Shank diameter
VMDFRFI K ghsk 045/050 (Fon B/ \EEFLIER45mm, 13 (FRAA1E13mm)
A FFLIETR50mm)
g R size gz SRR
N A ' i T T : :
VMD KBk Code No d1 d2 L L1 D L2 Connecting screw ~ Drive Ring
VMDDrll 4 VMD13-115L 13 115 7 28
VMD13-200L 32 13 200 165 28 70 WET-281310
VMD13-300L 13 300 265 28 -
VMD16-125L 16 125 86 32
VMD16-200L 16 200 161 32 WET-321610
VMD16-300L 16 300 261 32
VMD22-148L 22 148 109 40
VMD22-200L . 22 200 161 40 M10 WET-402212
VMD22-300L 22 300 261 40
y R size 25T RF \MD27-168L 27 168 133 48
C%ﬁio | D | dz | D1 T L1 L G‘%‘ti'g? Eﬁll Injs:t]ajr:lrs%at g‘ljs{e:l:-‘t & Gl R R Ve ‘ ‘ o Ve
_— VMD27-300L 27 300 265 43
‘ g | -
VMD-045/050-13 | 45-50 13 28 50 B5  pp-o3s | VMC-D45050N/T VMD32-186L 32 186 151 58
- | ‘ ‘ . | WCMX030204 M2.5%5 : WET-583214
VMD-050/055-13 50-55 13 28 50 85 \ TiN-H VMC-050055N/T T8 VMD32-300L 32 300 265 58
VMD-055/060-16 55-60 16 2 60 100 | VMC-055060N/T | WCMX030204 M2.5%6 VMD40-186L 40 186 151 70
- ‘ ‘ - ‘ - - : WET-704014
VMD-060/065-16 60-65 16 32 60 100 \ VMC-060065N/T VMD40-300L 40 300 265 70
pPLD-123g | TTERRROINT | 50.5 | Mi6
VMD-065/070-16 65-70 16 32 60 100 \ TiN-H VMC-065070N/T | WCMX050308 M3.0X8 T10 VMD50-184L 50 184 149 80
| ‘ ‘ ‘ | - - - - . WET-805016
VMD-070/075-22 70-75 22 40 70 15 | VMC-070075N/T VMD50-300L 50 300 265 80
VMD-075/080-22 75-80 22 40 70 15 VMC-075080N/T
VMD-080/085-22 80-85 22 40 70 115 \ VMC-080085N/T
VMD-085/090-27 85-90 27 43 70 120 | P"TDi_NI_G:s VMC-085090N/T | WCMX06T308 M3.5X10 15
VMD-090/095-27 90-95 27 48 70 120 | VMC-090095N/T
VMD-095/100-27 | 95-100 27 48 70 120 \ VMC-095100N/T
e LW
VMD-100/105-32 | 100-105 32 58 a0 130 | VMC-100105N/T | WCMXD50308 M3.0X8 T10 y L 2 *l? ;q;
VMD-105/110-32 | 105-110 32 = 58 80 130 ppoopas | VMC-105110N/T 7 Adapter ring
VMD-110/115-32 | 110-115 32 58 80 130 \ TiN-H VMC-110115N/T
VMD-115/120-40 | 115-120 40 70 90 145 \ VMC-1151200/T | e HMZ Rz B
VMD-120/125-40 | 120-125 40 70 90 5 VMC-120125N/T | WCMX06T308 M3. 5X10 Code No D d S
VMD-125/130-40 | 125-130 40 70 L] 145 \ VMC-125130N/T - WET-281310 28 13 10
VMD-130/135-40 | 130-135 40 70 a0 145 ‘ PLD-2556 | VMC-130135N/T k= = WET-321610 32 16 10
VMD-135/140-40 | 135-140 40 70 90 45 TiNA VMC-135140N/T | o] WET-402212 40 22 12
VMD-140/150-50 | 140-150 50 80 100 160 \ VMC-140150N/T WET-482712 43 27 12
VMD-150/160-50 | 150-160 50 80 100 160 | VMC-150160N/T < WET-583214 58 32 14
‘ WCMX080408 M4. 0X10 | |
VMD-160/170-50 | 160-170 50 80 100 160 pp-3oes | VMC-160170N/T WET-704012 70 40 14
VMD-170/180-50 | 170-180 50 80 100 160 \ TiN-H VMC-170180N/T WET-805016 80 50 16

@D o | Do VMDAt | vMplaget  RED




VMD jcl'fll_'l-yl' VMD large bit

JIh M

Blade bearing

e TIHEER TIHEES) 7K T JBE
Code No Insert Seat Insert Seat Insert o
45-50 VMC-045050N VMC-045050T 030204 , o 5x 5
50-55 VMC-050055N VMC-050055T
55-60 VMC-055060N VMC-055060T HCMX040204 2 M2. 5%6
60-65 VMC-D60065N VMC-060065T 0
65-70 VMC-065070N VMC-065070T WCMX050308 2 M3. 0X8
70-75 VMC-070075N VMC-070075T
75-80 VMC-075080N VMC-075080T
80-85 VMC-080085N VMC-080085T
85-90 VMC-085090N VMC-085090T WCMX06T308 2 M3. 5X10 T15
90-95 VMC-090095N VMC-090095T
95-100 VMC-095100N VMC-095100T
100-105 VMC-100105N VMC-100105T WCMX050308 3 M3. 0X8 T10
105-110 VMC-105110N VMC-105110T
110-115 VMC-110115N VMC-110115T
115-120 VMC-115120N VMC-115120T
120-125 VMC-120125N WMC-120125T WCMX06T308 3 s
125-130 VMC-125130N VMC-125130T
130-135 VMC-130135N VMC-130135T s
135-140 VMC-135140N VMC-135140T
140-150 VMC-140150N VMC-140150T
150-160 VMC-150160N VMC-150160T
160-170 VMC-160170N VMC-160170T HCHX0E0408 ’ o
170-180 VMC-170180N VMC-170180T
)RS
Guide drill HSS C08% e E‘fé K
Code No D L
HSS-V1035TIN-H 10 35
HSS-V1238TIN-H 12 38
o HSS-V1645TIN-H 16 45
HSS-2045TIN-H 50 45
L JI HSS-2556TIN-H 5 56
HSS-3068TIN-H 30 68

@D ok | WWDlergent

» VMD KE53k  yMD targe bit

a SLEEAR

Technical Data

- SEhEERE  Piot Dl

30kw
25kw
22kw
15kw
10kw ‘
Skw Lo

f=0.2 (mm/rev)

0 40 60 30 100 120 140 160

HXER
VMD DRILL

A\ J

‘Code No

Be

45-55

1.8 4.

2 2.0

B5=7T5

2.0 5.

6 2.2

75-100
100-120

) 6.
2.8 8.

8 2.8
i 32

120-170
170-180

35 12.2

3.6 10.3 4.0
3.9 12.6 4.3

10.7
13.0

’ ?E#ﬂ]ﬁ!l%ﬂ(VMD) Recommended Cutting Values For VMD

BEE  vc(m/min)

MlE HHAR T (mm/rey) TRER LB

TR-eis- b ©45~055 | B55~060 _ 60~ D75

@75~®100

®©100~®105

®105~®150

©150~®180

VAl
(%15

180~280HB | 120-150-180  0.06-0.08-0.1 | 0.07-0.08-0.11 0.08-0.1-0.12

0.1-0.12-0.14

0.14-0.17-0.2

0.08-0.1-0.12

0.1-0.12-0.14

AC330

180~280HB 110-140-170 0.06-0.08-0.1 0.07-0.08-0.11 0.08-0.1-0.12

180~300HB 90-110-130 = 0.06-0.08-0.1 0.07-0.08-0.11 0.08-0.1-0.12

0.1-0.12-0.14

0.1-0.12-0.14

0.12-0.15-0.18

0.12-0.15-0.18

0.08-0.1-0.12

0.08-0.1-0.12

0.1-0.12-0.14

0.1-0.12-0.14

1030

1030

180~300HB  60-80-100  0.05-0.06-0.07  0.05-0.06-0.07 0.06-0.07-0.08

0.06-0.08-0.1

0.09-0.11-0.13

0.06-0.07-0.08

0.06-0.08-0.1

MU7025

200~330HB  60-90-110 |0.04-0.05-0.07  0.04-0.07-0.11 | 0.06-0.09-0.12

0.08-0.11-0.14

0.1-0.14-0.18

0.06-0.1-0.12

0.08-0.11-0.14

1025

250HB | 120-150-180 0.07-0.1-0.13 | 0.07-0.11-0.15 0.08-0.12-0.16

0.1-0.14-0.18

0.12-0.17-0.22

0.08-0.12-0.16

0.1-0.14-0.18

AC330

250HB | 100-140-180 0.04-0.08-0.13 | 0.07-0.11-0.15 0.08-0.12-0.16

0.1-0.18-0.25

0.12-0.19-0.26

0.08-0.12-0.16

0.1-0.18-0.25

MU7025

= 180-230-280 0.04-0.05-0.06 | 0.07-0.01-0.12 | 0.08-0.1-0.13

0.09-0.12-0.15

0.12-0.16-0.2

0.08-0.1-0.13

0.09-0.12-0.15

MU3225

= 120-210-270 | 0.04-0.05-0.06 | 0.06-0.09-0.12 | 0.08-0.1-0.13

0.09-0.12-0.15

0.12-0.16-.02

0.08-0.1-0.13

0.09-0.12-0.15

MU3225

= ERISEAABEE, RERBIRIEA TR, TREHTEzE.
+HEHIN (min-1) =LE1ERE Ve (m/min) X 1000+ 3.14< J)EE4Z (mm)
HHESRAEVE (mm/min) =n (min-1) X SUTHAETz (wm/t) X Z(TIEE)

VMD K5k | vMD large bit

D



V VMD 7'(%55': VMD large bit ) EE’%?% Module system

f IR i SLO M1 11 24 71 it i )T 4

Precautions when using SLO side fixed automatic tool changing oil path tool handle

""' A TEERMINIERE, ShSnatBEEANLEENTISLIBEZRD, SEtsk5THiEaRE.

On the same machined surface as the figure below, direct machining of holes larger than the diameter of theguide drill will cause

severe vibration, and the guide drill bit and blade may be damaged.

L L1 H H1 D d C B T
BT40-SL016-165 165 58 25 £ 82 16 46.5 65 M12x1.75P
BT40-5L020-165 165 60 25 = 82 20 46.5 65 M12x1.75P
‘ BT40-SL025-165 165 66 ‘ 15 I 20 . 82 25 . 46.5 65 M12x1.75P
BT40-SL032-165 165 70 15 20 82 32 47 65 M12x1.75P
l BT40-5L016-1655 165 48 25 = 82 16 46.5 60 M12x1.75P
BT40-SL020-165S 165 50 25 - 82 20 46.5 60 M12x1.75P
BT40-SL025-1655 165 56 15 20 82 25 47 60 _ M12x1.75P
BT40-5L032-1655 165 60 . 15 20 . 82 32 . 56 60 l M12x1.75P
o NEMNIE, %G, ERARSLETLRL. BT50-SL016-165 165 58 24 = 98 16 56 80 M14x2. 0P
In the case that there is inclined side, after make the part flat by mill ng work , please do drilling work. BT50-SL020-165 165 60 . 25 i . 98 20 . 56 80 M12x1.75P
BT50-5L025-165 165 70 15 20 98 25 56 80 M16x2. 0P
EAE BT50-SL032-165 165 70 . 15 . 20 | 98 32 56 . 80 : M16x2.0P
BRIt - BT50-SL040-170 170 70 15 25 105 40 56 80 . M14x2.0P
[ q BT50-5L016-165M 165 48 25 = 98 16 56 82 _ M14x2. 0P
f;).,_. BT50-SL020-165M 165 50 25 - 98 20 56 82 M12x1.75P
BT50-SL025-165M 165 56 15 20 98 25 56 82 M16x2. 0P
. e ‘X BT50-5L032-165M 165 60 ‘ 15 20 . 98 32 . 56 82 - M16x2. 0P
BT50-SL040-170M 170 62 15 25 105 40 56 82 M14x2. 0P
BT50-SL016-165L 165 48 . 25 = . 98 16 . 56 85 : M14x2. 0P
BT50-5SL020-165L 165 50 25 = 98 20 56 85 M12x1.75P
BT50-SL025-165L 165 56 [ 15 20 . 98 25 . 56 85 ' M16x2. 0P
‘ BT50-SL032-165L 165 60 15 20 98 32 56 85 M16x2.0P
BT50-5L040-170L 170 62 . 15 25 105 40 56 85 M14x2.0P

O MDRIREIMEENT

VMD series can not overlap processing

y
SRS

@ VMD k§5k | VMD large bit HRFEA | Module system @




) *Eikgéﬁ Module system ) *%t;&,%% Module system

ERO [ 2h#t )] i )W {RIEZEE PT1/4-08

Ero automatic tool changing oil path tool holder IE&R

v

- HER TR RSV BAGEITNEE, ERRERSE. 7
= ‘ ‘ BN
- RETIRYHEEE, BR8] RE. ]
BT40-ER016-160 28 16 M10 . X : 8
| — - BERATTRENIRRE, ERDARAED. S ——
BT40-ER020-160 34 20 M12
— 225.4 82 : 65 - - EEMATWMOH k. ;
au] BT40-ER025-160 42 25 am]
3L | M6 - ENERERESH, AR TENEER. S
? BT40-ER032-160 160 50 32 S
B SE:#E2000RPM YFaElRER D 1IMPa,
BTS0-ER016-160 28 16 V10 RIFREEE , RFSREIREE/1MPa
—_ % 3 1 \ A7 gy gy = b i 13 N = &
b P n = MBS DDA D VBRI FISR RS — MR TIRBUIAIMEITEE, 53— AT RRLEFaIhbE.
BT50-ER025-160 261.8 08 42 25 30 + 0il handle can quickly realize the tool cooling function, simple and convenient to use.
1 M16 - Improve the cutting speed of the tool and effectively reduce the temperature of the cutting edge.
BTS0-ER032-160 50 32 | + High pressure internal cooling can quickly remove iron filings and extend the service life of the tool.
BT50-ER040-160 63 40 : M20 . Mainly used in VMD bits.
+ Internal special sealing structure, sealing ring can be quickly replaced.
+ The maximum allowable speed is 2000RPM, and the allowable cooling hydraulic strength is 1MPa.
+ Two threads can be seen 90 degrees from the outside of the oil path mechanism: one for the cutting oil function and the other for the mounting stop rod function.
— »,
BT-OMS T-ah# )1 i )]
% ']ﬁ g BT - OMS manual tool changing oil path tool handle
Conversion of
L1 L2, 2-B
el L
7] ----- 3 ol 8
—————————————————————————— ol O H
L W 1
L A
d L D D1 H L1 2 B
BT40-0MS-20105 20 105 50 78 50 20 / M12
L D d BT40-0MS-25120 25 120 50 78 60 20 20 M12
40-32 71 40 L 32 BT40-0MS-32125 32 125 65 88 70 20 20 M14
40-25 74 40 25 BTS0-0MS-20120 20 120 . 50 78 50 20 / M12 E
40-20 66 40 20 BT50-0MS-25135 25 135 50 78 60 20 20 M12 ?
32-25 71 32 25 BTS0-0MS-32135 32 135 65 98 70 20 20 M14 _!ﬁ
32-20 60 32 20 BT50-0MS-40145 40 145 65 98 80 20 25 M16X1.5
25-20 58 25 20 BT50-0MS-50170 50 170 | 90 123 90 35 35 M20

@ RS | Module system HRERE | Module system @




) 1‘%9&?\?}5 Module system ) rétﬂ%% Module system

MT-OML T2l JJ il ik JJ Wi LN L EWIE ]

MT - OML manual tool change oil path tool handle MOE side fixed shank

B
MT4-0MS-20080 20 83 20 / 60 80 M12 MTA4-SLA25-80 31.267 25 05 117.5 100 54 24 25 M16 ‘
MT4-0MS-25095 25 83 20 20 75 95 M12 MTA4-SLA32-85 31.267 32 72 1375 100 58 24 28 M16 H
MT4-0MS-32100 £ 88 20 20 B 100 M4 7 MTAS-SLA25-80 439 5 | e | 1495 10 54 4 | 3 M6
MTS-OMS-20080 20 83 2 / 60 80 M12 MTAS-SLA32-85 44.399 2 | n 149.5 100 58 2 28 M6
MT5-0MS-25095 25 83 20 20 75 95 M12 MTA5-SLA40-95 44,399 40 | 90 149.5 100 68 30 32 M20
MTS-OMS-32100 2 88 2 20 78 100 M14
MTS-OMS-40110 40 88 20 P 82 110 MIGXL. 5
MT6-OMS-20085 2 83 2 / 60 85 ML2
HT6-OMS-25100 P 83 2 20 s 10 M12
MT6-OMS-32105 2 88 2 20 78 105 ML4
MT6-OMS-40120 40 88 20 25 82 120 MI6X1.5 UL %K T R

1NN

U-drill lathe tool holder

BT-SLA W& T

BT-SLA side fixed shank

D
[3 i DK20-16 37 60 16
-SLAL6-75 16 48 - 2 18 M12X1.75P DK20-20 3 47 . 65 2
-SLA20-75 20 52 25 20 DK20-25 a7 65 25
TB40 -SLA25-90 25 65 - 30 2 —— DK20-32 55 85 ' 2
-5LA32-90 2 72 30 2 DK25-16 a2 65 16
-SLA40-100 40 90 100 35 5 DK25-25 53 70 25 E
-SLA20-90 20 52 %0 25 20 M16X2.0P DK25-32 = 60 85 | 32 =
150 -SLA25-105 25 _ 60 105 | 30 2 _ M16X2. OP DK25-40 65 90 ' 4 iy
-5LA32-105 2 63 105 30 2 M16X2. 0P DK32-40 83 100 4p
-SLA40-105 40 78/90 105 35 25 _ M16X2.0P DK32-50 = 83 100 _ 50

@ RS | Module system HRERE | Module system @




» Q)RR F0ERRIGHE  insert Oril

[ia) 38 53 e P e i i

Insert Drill
FEIRSREY FHIE f&lE
The wear types Characteristics of the measures
LIRS EER L BRIERIZE
2. DEMRIIMEERE 2. IEEE M ERIYIRIAR
3. AR LSESINRES; NRTE, EESRE
TEESE, ot IEER=S 4. JIF R A MGEEELTIE, HERER
5. gL DR 5.910&FIRE, ERBYEMIR
6. RERGTRE 6. IEER ERENREN
7. EEEEIR (FHIER) 7. S EHLARITIE
LERLEEEE/HE LigERLEEHBE
(Et33ZEER) 2. NHEE R
2. RS 3. (EREE T B
0 T 7 3. RIS EE 4. {ER7) 7 EEFIMEEL
4. IEEALT] B RSB R A UIEI D 5. 108, MNREEWNESHLREN/
5. KERFFRIE EEFRIERERENE,; RHas
1L#EEs L/ NS E
2. Mgt 2. fEF BRI A4 AN R AR B AL
3. AR BRI EEEAYIAIN 3. (EFRFE R BRI al A T A
BT ERT)
LSRR LiSERIIRES; WNRTE, RBERE
2. I BEER 2. REUBIEE, RS
R FRIEE
L BENEAE LiREsilREDIIRE o T EhHE
2.8 BEER ERLIE IR T 5
2. itz ARSI S SATEES,; =2
PRSI AE ERGERE, HEHR
L g FLERL 1L iGERERER
2. BHERE 2 (LIRSS, feaSelR i) AR
3. AT ML SEE O IES 3. RS AR
WEREES
HWIRES | Module system

» Bt FOA2RIEHE  insert ril

[l 53 Ay R D s i

Insert Drill
EfREEY HIE &bt
The wear types Characteristics of the measures
7 N L RS miREDIAIRRE
2. RIS HER 2a. eEUIRIERE, [#Eis
3. RERBEARE 2b. = (JJEM TN =EE, B
pe— 4. VBRSER GHIZERR) Bt
3. bR TARREN
4 AEEHARWIE
L RIS DT L7 e LSRRI, FEEE
2. MRBERER 2a. IEStIRIERE, MRS
2b. EFEEDRIETRY
IOAFL
L VIERRER e P SR BT AL T) g ch LR EMER, wEES#HE
FETL
By LANFEAESL 5 (BT EFR) 1 S EERE B HRIE
2. LR AR RS (FHRZEER) 2. GEREELHEILE
3.RLERBER 3. EREFERHRLE
g SEER

TFEELAILE
S EEA - -

L IETIEIR (FEoMa0TIE £)

L ERERELAHRIE

BRRS | Module system @

SR




	川山甲画册第一部分-01
	川山甲画册第一部分-02
	川山甲画册第一部分-03
	川山甲画册第一部分-04
	川山甲画册第一部分-05
	川山甲画册第一部分-06
	川山甲画册第一部分-07
	川山甲画册第一部分-08
	川山甲画册第一部分-09
	川山甲画册第一部分-10
	川山甲画册第一部分-11
	川山甲画册第一部分-12
	川山甲画册第一部分-13
	川山甲画册第一部分-14
	川山甲画册第一部分-15
	川山甲画册第一部分-16
	川山甲画册第一部分-17
	川山甲画册第一部分-18
	川山甲画册第一部分-19
	川山甲画册第二部分-铲钻-01
	川山甲画册第二部分-铲钻-02
	川山甲画册第二部分-铲钻-03
	川山甲画册第二部分-铲钻-04
	川山甲画册第二部分-铲钻-05
	川山甲画册第二部分-铲钻-06
	川山甲画册第二部分-铲钻-07
	川山甲画册第二部分-铲钻-08
	川山甲画册第二部分-铲钻-09
	川山甲画册第二部分-铲钻-10
	川山甲画册第二部分-铲钻-11
	川山甲画册第二部分-铲钻-12
	川山甲画册第二部分-铲钻-13
	川山甲画册第二部分-铲钻-14
	川山甲画册第二部分-铲钻-15
	川山甲画册第二部分-铲钻-16
	川山甲画册第二部分-铲钻-17
	川山甲画册第二部分-铲钻-18
	川山甲画册第二部分-铲钻-19
	川山甲画册第二部分-铲钻-20
	川山甲画册第二部分-铲钻-21
	川山甲画册第二部分-铲钻-22
	川山甲画册第三部分-可换式钻头-01
	川山甲画册第三部分-可换式钻头-02
	川山甲画册第三部分-可换式钻头-03
	川山甲画册第三部分-可换式钻头-04
	川山甲画册第三部分-可换式钻头-05
	川山甲画册第三部分-可换式钻头-06
	川山甲画册第三部分-可换式钻头-07
	川山甲画册第三部分-可换式钻头-08
	川山甲画册第三部分-可换式钻头-09
	川山甲画册第三部分-可换式钻头-10
	川山甲画册第三部分-可换式钻头-11
	川山甲画册第三部分-可换式钻头-12
	川山甲画册第三部分-可换式钻头-13
	川山甲第四部分-定心钻-01
	川山甲第四部分-定心钻-02
	川山甲第四部分-定心钻-03
	川山甲第四部分-定心钻-04
	川山甲第四部分-定心钻-05
	川山甲第四部分-定心钻-06
	川山甲第四部分-定心钻-07
	川山甲第四部分-定心钻-08
	川山甲第四部分-定心钻-09
	川山甲第四部分-定心钻-10

